X EH&E IR EERAE]
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD.

@ W B3k Hose Fitting

i
2
=
=

b
f

S

=

@
Z

Z
é%
R=Z

.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



HERKINR S

How to order hose fitting

5
Socket

RIS
Standard hose fitting

2 P SR
Interlock hose fitting

AR
Reusable hose fitting

A
Socketless hose fitting

HEEE & Kt

Swivel hose fitting

B A 43

Information

M-l B " B-B-B-W-

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



HEIELR St How to order hose fitting

REEKLHKSIHAB How to order hose fitting

—— #EMRS Material Sign
& Fr5 Hose Dash

— ISR LER AR5 Fitting Thread Or

L £755 Fitting Series Number Dimension Dash

SU-RRMEAAHH9316

¥ MATERIAL #N CARBON STEEL il COPPER ANE4N STAINLESS STEEL
- SS-Fn %k M B A1 Cr18Ni9Ti
fgsiGN | BR SR~ b 1 51304

REARNE] 3 4 5 6 8 10 12 16 20 22 25 32 40 45 50 64
HOSE DN
WES
HOSEE BISH 01 | -02 | 03| -04 | -05|-06|-08|-10]/|-121]-14 | -16 | -20 | -24 | -28 | -32 | -40
wingimy | G1/8 | G1/47 G3/8” G1/2” G5/8” G3/4” G1.1/4 G1.1/2
- G1"x11 G2"x11
BSPTHREAD| 28 | x19 x19 x14 x14 x14 x11 x11
YIRS | R1/8” | R1/4” R3/8” R1/2” R3/4” R1.1/4” R1.1/2”
BSPT - - R1”x11 R2"x11
THREAD x28 x19 x19 x14 x14 x11 x11
S IRg | Z1/8” | Z1/4” Z3/8” Z1/2” Z3/4” z1” Z1.1/4” Z1.1/2” z2”
NPT - -
THREAD x27 x18 x18 x14 x14 x11.5 x11.5 x11.5 x11.5
Sl JIC $BEL 716" | 1/2” 9/16” 3/4” 7/8” 1.1/16” 1.5/16” 1.5/8” 1.7/8” 2.1/2”
Jic -
THREAD x20 x20 x18 x16 x14 x12 x12 x12 x12 x12
%*1?2;':3 9/16” 11/16” | 13/16” 1” 1.3/16” 1.7/16” 1.11/16” 2’
ORFS THREAD x18 x16 x16 x14 x12 x12 x12 x12
£ SAE 5/8” 1.1/16”
[ 8 _ _ _ _ _ ' _ _ _ _
SAE THREAD x18 x14
VLIS
FLANGE - - - - 1/2” - 3/4” 1" 1.1/4° 1.1/2° 27
SIZE
b5 DASH | -02 -04 -05 -06 -08 -10 -12 -16 -20 -24 -32
AHIREUR T 5IBLUME—E. Note: The dash of metric thread accords with the O.D. of thread.

(INERINCIE

15611251, F3kIRarhzZ1/2"X14, FEHBE

58 15611-08-08, 1 AE54X 1Cr18NigTi il {E, {854 15611-08-08SS.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

SR N12MM,  FTEREN IR Sk, A




HEESLKS1RAA How to order hose fitting

REELmSHN
— BFHESHN.
A7 2 A 25 PUA AT
kKA WAL T JEREH s HRERA
HMIREL 1 il 0 X0 Hots 1 ML (1222 R
HIE 2 BRI 1 45 JEASTE 4 gz (4)2) hE 2
TLETIRLL 2 Ff 2 90 JEAL 9 FINEE (6)2) 5)F 3
A JEHERT IR AL 3 Pl O AU 3
4 ORFS ELr 4 | 24 FE#fim /S8 . 7% 7H 4
L IEL5 24 FEAETR /e . AL 5
2161 JIC 12406 60 JEHEN / iK% 6
1] SAE 18407 74 JEHET /R 7
EEVIIRT 90 [ HETH / JEE B 8
H QO iR 4 9
B kEXS5 DIN 0 0 i) Jii I
B k&5 [l bR 2 thil1 0
B Al k£ 5 B2 0
K A0 6 JHR 0 0 El= BB
K % 4fi%: 58 6 2 0
O Mgl 7 DIN O 0 7] I I -
O Mg 7 [ B 23 111 0
O Mgl 7 B2
F 220 8 1 SAE 7 3000PSI 3 A I I I
F L2205 8 24 SAE 7 6000PSI 6
FRy20 8 Hfil 8 [53774 1
F AL~ 8 H il 8 Ji# 3
1. W5 A nTRRER L],
2. NEE—A K2, AR TFIOLEEAAR S FINX, i AInX Nz < T 5B R4 A1
1122611-08-08 7 7~ e BALL60° FMFE [T 5 11 15 2 B 1 2 20 L0
22611-08-08X 3 7 it 5 B A LA H MERE 160 4 MIE THI 2 2R L o>
3. KRRAER T A RIS, R sCh S, WAEREAS F D,
4. SPhREBETT 24° INO-RINGHIG T, WNTRHCH 524 B ERIE, WAEAS 5 NC.
5. XHEE SNBSS T, W Ine0° WA, MRS S ISP,
Z EfRmSHN:
H—{r It (V) SH=AL S VUL AL
B ] JB A R NG FI I IR R
RSB BB 0 Ym0 HIAMEE 0 R7/R8 WHEH 8
7 i 1 —EYA AN A A TEN0
TR 2 H P AR 2 )
—J=42R 3 A
RN g5 5
, ) HE14SP O
DY J24H 22 i ss 4 HE1 4SH 1
INEAN 22 %% 6
A-2

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




£ ™ Socket

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



£ Socket

A5 Z 35| Part NO. Index

A

il
1IN

00110-A 00210 03310 00400 00401 00402
PB1 PB1 PB2 PB2 PB3 PB3
R 2 22
I o | [ | o |
00403 00018 00TFO 00500 00421 00621
PB4 PB4 PB5 PB5 PB6 PB6

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




£ Socket

L
Jﬂ Jﬂ 00110-A (No-Skive, 1-Wire)
SAE100R1AT/DIN20022 1SN#&EER
FERRULE FOR SAE100R1AT/DIN20022 1SN HOSE
;R = % % HOSE BORE R~ DIMENSIONS
PART NO. AR 1R DN Fr'5 DASH L
00110-03A 5 03 23
00110-04A 6 04 27.5
00110-05A 8 05 28
00110-06A 10 06 30
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 12 42
00110-16A 25 16 51
L

4W 00210 (No-Skive, 2-Wire)

SAE100R2AT/EN 853 2SN & &G
FERRULE FOR SAE100R2AT/EN 853 2SN HOSE

5 % % HOSE BORE JX =~} DIMENSIONS
PART NO. AFEM1E DN #r5 DASH L
00210-03 5 03 27
00210-04 6 04 30
00210-05 8 05 31
00210-06 10 06 32
00210-08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
00210-24 40 24 74
00210-32 50 32 78

VE: AHEFEH T TFENU. Note: Not Recommend For Engineering Machines

B-01
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



£ Socket

L
03310 (No-Skive, 2-Wire)
SAE 100 R2AT/EN 853 2SN 2 & E S
FERRULE FOR SAE 100 R2AT/EN 853 2SN HOSE
= % % HOSE BORE R~ DIMENSIONS

PART NO. AFRAN4ZEDN Fr 5 DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51

L

WW 00400-D (External-Skive, 4-Wire Spiral)

4SP. 4SH/12-16 REEH
FERRULE FOR 4SP. 4SH/12-16 HOSE

r 5 # % HOSE BORE J <} DIMENSIONS
PART NO. AFRAFZDN b5 = DASH L
00400-06D 10 06 34
00400-08D 12 08 37
00400-10D 16 10 39
00400-12D 20 12 45
00400-16D 25 16 56

B-02
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



£ Socket

L
00401 (External-Skive, 4-Wire Spiral)
ASHIREER
FERRULE FOR 4SH HOSE

5 #% % HOSE BORE U~} DIMENSIONS
PART NO. AFRAN 12 DN Fr*5 DASH L
00401-20 32 20 66
00401-24 40 24 70
00401-32 50 32 77

L
00402 (External-Skive, 4-Wire Spiral)
SAE 100 R9AT-R12,EN 856-4SP/04-16 X & E &=
FERRULE FOR SAE 100 R9AT-R12,
— EN 856-4SP/04-16 HOSE

5 #% % HOSE BORE JU ~]' DIMENSIONS
PART NO. AFRA4E DN b5 DASH L
00402-04 6 04 30
00402-06 10 06 33
00402-08 12 08 34
00402-10 16 10 39
00402-12 20 12 40
00402-16 25 16 51
00402-20 32 20 60
00402-24 40 24 70
00402-32 50 32 72

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

B-03



£ Socket

L
00403 (External-Skive, 4-Wire Spiral)
EN 856-4SPHEER
L L FERRULE FOR EN 856-4SP HOSE
5 ¥ % HOSE BORE R 5} DIMENSIONS
PART NO. AREANFE DN b5 DASH L
00403-20 32 20 60
00403-24 40 24 70
00403-32 50 32 72
A AT R E - R AR R S
L
f : i | , 00018 (No-Skive, Textile Braid)
N _H_H_ Ferrule for Thermoplastic Hose
SAE 100 R7TBEER
\ 7 FERRULE FOR SAE 100 R7 HOSE
5 ¥ % HOSE BORE JX <} DIMENSIONS
PART NO. AFENAE DN ¥r5 DASH L
00018-03 5 03 27
00018-04 6 04 29
00018-05 8 05 31
00018-06 10 06 31
00018-08 12 08 34
00018-10 16 10 36
00018-12 20 12 43
B-04

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



£ Socket

L
e | 00TFO
KEALES
L ) FERRULE FOR TEFLON HOSE
&5 # %% HOSE BORE JU <} DIMENSIONS

PART NO. AFRNF DN | k5% DASH L

00TF0-03 4 03 275
00TF0-04 6 04 30.7
00TF0-05 8 05 30.6
00TF0-06 10 06 32.1
00TF0-08 12 08 34.3
00TF0-10 16 10 37
00TF0-12 20 12 42.8
00TFO0-14 22 14 427
00TF0-16 25 16 50.8

00500 (External-Skive, 2-Wire Spiral)
SAE 100 R5 iREE
FERRULE FOR SAE100R5 HOSE
(VRS #% % HOSE BORE JU <} DIMENSIONS

PART NO. AFRAFE DN | k55 DASH | SAE bi's SAE DASH L

00500-03 4 03 04 22.6
00500-04 6 04 05 25.7
00500-05 8 05 06 22.4
00500-07 11 07 08 26.2
00500-08 12 08 10 27.7
00500-10 16 10 12 29.7
00500-14 22 14 16 33.5
00500-18 28 18 20 427
00500-22 35 22 24 47.0
00500-29 46 29 32 50.8
00500-38 60 38 40 63.0

B-05
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



£ Socket

00421 (Double-Skive, 4-Wire Spiral)

il

DIN20023 4SH & | AN E
INTERLOCK FERRULE FOR DIN20023 4SH HOSE

(AR # % HOSE BORE R~} DIMENSIONS
PART NO. AFEM4E DN br's DASH L
00421-20 32 20 88
00421-24 40 24 102
00421-32 50 32 108

7E: 4SH-12, 16 BAS RN, 43 I H 00621-12, 00621-12 £ .

L
00621 (Double-Skive, 6-Wire Spiral)
GB/T 10544 R13/ SAE 100 R13/EN 856 R13
REFRNIMRES
Bl INTERLOCK FERRULE FOR GB/T 10544 R13/
SAE 100 R13 / EN856 R13 HOSE
5 % %% HOSE BORE R~} DIMENSIONS
PART NO. AFAE DN| 455 DASH L
00621-12 20 12 53
00621-16 25 15 66
00621-20 32 20 88.5
00621-24 40 24 102
00621-32 50 32 108

B-06
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥R/ Standard hose fitting

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



ERERESL Swaged hose fitting

BSZ 5| Part NO. Index

ATHIMREL
DAk Es
Flat Seal
AN HINRE24°HE 10411 20411 20411C 20441
L ) PC5 PC6 PC7 PC8
R
24° Cone O-
Ring Seal L.T.
20491C
PC10
ATHIRL24°HE 10511 20511 20511C 20541 20541C 20591
b T PC10 PC11 PC11 PC12 PC13 PC13
EH:I H E3
24° Cone O-
Ring Seal H.T.
T
20591C
N PC14
=
AR
L 60°HE% 1
60° Cone Seal
%
B A RS
T4 HER 3
% 74° Cone Seal
2 AR
L 90° et
2 o 10811L
E 90° Cone Seal P19
el
Q
(o))
) N
g N
BRI
Multiseal 20111 20141
PC20 PC21
AL | ég @
Standpipe
Straight 50011 50091 51011 51091 NL. NS
PC23 PC24 PC25 PC26 PC27
OJ¥ I % &}
. 12211
BSP O-Ring Seal pC2g
604k =
BSP 60° Cone Seal 12611 12611A 22611 22611D 22611D-SM
PC29 PC30 PC31 PC32 PC32

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



NERERESL Swaged hose fitting

BSZ 5| Part NO. Index

>;.4_1

Swaged Hose Fitting

SEFFIRLL
60°HE % H
BSP 60° Cone Seal 22641 22691K
PC33 PC34
BRI
BSP Multiseal 22111 22141 22191
PC35 PC35 PC36
BSPT
PC36
1l ORFS #24L
V1t A

ORFS Flat Seal

FIHERRZL
NPT
15611
PC39
FeHHISAEMRZL
Ok [l

SAE O-Ring Seal

EHNICHEL
T4

JIC 74° Cone Seal

PC40 PC41 PC42 PC43

PC45

FHISAERZLL
90°HE % &
SAE 90° Cone Seal

FHINPSMIZZL
60°HE [f 4
NPSM 60° Cone Seal

SAE %%
BRI
SAE Flange L.T.

87391-H
PC47 pPC47 PC48 PC48 PC49

SAE %25
HERY
SAE Flange H.T.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




NERERESL Swaged hose fitting

BSZ 5| Part NO. Index

[BE WA 35
60°HE %
Metric 60°
Cone Seal

H e hiliRer
60k &
GAS 60° Cone Seal

H g2
Flange

AL 528
UISEEISN

Metric Waterwash

PC55

o
I

= @ [

710M 72011 7208
PC55 PC56 PC56 PC57 PC57 PC58

Bk
Banjo

Hf
~
=)
2
~
=)
S
<
3
=4

2
>
:

KU BB Sk oy gy

) Double Connection 90011 90012
PC59 PC59

1t

E

>{1_,

Swaged Hose Fitting

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



frfETY Standard hose fitting

A
20, 10311
. AHSMELFEOM B E
. JB O-RING METRIC MALE FLAT SEAL
€4 N\ % %REF. JB/T 966
(= 2 oL E #_# HOSE BORE JU -~} DIMENSIONS
PART NO. THREAD E ~PRAAE DN ¥r'5 DASH A C S1
10311-12-04 M12X1.25 6 04 22.5 10 14
10311-12-04D M12X1.5 6 04 23.5 11 14
10311-14-04 M14X1.5 6 04 23.5 11 14
10311-16-04 M16X1.5 6 04 23.5 11 17
10311-16-05 M16X1.5 8 05 23.5 11 17
10311-16-06 M16X1.5 10 06 23.5 11 17
10311-18-06 M18X1.5 10 06 23.5 11 19
10311-22-05 M22X1.5 8 5 27 12 24
10311-22-06 M22X1.5 10 06 27 12 24
10311-22-08 M22X1.5 12 08 27 12 24
10311-27-10 M27X1.5 16 10 31.5 13 30
10311-30-12 M30X1.5 20 12 33.5 14 32
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 22 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 44.5 20 46
10311-52-24 M52X2 40 24 47.5 22 55
10311-64-32 M64X2 50 32 52.5 27 65
T A ERACS T MO 2. 0185 4 5e s A4S B0 1031 2-xx-xX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 10312-xx-xx.

C-01
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEts Standard hose fitting

s [T

E#R 2 H MR ESCTFE
GB METRIC FEMALE FLAT SEAT
S%2REF. GB/T 9065.3

20211 20211-T
(AVIRSS 2 4 E % % HOSE BORE JU <} DIMENSIONS
PART NO. THREAD E AFRA4E DN b5 DASH A © S2
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-12-04D M12X1.5 6 04 15 8 17
20211-14-04 M14X1.5 6 04 15.5 8.5 19
20211-14-05 M14X1.5 8 05 15.5 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 16.5 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 15 8 24
20211-18-06 M18X1.5 10 06 17.5 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18.5 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 18.5 10 27
20211-22-10 M22X1.5 16 10 19 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20 10.5 30
20211-27-08T M27X1.5 12 08 18.5 10 32
20211-27-10T M27X1.5 16 10 19.5 10 32
20211-30-12 M30X1.5 20 12 21.5 11 36
20211-33-14 M33X2 22 14 215 13 41
20211-36-12T M36X2 20 12 20 13 41
20211-36-14T M36X2 22 14 20 13 41
20211-39-16T M39X2 25 16 235 13 46
20211-42-20W M42X2 32 20 25 15 50
20211-45-20T M45X2 32 20 25 15 55
20211-52-24T M52X2 40 24 25 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75
e RS TR 2.5 Fl T 9 G s A0S 2 2021 2-xx-x
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20212-xx-xx.

C-02
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rfEs Standard hose fitting

A
T C) <%/7
N\ ,
S2 45° 0 ) MRS T m
45° METRIC FEMALE FLAT SEAT C
20241 20241-T £ #REF. GB/T 9065.3
5 W2 E %% HOSE BORE L~} DIMENSIONS
PART NO. THREAD E AFKNTE DN bi’5 DASH A C H S2
20241-14-04 M14X1.5 6 04 40.5 8.5 18.5 19
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
20241-16-05 M16X1.5 8 05 43.4 8.5 20 22
20241-18-06 M18X1.5 10 06 45.7 8 214 | 24
20241-22-08 M22X1.5 12 08 58.9 10 24 27
20241-27-10T M27X1.5 16 10 68.6 10 24.3 32
20241-30-12 M30X1.5 20 12 77.4 11 30 36
20241-36-12T M36X2 20 12 75 13 275 | 41
20241-36-14T M36X2 22 14 77.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 315 [ 41
20241-39-16T M39X2 25 16 83.9 13 29.7 46
20241-42-20W M42X2 32 20 95.9 15 35.2 50
20241-45-20T M45X2 32 20 94.5 15 33.8 55
20241-52-20T M52X2 32 20 94.5 17 33.8 60
20241-52-24T M52X2 40 24 108.5 17 37.7 60
20241-60-28T M60X2 45 28 118.7 20 43.6 70
20241-64-32T M64X2 50 32 127.8 23 45.6 75
e 1RSI T 94U . 2.0 H T 98805 Uk 2024 2-xx-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20242-xx-xx.

C-03
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

)y i
i i @g
@) O |
B 90" A HI MBS FE
90° METRIC FEMALE FLAT SEAT
20291 20291-T S #%REF. GB/T 9065.3
5 2 g0 E # % HOSE BORE JU 55 DIMENSIONS
PART NO. THREAD E | A% 4: DN ¥r'5 DASH A © H S2
20291-12-02 M12X1.25 4 02 26.5 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291-14-04 M14X1.5 6 04 30 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 33 8 38 22
20291-16-06 M16X1.5 10 06 35.3 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 35.25 8 41.3 24
20291-22-08 M22X1.5 12 08 41 10 48 27
20291-22-10 M22X1.5 16 10 56 10 53 27
20291-24-08T M24X1.5 12 08 41 11 45.5 30
20291-27-04T M27X1.5 6 04 30 10 35.5 32
20291-27-08T M27X1.5 12 08 41 10 46 32
20291-27-10T M27X1.5 16 10 56 10 51 32
20291-30-12 M30X1.5 20 12 65.5 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 71.2 13 61 41
20291-36-16 M36X2 25 16 76.7 13 70 41
20291-39-16T M39X2 25 16 76.7 13 67.5 46
20291-42-20W M42X2 32 20 91.5 15 80.5 50
20291-45-20T M45X2 32 20 91.5 15 78.5 55
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52X2 40 24 109.4 17 92 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291-64-32T M64X2 50 32 130.95 23 113.3 75
T 1RSI TR . 2.4 F T 95 O AR 2 20292-Xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20292-xx-xx.

C-04
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

A
¢ 10411
24°w ﬁ/ . o s s
I AHISMBLL 24° MR R
S1 METRIC MALE 24° CONE SEAT L.T.
ISO 8434-1--DIN 3861
R =5 R 2 E # % HOSE BORE BTME JU -} DIMENSIONS
PART NO. THREAD E | A% P42 DN | #i5 DASH | TUBE O.D. A C S1
10411-12-04 M12X1.5 6 04 6 20.5 10 12
10411-14-04 M14X1.5 6 04 8 20.5 10 14
10411-14-05 M14X1.5 8 05 8 215 10 14
10411-16-04 M16X1.5 6 04 10 22.5 11 17
10411-16-05 M16X1.5 8 05 10 22.5 11 17
10411-16-06 M16X1.5 10 06 10 22.5 11 17
10411-18-05 M18X1.5 8 05 12 23.5 11 19
10411-18-06 M18X1.5 10 06 12 22.5 11 19
10411-22-06 M22X1.5 10 06 15 24.5 12 24
10411-22-08 M22X1.5 12 08 15 26 12 24
10411-26-08 M26X1.5 12 08 18 26.5 12 27
10411-26-10 M26X1.5 16 10 18 26.5 12 27
10411-27-10 M27X1.5 16 10 18 29.5 14 30
10411-30-10 M30X2 16 10 22 29.5 14 32
10411-30-12 M30X2 20 12 22 30 14 32
10411-36-16 M36X2 25 16 28 31.5 14 38
10411-45-20 M45X2 32 20 35 37 16 46
10411-52-24 M52X2 40 24 42 38 16 55
A BT TR . 2.4t F 958 A A5 250 1041 2-Xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 10412-xx-xx.
C-05

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

24°i:

20411-W 20411-T

NHEINIRLY 24°ETFORERZE R T
METRIC FEMALE 24° CONE O-RING L.T.DIN3865

() R4 E # % HOSE BORE BTHME O JEi JU 5| DIMENSIONS
PART NO. THREAD E | A% A42 DN | 45 DASH | TUBE O.D. [ O RING A C S2
20411-12-04W | M12X1.5 6 04 6 004.5X1.5 22.5 1.4 17
20411-14-04W | M14X1.5 6 04 8 006.5X1.5 22.5 1.6 17
20411-14-06W | M14X1.5 10 06 8 006.5X1.5 23 1.6 17
20411-16-04T M16X1.5 6 04 10 008.0X1.5 20.5 2 19
20411-16-05W | M16X1.5 8 05 10 008.0X1.5 22 2 19
20411-16-06W | M16X1.5 10 06 10 008.0X1.5 2815 2 19
20411-18-05T M18X1.5 8 05 12 010.0X1.5 24.5 1.5 22
20411-18-06T M18X1.5 10 06 12 010.0X1.5 27.5 1.5 22
20411-18-08W | M18X1.5 12 08 12 010.0X1.5 24.5 1.5 22
20411-22-05T M22X1.5 8 05 15 012.0X2.0 26.5 3 27
20411-22-06T M22X1.5 10 06 15 012.0X2.0 26.5 3 27
20411-22-08T M22X1.5 12 08 15 012.0X2.0 29 3 27
20411-26-10T M26X1.5 16 10 18 015.0X2.0 30 2 32
20411-26-12W | M26X1.5 20 12 18 015.0X2.0 27.5 2 32
20411-30-10T M30X2 16 10 22 020.0X2.0 31 4 36
20411-30-12T M30X2 20 12 22 020.0X2.0 34 4 36
20411-36-12T M36X2 20 12 28 026.0X2.0 33 4.5 41
20411-36-14T M36X2 22 14 28 026.0X2.0 &) 4.5 41
20411-45-16T M45X2 25 16 35 032.0X2.5 37 4 50
20411-45-20T M45X2 32 20 35 032.0X2.5 37.5 4 50
20411-52-20T M52X2 32 20 42 038.0X2.5 38.5 4 60
20411-52-24T M52X2 40 24 42 038.0X2.5 38.5 4 60
e LRFAT ] TRMAEHE 2.4t F 58 O A0S H0 2041 2-Xx-xX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20412-xx-xx.

C-06
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

C A A
e | S
“ ;
S2
S2
20411C 20411C-T
NI PR 24° Tk E R R T
METRIC FEMALE MULTISEAL L.T.
e 24 E % % HOSE BORE HEIME JU 5] DIMENSIONS
PART NO. THREAD E AHRATE DN F5%5 DASH |TUBEO.D.[ A C S1
20411C-12-04 M12X1.5 6 04 6 19.5 3.5 17
20411C-14-04 M14X1.5 6 04 8 20.5 3.5 19
20411C-16-04T M16X1.5 6 04 10 20.5 3.5 19
20411C-16-05 M16X1.5 8 05 10 21 3.5 22
20411C-16-06 M16X1.5 10 06 10 21 3.5 22
20411C-18-06T M18X1.5 10 06 12 23.5 8 22
20411C-22-06T M22X1.5 10 06 15 23.5 4.5 27
20411C-22-08T M22X1.5 12 08 15 24.5 4.5 27
20411C-26-10T M26X1.5 16 10 18 26.5 4 32
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-30-12T M30X2 20 12 22 27.5 7 36
20411C-30-14 M30X2 22 14 22 27 7 36
20411C-36-16 M36X2 25 16 28 29 6.5 41
20411C-45-20T M45X2 32 20 35 33 7 65
20411C-52-24T M52X2 40 24 42 34 8 60
i 1RSI TR . 2.5 TR Ge s A0S 2 2041 2C-Xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20412C-xx-xx.
C-07

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R

£ Standard hose fitting

A ‘
g T
T ¢
Q S2
24°
20441-W 20441-T
45° N HI NIRLL 24°#ETF O BlAE R 5
45°METRIC FEMALE 24°CONE O-RING L.T.DIN3865
5 2 g E # % HOSE BORE HTHME O &4 U~} DIMENSIONS
PART NO. THREAD E | A®XN4% DN | 455 DASH | TUBE O.D.| O RING A C H | s2
20441-14-04W M14X1.5 6 04 8 006.5X1.5 [381|16 | 16 | 17
20441-16-04T M16X1.5 6 04 10 008.0X1.5 |38.1| 2 16 | 19
20441-16-05W M16X1.5 8 05 10 008.0X1.5 |40.3| 2 17 | 19
20441-16-06W M16X1.5 10 06 10 008.0X1.5 |403| 2 17 | 19
20441-18-05T M18X1.5 8 05 12 010.0X1.5 |403 |15 | 17 | 22
20441-18-06T M18X1.5 10 06 12 010.0X1.5 | 45 | 1.5 | 185 | 22
20441-22-05T M22X1.5 8 05 15 012.0X2.0 |409]| 3 18 | 27
20441-22-06T M22X1.5 10 06 15 012.0X2.0 | 42 | 3 18 | 27
20441-22-08T M22X1.5 12 08 15 012.0X2.0 |488| 3 20 | 27
20441-26-08T M26X1.5 12 08 18 015.0X2.0 |47.3| 2 21 | 32
20441-26-10T M26X1.5 16 10 18 015.0X2.0 | 58 | 2 | 235]| 32
20441-26-12W M26X1.5 20 12 18 015.0X2.0 |614| 2 | 246 | 32
20441-30-10T M30X2 16 10 22 020.0X2.0 |56.4| 4 | 241 | 36
20441-30-12T M30X2 20 12 22 020.0X2.0 |63.2]| 4 | 256 | 36
20441-36-12T M36X2 20 12 28 026.0X2.0 | 615 4.5 | 256 | 41
20441-36-14T M36X2 22 14 28 026.0X2.0 |67.9| 45 | 31.6 | 41
20441-45-20T M45X2 32 20 35 032.0X2.5 |88.7| 4 38 | 50
20441-52-20T M52X2 32 20 42 038.0X2.5 |90.3| 4 38 | 60
20441-52-24T M52X2 40 24 42 038.0X2.5 |1145| 4 | 43.7 | 60

E: LRPACTH T MO .

Note: 1.For use with braided hoses.

2,407 T 9 A5 A5 12500 2044 2-X%-XX o

2.1f use with spiral hoses, hose fitting series number is 20442-xx-xx.

C-08

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

I
O
20491 W 20491-T
90° A HIRIRL 24° H#EFOR B2 R
90° METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2--DIN 3865
(A=) 124 E Jik % HOSE BORE M O # JU <} DIMENSIONS

PART NO. THREAD E | AFfHN42 DN | #5*5 DASH | TUBE O.D.| O RING A C H S2
20491-12-03W | M12X1.5 5 03 6 004.5X1.5 | 26.5| 1.4 30 17
20491-12-04W | M12X1.5 6 04 6 004.5X1.5 | 27 1.4 30 17
20491-14-04W | M14X1.5 6 04 8 006.5X1.5 | 30 1.6 | 30.5( 17
20491-16-04T M16X1.5 6 04 10 008.0X1.5 | 30 2 305 19
20491-16-05W | M16X1.5 8 05 10 008.0X1.5 | 33 2 33 19
20491-16-06W | M16X1.5 10 06 10 008.0X1.5 | 35 2 33 19
20491-18-05T M18X1.5 8 05 12 010.0X1.5 | 33 1.5 | 33.5( 22
20491-18-06T M18X1.5 10 06 12 010.0X1.5 | 37 1.5 36 22
20491-22-06T M22X1.5 10 06 15 012.0X2.0 | 34.5 3 36 27
20491-22-08T M22X1.5 12 08 15 012.0X2.0 | 42 3 | 415 27
20491-26-08T M26X1.5 12 08 18 015.0X2.0 | 39.5 2 |429]| 32
20491-26-10T M26X1.5 16 10 18 015.0X2.0 | 51.2 2 515 32
20491-26-12W | M26X1.5 20 12 18 015.0X2.0 | 55.5 2 515 32
20491-30-10T M30X2 16 10 22 020.0X2.0 | 49 4 |[515| 36
20491-30-12T M30X2 20 12 22 020.0X2.0 | 57 4 56 36
20491-36-12T M36X2 20 12 28 026.0X2.0 | 55.3 | 4.5 56 41
20491-36-14T M36X2 22 14 28 026.0X2.0 | 64.2 | 45 [ 665 41
20491-45-16T M45X2 25 16 35 032.0X2.5 | 71 4 |1695| 50
20491-45-20T M45X2 32 20 35 032.0X2.5 | 81.5 4 78.5| 50
20491-52-20T M52X2 32 20 42 038.0X2.5 | 83 4 81 60
20491-52-24T M52X2 40 24 42 038.0X2.5 1109.4| 4 101 60

T 1R PRS T IR . 2055 TS A58 20492-XX-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20492-xx-xx.

C-09
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

20491C 20491C-T

90° Al SR LT 24°TKE 42 A 5! DIN 3868
90°METRIC FEMALE 24°MULTISEAL L.T.DIN 3868

= 24 E % 4 HOSE BORE EIIME J\_5} DIMENSIONS
PART NO. THREAD E | A% M42 DN | 55 DASH TUBE O.D. A C H S2
20491C-14-04 M14X1.5 6 04 8 30 3.5 | 285 19
20491C-16-04T M16X1.5 6 04 10 30 3.5 29 19
20491C-16-05 M16X1.5 8 05 10 33 3.5 32 22
20491C-16-06 M16X1.5 10 06 10 85 3.5 32 22
20491C-18-06T M18X1.5 10 06 12 37 3 35 22
20491C-22-08T M22X1.5 12 08 15 42 4.5 42 27
20491C-26-10T M26X1.5 16 10 18 51.2 4 51.5 32
20491C-30-12T M30X2 20 12 22 57 7 5.5 36
20491C-36-12T M36X2 20 12 28 55.3 | 6.5 | 55.5 41
VE: 1R ARG 2. 0158 FI T AEEAT 1€ 5 40 20492C 300X
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20492C-xx-xx.

%j 10511

Eﬁ? INHIIMEBE 24° P TR K5

1 METRIC MALE 24° CONE SEAT H.T.
st ISO 8434-1--DIN 3861
R 5 B4 E & % HOSE BORE H1HME JU 5] DIMENSIONS
PART NO. THREAD E | A# A2 DN | #5'5 DASH [TUBEO.D. | A © S1
10511-14-04 M14X1.5 6 04 6 24.5 12 14
10511-16-04 M16X1.5 6 04 8 26.5 12 17
10511-18-04 M18X1.5 6 04 10 26.5 12 19
10511-20-05 M20X1.5 8 05 12 27 12 22
10511-20-06 M20X1.5 10 06 12 26.5 12 22
10511-22-05 M22X1.5 8 05 14 30.5 14 24
10511-22-06 M22X1.5 10 06 14 30.5 14 24
10511-22-08 M22X1.5 12 08 14 31 14 24
10511-24-08 M24X1.5 12 08 16 31.5 14 27
10511-30-10 M30X2 16 10 20 34.5 16 32
10511-30-12 M30X2 20 12 20 36 16 32
10511-36-12 M36X2 20 12 25 40.5 18 41
10511-36-16 M36X2 25 16 25 41.5 18 38
10511-42-16 M42X2 25 16 30 44 20 46
10511-42-20 M42X2 32 20 30 45 20 46
10511-52-20 MS52X2 32 20 38 50 22 £9)
E: A BT TS 240185 I T JEGe s AT 5508 1051 2-xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 10512-xx-xx.

C-10
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

‘ |
= o]
A
J_ULIJLILIJJLLLJ

e

20511-W 20511-T
NHINEBLY 24°tEHFOR B E RS

METRIC FEMALE 24° CONE O-RING H.T.DIN3865 C
5 W2 4 E ) % HOSE BORE ETHME O JE I K.~ DIMENSIONS

PART NO. THREAD E | A%k N4: DN | 55 DASH | TUBE O.D.| ORING A © S2
20511-14-04W M16X1.5 6 04 6 004.5X1.5 23 1.1 17
20511-16-04T M16X1.5 6 04 8 006.5X1.5 21 1.5 19
20511-16-05W M16X1.5 8 05 8 006.5X1.5 23 1.5 19
20511-18-04T M18X1.5 6 04 10 008.0X1.5 25.5 1.5 22
20511-18-06T M18X1.5 10 06 10 008.0X1.5 26 1.5 22
20511-20-06T M20X1.5 10 06 12 010.0X1.5 28.5 2.5 24
20511-20-08W M20X1.5 12 08 12 010.0X1.5 26 2.5 24
20511-22-06T M22X1.5 10 06 14 011.0X2.0 26.5 2.5 27
20511-22-08T M22X1.5 12 08 14 011.0X2.0 28 2.5 27
20511-24-06T M24X1.5 10 06 16 013.0X2.0 27 3 30
20511-24-08T M24X1.5 12 08 16 013.0X2.0 27.5 3 30
20511-30-10T M30X2 16 10 20 016.3X2.4 33 2.5 36
20511-30-12T M30X2 20 12 20 016.3X2.4 35 2.5 36
20511-36-12T M36X2 20 12 25 020.3X2.4 85 3 46
20511-36-14T M36X2 22 14 25 020.3X2.4 34 3 46
20511-36-16W M36X2 25 16 25 020.3X2.4 34 8 46
20511-42-12T M42X2 20 12 30 025.3X2.4 37.5 4 50
20511-42-16T M42X2 25 16 30 025.3X2.4 38.5 4 50
20511-52-20T M52X2 32 20 38 033.3X2.4 41.5 4.5 60
20511-52-24T M52X2 40 24 38 033.3X2.4 41.5 4.5 60
Vi AR T ARSI 2.5 P T 9 SRR 1R 5 5 2051 2-xx-XX.
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20512-xx-xx.

CcC A
C.__ A

&@_ — (-
< ) T

NHI RS 24° BRKEE RS

S2 S2
METRIC FEMALE
20511C 20511C-T  24° MULTISEAL H.T.DIN3868
5 oo E & % HOSE BORE EHrAME JU 5} DIMENSIONS
PART NO. THREAD E AFEPI4E DN ¥55 DASH TUBE O.D. A C S2
20511C-18-04T M18X1.5 6 04 10 21 3 22
20511C-20-05T M20X1.5 8 05 12 21.5 4.5 24
20511C-20-06T M20X1.5 10 06 12 21.5 4.5 24
20511C-22-06T M22X1.5 10 06 14 21.5 4.5 27
20511C-24-08T M24X1.5 12 08 16 23 5 30
20511C-30-10T M30X2 16 10 20 26.5 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
20511C-42-16T M42X2 25 16 30 29.5 9 50
20511C-52-20T M52X2 32 20 38 34 8 60
E: ARG T RWMARE . 2. 401 TG A5 5 2051 2C-xx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20512C-xx-xx.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

A ‘
e SO
// - B T B R
T O
Q S2
24°
20541-W 20541-T
A5° NI RIRLL 24° 4O B E R 5
45°METRIC FEMALE 24°CONE O-RING H.T.DIN3865
s o4 E ® & HOSEBORE | #T14ha | O Kk JU -] DIMENSIONS

PART NO. [THREAD E|ZA#P12 DN | #5'5 DASH |TUBE O.D.| O RING A C H S2
20541-14-04W | M16X1.5 6 04 6 004.5X1.5| 38.1 1.1 16 17
20541-16-04T | M16X1.5 6 04 8 006.5X1.5| 38.4 1.5 16.3 19
20541-16-05W | M16X1.5 8 05 8 006.5X1.5| 38.4 1.5 16.3 19
20541-18-04T | M18X1.5 6 04 10 008.0X1.5| 39.1 1.5 17 22
20541-18-06T | M18X1.5 10 06 10 008.0X1.5| 43.8 1.5 17.3 22
20541-20-06T | M20X1.5 10 06 12 010.0X1.5| 42.5 2.5 18.5 24
20541-20-08W | M20X1.5 12 08 12 010.0X1.5] 44.8 2.5 19 24
20541-22-06T | M22X1.5 10 06 14 011.0X2.0] 42 2.5 18 27
20541-22-08T | M22X1.5 12 08 14 011.0X2.0] 49.6 2.5 20.7 27
20541-24-08T | M24X1.5 12 08 16 013.0X2.0| 47.3 & 21 30
20541-24-10W | M24X1.5 16 10 16 013.0X2.0| 49.7 3 22.9 30
20541-30-10T M30X2 16 10 20 016.3X2.4| 57.3 2.5 25 36
20541-30-12T M30X2 20 12 20 016.3X2.4| 65.8 2.5 26.7 36
20541-36-12T M36X2 20 12 25 020.3X2.4| 671 & 30.5 46
20541-36-14T M36X2 22 14 25 020.3X2.4| 69.6 3 30.5 46
20541-42-16T M42X2 25 16 30 025.3X2.4| 81 4 35.5 50
20541-52-20T M52X2 32 20 38 033.3X2.4| 94.2 4.5 42 60
20541-52-24T M52X2 40 24 38 033.3X2.4| 114.1 4.5 43.4 60

W 1LRPARSH TR . 2.5 H T 958 AR 5 20 2054 2-X%-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20542-xx-xx.

C-12
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

20541C 20541C-T

A5° N HI N EEL24°2kE & 51 DIN 3868
45°METRIC FEMALE MULTISEAL H.T.DIN 3868

5 2 4 E % % HOSE BORE EFIME JI <} DIMENSIONS
PART NO. THREAD E | A% W4 DN | #5'%5 DASH | TUBE O.D. A C H S2
20541C-16-04T | M16X1.5 6 04 8 374 | 35 | 1563 19
20541C-18-04T | M18X1.5 6 04 10 38.1 & 16 22
20541C-20-06T | M20X1.5 10 06 12 416 | 45 | 176 24
20541C-24-08T | M24X1.5 12 08 16 477 1 5 | 215] 30
e RS T . 2.0 RS s A0S i 20542C-xx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20542C-xx-xx.

E
24° 24°
20591-w 20591-T
90° M IR L24° HEHOTL B E 25
90°METRIC FEMALE 24°CONE O-RING H.T.DIN 3865
= 2 4 E # ¥ HOSEBORE | #74Me| O KM JU <} DIMENSIONS

PART NO. THREAD E [ A% P42 DN | 455 DASH | TUBE O.D.] O RING A Cc H S2
20591-14-04W | M16X1.5 6 04 6 004.5X1.5[ 30 1.1 30.5 17
20591-16-04T | M16X1.5 6 04 8 006.5X1.5( 30 1.5 31 19
20591-16-05W | M16X1.5 8 05 8 006.5X1.5[ 30 1.5 31 19
20591-18-05T | M18X1.5 8 05 10 008.0X1.5 33 1.5 geis 22
20591-18-06T | M18X1.5 10 06 10 008.0X1.5 37 1.5 35 22
20591-20-06T | M20X1.5 10 06 12 010.0X1.5| 34.5 2.5 8155 24
20591-20-08W | M20X1.5 12 08 12 010.0X1.5( 37.5 2.5 36.5 24
20591-22-06T | M22X1.5 10 06 14 011.0X2.0| 34.5 2.5 36 27
20591-22-08T | M22X1.5 12 08 14 011.0X2.0( 42 25 42.5 27
20591-24-08T | M24X1.5 12 08 16 013.0X2.0| 39.5 3 43 30
20591-24-10W | M24X1.5 16 10 16 013.0X2.0( 45 3 45.5 30
20591-30-10T M30X2 16 10 20 016.3X2.4| 49 2.5 49.5 36
20591-30-12T M30X2 20 12 20 016.3X2.4| 55.8 2.5 54.5 36
20591-36-12T M36X2 20 12 25 020.3X2.4| 56 8 59 46
20591-36-14T M36X2 22 14 25 020.3X2.4| 58 3 59 46
20591-42-16T M42X2 25 16 30 025.3X2.4( 71 4 70 50
20591-52-20T M52X2 32 20 38 033.3X2.4| 83 4.5 87 60
20591-52-24T M52X2 40 24 38 033.3X2.4[109.4 | 4.5 100 60

s VRS T M 2.0 1 95 s A0S 0 20592-xx-xx o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20592-xx-xx.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R

£ Standard hose fitting

90° 2> il SR LL
24°TKTH E % 5|DIN3868
90°METRIC FEMALE

20591C 20591C-T MULTISEAL H.T.DIN3868
" = 2 2 E % _Tf HOSE BORE | % r4M%| _ J T DIMENSIONS

PART NO. THREAD E| A#XN4 : DN| #r5 DASH|TUBE O.D A © H S2
20591C-16-04T M16X1.5 6 04 8 30 3.5 29.5 19
20591C-18-04T M18X1.5 6 04 10 30 3 30.5 22
20591C-20-05T M20X1.5 8 05 12 33 45 34 24
20591C-20-06T M20X1.5 10 06 12 345 | 45 35.5 24
20591C-22-06T M22X1.5 10 06 14 345 | 45 36 27
20591C-24-08T M24X1.5 12 08 16 39.5 5 43.5 30
20591C-30-10T M30X2 16 10 20 49 7 50.5 36
20591C-36-12T M36X2 20 12 25 56 6.5 55,5 41
20591C-42-16T M42X2 25 16 30 71 9 68.4 50
20591C-52-20T M52X2 32 20 38 83 8 81.5 60

s LRSI TR

Note: 1.For use with braided hoses.

240075 H T 95 AR 5 2N 20592-XX-XX o

2.If use with spiral hoses, hose fitting series number is 20592-xx-xx.

e 10611
D N ABIIMBEL 60° TS A IS
60°(w| 1. S EHBINAEL

J—”—”—”—”—I—L/ METRIC MALE DOUBLE USE FOR

S1 60°CONE SEAT OR BONDED SEAL

s 24 E # %% HOSE BORE JU -} DIMENSIONS
PART NO. THREAD E APEM1E DN #r'5 DASH A C S1
10611-14-04 M14X1.5 6 04 23.5 11 19
10611-14-06 M14X1.5 10 06 25 11 19
10611-16-04 M16X1.5 6 04 27.5 12 22
10611-16-05 M16X1.5 8 05 27.5 12 22
10611-18-06 M18X1.5 10 06 27.5 12 24
10611-22-06 M22X1.5 10 06 30.5 14 27
10611-22-08 M22X1.5 12 08 31 14 27
10611-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 34.5 16 32
10611-27-10D M27X1.5 16 10 34.5 16 32
10611-27-10 M27X2 16 10 37 18 32
10611-30-12D M30X1.5 20 12 38 18 36
10611-30-12 M30X2 20 12 38 18 36
10611-33-16 M33X2 25 16 43 20 46
10611-42-20 M42X2 32 20 46 20 50
10611-45-20 M45X2 32 20 46 20 55
10611-48-24 M48X2 40 24 46 20 55
10611-52-24 M52X2 40 24 46 20 60

e RS TRV . 2405 TS A5 50 1061 2-xx-xX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 10612-xx-xx.

C-14

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




frETY Standard hose fitting

A C A

W
77777 Z77 —
60°(>w | " " " " 60°0> w1 —- -

O

S2 S2
A HIRIZL 60°5MEE
20611 20611-T METRIC FEMALE 60° CONE
= R 4LE % & HOSE BORE F\ - DIMENSIONS
PART NO. THREAD E A FRMN4E DN 55 DASH C S2
20611-14-04 M14X1.5 6 04 18 5.5 19
20611-16-05 M16X1.5 8 05 18.5 5.5 22
20611-16-06 M16X1.5 10 06 19 5.5 22
20611-18-06 M18X1.5 10 06 20 5.5 24
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 225 6 27
20611-24-10 M24X1.5 16 10 24.5 6.5 30
20611-26-10 M26X1.5 16 10 24.5 6 32
20611-27-10DT M27X1.5 16 10 25.5 6 32
20611-27-10T M27X2 16 10 235 6 32
20611-30-10D M30X1.5 16 10 26.5 6 36
20611-30-12D M30X1.5 20 12 26.5 6 36
20611-30-12 M30X2 20 12 26.5 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60
T LRPACSH TR . 2.0 M TG A AR S 5 206 12-x%-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20612-xx-xx.

90° il HHRLL 60°SMEE

60°
20691 20691-T 90° METRIC FEMALE 60° CONE
A= 2 g0 E % % HOSE BORE JU 5 DIMENSIONS
PART NO. THREAD E | A% M4 DN b5 DASH A C H S2
20691-14-04 M14X1.5 6 04 30 5.5 37 19
20691-16-05 M16X1.5 8 05 & 5.5 40.5 22
20691-18-06 M18X1.5 10 06 35.3 5.5 43.8 24
20691-22-08 M22X1.5 12 08 41 6 52 27
20691-27-10DT M27X1.5 16 10 56 6 55 32
20691-30-12D M30X1.5 20 12 66.2 6 68.5 36
20691-36-16 M36X2 25 16 78 6.5 76.5 41
20691-36-14T M36X2 22 14 71.2 6.5 67.5 41
20691-39-16T M39X2 25 16 76.7 6.5 74 46
20691-45-20T M45X2 32 20 91.5 8.5 85 55
20691-52-24T M52X2 40 24 109.4 10 99 60
e 1L RS H T a2k 24055 T 9 Ge s A0S 2 20692-xx-xX o
Note: 1.For use with bralded hoses. 2.1f use with spiral hoses, hose fitting series number is 20692-xx-xx.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

=

gl

10711

E R H SMEL 74°5M EE

S1
GB METRIC MALE 74° CONE
R 5 24 E # % HOSE BORE J&_~} DIMENSIONS

PART NO. THREAD E | %A1 DN | b5 DASH A Cc S1
10711-10-02 M10X1 4 02 23 12.5 14
10711-10-03 M10X1 5 03 23 12.5 14
10711-12-03 M12X1.5 5 03 26.5 [ 15.7 14
10711-12-03C M12X1.25 5 03 24.5 14 14
10711-14-04 M14X1.5 6 04 29.5 17 17
10711-14-06 M14X1.5 10 06 30.5 18 17
10711-16-05 M16X1.5 8 05 30.5 18 17
10711-16-06 M16X1.5 10 06 30.5 18 17
10711-18-06 M18X1.5 10 06 30.5 18 19
10711-22-08 M22X1.5 12 08 35 19.5 24
10711-24-08 M24X1.5 12 08 35.5 20 27
10711-27-10 M27X1.5 16 10 38 20 30
10711-30-12 M30X1.5 20 12 42.5 23 32
10711-30-12E M30X2 20 12 45.5 26 32
10711-33-12 M33X2 20 12 46 26 36
10711-36-14 M36X2 22 14 45 26 38
10711-39-16 M39X2 25 16 48 27.5 41
10711-42-20 M42X2 32 20 52 28.5 46
10711-45-20 M45X2 32 20 52 28.5 46

e ARPACS T AR . 2.0 T 9R G A A0S B 107 12-xx-xx.
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 107 12-xx-xx.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



T Standard hose fitting

O
>

74° W | ” ” | |
S2
20711 20711-T
El#R A6 AR 74°NH#EE
GB METRIC FEMALE 74° CONE SEAT
2% REF. GB/T 9065.1
i9R=) % ZCE # % HOSE BORE JU_s} DIMENSIONS
PART NO. THREAD E | A% W1 DN | #5'5 DASH A © 52
20711-10-02 M10X1 4 02 14 7.5 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 M12X1.5 5 03 14 10 17
20711-12-04 M12X1.5 6 04 14.5 10 17
20711-14-04 M14X1.5 6 04 15.5 8.5 19
20711-14-05 M14X1.5 8 05 15.5 8.5 19
20711-14-06 M14X1.5 10 06 15 8.5 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 16 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
20711-18-06 M18X1.5 10 06 17.5 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 18.5 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 18.5 10 27
20711-22-10 M22X1.5 16 10 19 10 27
20711-24-08T M24X1.5 12 08 17.5 11 30
20711-27-08T M27X1.5 12 08 18.5 11 32
20711-27-10T M27X1.5 16 10 19.5 11 32
20711-27-12 M27X1.5 20 12 21.5 11 32
20711-30-10T M30X1.5 16 10 18 11 36
20711-30-12 M30X1.5 20 12 21.5 11 36
20711-33-10T M33X2 16 10 19.5 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 215 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 20 14 41
20711-36-16 M36X2 25 16 225 14 41
20711-39-16T M39X2 25 16 23.5 14 46
20711-42-16T M42X2 25 16 235 15 50
20711-42-20W M42X2 32 20 24.5 15 50
20711-45-20T M45X2 32 20 25 15 55
20711-52-24T M52X2 40 24 25 17 60
He RS TR 240585 F T 9R e s A0S 2 207 12-xx-xX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 207 12-xx-xx.
C-17

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




FrAEts Standard hose fitting

A
i |
_lo %/ 20741
TR A5°EFRAHINIZL 74°NEE®
7a XUso 45° GB METRIC FEMALE 74° CONE SEAT
%% REF. GB/T 9065.1
R 5 I 4 E % HOSE BORE JUF DIMENSIONS
PART NO. THREAD E NHEN4EDN F»5 DASH A C H S2
20741-14-04 M14X1.5 6 04 40.5 8.5 18.5 19
20741-16-05 M16X1.5 8 05 43.4 8 20 22
20741-18-06 M18X1.5 10 06 457 10 214 24
20741-22-08 M22X1.5 12 08 58.9 10 24 27
20741-27-10 M27X1.5 16 10 70.7 11 26.4 32
20741-30-12 M30X1.5 20 12 77.4 11 30 36
20741-33-12 M33X2 20 12 77.4 13 30 41
20741-33-16 M33X2 25 16 85 13 30.8 41
20741-36-14 M36X2 22 14 79.8 14 29.5 41
20741-36-16 M36X2 25 16 85.7 14 31.5 41
20741-39-16 M39X2 25 16 87 14 31.8 46
20741-45-20W M45X2 32 20 100.2 15 39.4 55
20741-52-24\W M52X2 40 24 115.3 17 40.9 60

TE: LRPACSH T .

Note: 1.For use with braided hoses.

2,007 FH TS 5 A5 20 2074 2-XX-XX o

2.1f use with spiral hoses, hose fitting series number is 20742-xx-xx.

20791

90° E#R 2 il WEELL 74° REEE
90° GB METRIC FEMALE 74° CONE SEAT
%% REF. GB/T 9065.1

5 R4 E ¥ % HOSE BORE N DIMENSIONS
PART NO. THREAD E AFRA1EDN 15 DASH A C H S2
20791-12-04C M12X1.25 6 04 30 9 33.5 17
20791-12-04 M12X1.5 6 04 30 10 B85 17
20791-14-04 M14X1.5 6 04 30 8.5 34 19
20791-16-04 M16X1.5 6 04 30 8 35 22
20791-16-05 M16X1.5 8 05 33 8 38 22
20791-18-06 M18X1.5 10 06 588 10 41.3 24
20791-22-08 M22X1.5 12 08 41 10 48 27
20791-22-10 M22X1.5 16 10 56 10 52.5 27
20791-27-10 M27X1.5 16 10 56 11 54 32
20791-30-12 M30X1.5 20 12 66.2 11 63.5 36
20791-33-12 M33X2 20 12 65.5 13 63.5 41
20791-33-16 M33X2 25 16 76.7 13 69 41
20791-36-12 M36X2 20 12 65.5 14 63.5 41
20791-36-14 M36X2 22 14 71.2 14 64.5 41
20791-39-16 M39X2 25 16 78 14 70.5 46
20791-45-20W M45X2 32 20 91.5 15 86.5 D9
20791-52-20W M52X2 32 20 93 17 83.3 60
20791-52-24W M52X2 40 24 109.4 17 100.3 60
T 1RSI TSR . 24005 T T4 G AR 2 207 92-Xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20792-xx-xx.

C-18

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

ﬁ HiEE LOCK NUT

10811L 10811L-LN
P SNESL 90°SMETE
METRIC MALE 90° CONE
K= B4 E % & HOSE BORE JX 5 DIMENSIONS
PART NO. THREAD E AFRA1E DN Fr5 DASH A C S1 S2
10811L-12-04 M12X1.5 6 04 46 34 17 17
10811L-12-04A M12X1 6 04 445 | 32.5 17 17
10811L-14-04 M14X1.5 6 04 46 34 17 19
10811L-14-06 M14X1.5 10 06 46.5 34 17 19
10811L-16-04 M16X1.5 6 04 46.5 34 19 22
10811L-16-06 M16X1.5 10 06 46.5 34 22 22
10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 57.5 40 27 27
10811L-22-08 M22X1.5 12 08 62.5 45 27 27
e A e 5T, WA S S IN"LN", 2110811L-12-04LN.
Note: if you are interested to order the fitting with lock nut,please insert suffix "LN" after our part no. for example
10811L-12-04LN.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrAEts Standard hose fitting

C A C A
S ﬁ@ﬁ«m |
v Y
L
S2 S92
A HI ARSI
20111 20111-T  METRIC FEMALE MULTISEAL
A=) 2 4 E # 4 HOSE BORE X~} DIMENSIONS

PART NO. THREAD E | AFKH42 DN ¥r'5 DASH A C S2
20111-10-03 M10X1 5 03 18 25 14
20111-10-04 M10X1 6 04 18 2.5 14
20111-12-04 M12X1.5 6 04 18.5 4 17
20111-12-05 M12X1.5 8 05 18.5 4 17
20111-14-04 M14X1.5 6 04 19.5 4.5 19
20111-14-05 M14X1.5 8 05 19.5 4.5 19
20111-16-04 M16X1.5 6 04 19.5 4.5 22
20111-16-05 M16X1.5 8 05 20 4.5 22
20111-16-06 M16X1.5 10 06 20 4.5 22
20111-18-05T M18X1.5 8 05 21.5 4 24
20111-18-06 M18X1.5 10 06 21.5 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 20.5 5.5 24
20111-20-08 M20X1.5 12 08 23 8.8 27
20111-22-06T M22X1.5 10 06 21 5 27
20111-22-08 M22X1.5 12 08 23.5 5 27
20111-22-10 M22X1.5 16 10 24 5 27
20111-24-08T M24X1.5 12 08 22 515 30
20111-24-10 M24X1.5 16 10 25.5 5 30
20111-27-08DT M27X1.5 12 08 23 8.8 32
20111-27-10DT M27X1.5 16 10 26 5.5 32
20111-27-12D M27X1.5 20 12 26 5.5 32
20111-27-10T M27X2 16 10 24 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26.5 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 29.5 7 46
20111-42-16T M42X2 25 16 30 8.5 50
20111-45-20T M45X2 32 20 31.5 8.5 55
20111-52-20T M52X2 32 20 33 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 35 14 75

e RS T RWEEE . 2.4 TG A5 20 20112-Xx-xX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20112-xx-xx.

C-20

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




T Standard hose fitting

20141-T
A5° Nl MU SUEKE
45°METRIC FEMALE MULTISEAL
5 3 4LE % % HOSE BORE JU 5} DIMENSIONS
PART NO. THREAD E AFRNFE DN #5'5 DASH A C H S2
20141-10-03 M10X1 5 03 411 2.5 20.7 14
20141-10-04 M10X1 6 04 43.2 2.5 21.5 14
20141-12-03 M12X1.5 5 03 40.9 4 21.2 17
20141-12-04 M12X1.5 6 04 43 4 20.9 17
20141-14-04 M14X1.5 6 04 43.4 4.5 21.3 19
20141-14-05 M14X1.5 8 05 45.5 4.5 22.2 19
20141-16-04 M16X1.5 6 04 43.7 4.5 21.6 22
20141-16-05 M16X1.5 8 05 45.8 4.5 22.5 22
20141-16-06 M16X1.5 10 06 47.4 4.5 23.2 22
20141-18-05T M18X1.5 8 05 46.8 4 22.6 24
20141-18-06 M18X1.5 10 06 48.5 4 24.2 24
20141-18-08 M18X1.5 12 08 52.2 4 25.7 24
20141-20-06T M20X1.5 10 06 47.4 5.5 23.2 27
20141-20-08 M20X1.5 12 08 45 5.5 18.3 27
20141-22-06T M22X1.5 10 06 47.8 5 23.5 27
20141-22-08 M22X1.5 12 08 62.5 5 27.5 27
20141-24-08T M24X1.5 12 08 61.1 5.5 26.1 30
20141-24-10 M24X1.5 16 10 75.4 5 29.6 30
20141-27-10DT M27X1.5 16 10 74.4 5.5 29.6 32
20141-27-10T M27X2 16 10 72.1 5.5 27.8 32
20141-30-12D M30X1.5 20 12 80.9 6 335 36
20141-30-12 M30X2 20 12 81.7 6 33.6 36
20141-36-14T M36X2 22 14 83 7 32.64 41
20141-39-16T M39X2 25 16 89.5 7 34 46
20141-45-20T M45X2 32 20 99.1 8.5 38.4 55
20141-52-24T M52X2 40 24 114.1 9 43.4 60
e RS TR 2.4 H T 9 G O A0S 0 20142-xx-xX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20142-xx-xx.

C-21
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

A
T 2k
I
o ||
|
E S2
90° A ARSI EKE
20191-T 90° METRIC FEMALE MULTISEAL
R 5 g g E #% % HOSE BORE JX - DIMENSIONS
PART NO. THREAD E AFRAAE DN #r5 DASH A C H S2
20191-10-03 M10X1 5 03 27 2.5 35.5 14
20191-12-04 M12X1.5 6 04 30 4 75 17
20191-14-04 M14X1.5 6 04 30 4.5 38 19
20191-14-05 M14X1.5 8 05 30 4.5 38 19
20191-16-04 M16X1.5 6 04 30 4.5 38.5 19
20191-16-05 M16X1.5 8 05 33 4.5 41.5 22
20191-16-06 M16X1.5 10 06 35.3 4.5 43.8 22
20191-18-05T M18X1.5 8 05 33 4 43 24
20191-18-06 M18X1.5 10 06 35.3 4 453 24
20191-18-08 M18X1.5 12 08 40.5 4 50.5 24
20191-20-06T M20X1.5 10 06 35.3 55 43.8 24
20191-20-08 M20X1.5 12 08 39.5 5.5 39 27
20191-22-06T M22X1.5 10 06 35.3 5 44.3 27
20191-22-08 M22X1.5 12 08 41 & 53 27
20191-24-08T M24X1.5 12 08 41 5.5 51 30
20191-24-10 M24X1.5 16 10 58 8 58.5 30
20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
20191-27-10T M27X2 16 10 56 6.5 55.5 32
20191-30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 66.2 6 68.5 36
20191-36-12T M36X2 20 12 65.5 7 67 41
20191-36-14T M36X2 22 14 71.2 7 69 41
20191-39-16T M39X2 25 16 78 7 73.5 46
20191-45-20T M45X2 32 20 91.5 8.5 85 55
20191-52-24T M52X2 40 24 109.4 9 100 60
20191-64-32T M64X2 50 32 131 14 122.3 75
e RS TSR 2. s F TS A AU B 20192-xx-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20192-xx-xx.

C-22
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

50011
;L—‘ - —~—
o AHFEREE
:‘—[JJJ—”—IUU—I/ METRIC STANDPIPE STRAIGHT DIN 2353
(A=) HT1HME D ¥ % HOSE BORE R <} DIMENSIONS % 1
PART NO. TUBE O.D. AFRA4E DN | #3'5 DASH A C NOTE
50011-06-03 6 5 03 28.5 22
50011-06-04 6 6 04 29 22
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 33.5 23
50011-12-08 12 12 08 S8 23
50011-15-06 15 10 06 35 25
50011-15-08 15 12 08 35.5 25 2 2%
50011-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 40.5 26 L
50011-22-10 22 16 10 44.5 28
50011-22-12 22 20 12 44 28
50011-22-16 22 25 16 46 28
50011-28-16 28 25 16 49 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 04 31 24
50011-08-05 8 8 05 33 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 34 26
50011-12-04 12 6 04 34.5 26
50011-12-05 12 8 05 35.5 26
50011-14-06 14 10 06 39.5 29
50011-14-08 14 12 08 40 29
50011-14-12 14 20 12 45.5 29
50011-16-08 16 12 08 41 30 255
50011-16-10 16 16 10 45 30 S
50011-20-10 20 16 10 52 36
50011-20-12 20 20 12 52.5 36
50011-25-12 23 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50
E: RS HTRARE . 2. 07 H TS A AR S 095001 2-xx-xxX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50012-xx-xx.
C-23

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




R

£ Standard hose fitting

»/‘/
/

- 50091
© W AFIFEREE
D 90° METRIC STANDPIPE STRAIGHT DIN 2353

= ETHMED # % HOSE BORE JU <} DIMENSIONS # 1
PART NO. TUBE O.D. AFRAE DN ¥r*5 DASH A C H NOTE
50091-06-03 6 05 03 26.5 22 42.5
50091-06-04 6 6 04 30 22 45.5
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 8588 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 12 10 06 35.3 25 53.8
50091-12-08 12 12 08 41 25 59 BRI
50091-15-06 15 10 06 35.3 25 53.8 L
50091-15-08 15 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56 26 64.5
50091-22-10 22 16 10 56 28 66.5
50091-22-12 22 20 12 65.5 28 76
50091-22-16 22 25 16 76.7 28 81.5
50091-28-16 28 25 16 76.7 30 83.5
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 6 04 30 24 47.5
50091-10-04 10 6 04 30 26 49.5
50091-12-04 12 6 04 30 26 49.5
50091-12-05 12 8 05 33 26 52.5
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64
50091-16-10 16 16 10 56.5 30 68.5 HZR
50091-20-10 20 16 10 56 36 74.5
50091-20-12 20 20 12 65.5 36 84 S
50091-25-12 25 20 12 65.5 40 88
50091-25-16 25 25 16 76.7 40 93.5
50091-30-16 30 25 16 78 40 109.5
50091-30-20 30 32 20 91.5 44 108.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 114.5

E: 1LRPAT T RIEE 24075 T 95 UE AR5 BUN50092-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 50092-xx-xx.

C-24

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

A
C
/‘7"”&_ " 7~
51011
|
_L EFFEREE C
GB METRIC STANDPIPE
5 HF4Me D i % HOSE BORE JU~f DIMENSIONS

PART NO. TUBE O.D. ARRAAE DN b5 DASH A C
51011-04-03 4 5 03 27 17
51011-06-03 6 5 03 30.5 19
51011-06-04 6 6 04 31 19
51011-08-04 8 6 04 31 19
51011-08-05 8 8 05 31.5 19
51011-08-06 8 10 06 31.5 19
51011-10-04 10 6 04 35 22
51011-10-05 10 8 05 35 22
51011-10-06 10 10 06 35 22
51011-12-05 12 8 05 35 22
51011-12-06 12 10 06 35 22
51011-14-06 14 10 06 35 22
51011-14-08 14 12 08 35.5 22
51011-16-06 16 10 06 35 22
51011-16-08 16 12 08 36 22
51011-16-10 16 16 10 36.5 22
51011-16-12 16 20 12 38 22
51011-18-12 18 20 12 40.5 24
51011-22-12 22 20 12 45 28
51011-22-14 22 22 14 45 28
51011-28-16 28 25 16 49 30
51011-34-20 34 32 20 53 88
51011-42-24 42 40 24 57 35

A RS T 2,405 T 95 AT B0 51012-Xx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is51012-xx-xx.

C-25
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

/—éﬂ;@mﬁ
[
/
T 51091
O
EirtER 90°TE
D) GB METRIC 90° STANDPIPE
X 5 BT HME D % % HOSE BORE X~ DIMENSIONS
PART NO. TUBE O.D. A A4E DN }r+'5 DASH A C H
51091-06-04 6 6 04 30.5 19 42.5
51091-06-06 6 10 06 35.3 19 47.8
51091-08-04 8 6 04 30 19 42.5
51091-08-05 8 8 05 33 19 455
51091-10-04 10 6 04 30 22 455
51091-10-06 10 10 06 35.3 22 50.8
51091-12-06 12 10 06 35.3 22 50.8
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 35.3 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 41 22 56
51091-16-10 16 16 10 56 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 71.2 28 77
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 109.4 35 113
e LRPRS TSI . 2.0 TS S A5 1509 51092-Xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 51092-xx-xx.

C-26
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

C
S2
N NL
[ NS
L ©
+EEE
RETAINING NUTS

NN

(A=) % £ THREAD | % ¥4M% TUBE O.D. JU sf  DIMENSIONS T Sy 2t sk
PART NO. E c | 4 [ s2 MPa
NL-12 | M12X1.5 6 145 6 | 14
NL-14 | M14X1.5 8 145 8 | 17
NL-16 | M16X1.5 10 155 | 10 | 19
NL-18 | M18X1.5 12 155 | 12 | 22
NL22 |M22x1.5 15 17 | 15 | 27
NL-26 | M26X1.5 18 18 | 18 | 32 %25
NL-30 | M30x2 22 20 | 22 | 36 L
NL-30D | M30X1.5 22 20 | 22 | 36
NL-36 | M36X2 28 21 | 28 | 41
NL-36D |M36X1.5 28 21 | 28 | 41
NL-45 | M45x2 35 24 | 35 | 50
NL-45D |M45X1.5 35 25 | 35 | 50
NL-52 | M52x2 42 24 | 42 | 60
NS-14 |M14X15 6 165 | 6 | 17
NS-16 | M16X1.5 8 165 | 8 | 19
NS-18 | M18X15 10 175 | 10 | 22
NS-20 | M20X15 12 175 | 12 | 24
NS-22 |M22X15 14 205 | 14 | 27 BRI
NS-24 | M24X15 16 205 | 16 | 30 S
NS-30 | M30x2 20 24 | 20 | 36
NS-36 | M36X2 25 27 | 25 | 46
NS-42 | M42x2 30 29 | 30 | 50
NS-52 | M52x2 38 325 | 38 | 60
Cc-27

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

RL

RS

£

CUTTING RING
g = ETHMED JU 5} DIMENSIONS % 1
PART NO. TUBE O.D. [ [ [ NOTE

RL-06 6
Et‘:i 180 5 TR BB 5
RL-12 12
RL-15 15 R
RL-18 18 L
RL-22 22
RL-28 28
RL-35 35
RL-42 42
RS-06 6
RS-08 8
RS-10 10
RS-12 12 ;
RS-14 14 A
RS-16 16 S
RS-20 20
RS-25 25
RS-30 30
RS-38 38

C-28

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

%Hmmmj

12211

REIMEL O LR E T
BSP MALE O-RING SEAL

R 5 B S E % HOSE BORE OJFH JU~} DIMENSIONS
PART NO. THREAD E RN DN br5 DASH O-RING A C S1
12211-04-04 G1/4"X19 6 04 0111 25 11 19
12211-04-06 G1/4"X19 10 06 0111 23.5 11 19
12211-06-06 G3/8"X19 10 06 0113 26 11.5 24
12211-08-04 G1/2"X14 6 04 0115 30 14 27
12211-08-06 G1/2"X14 10 06 0115 32 14 27
12211-08-08 G1/2"X14 12 08 0115 32.5 14 27
12211-10-10 G5/8"X14 16 10 0910 33 15.5 30
12211-12-10 G3/4"X14 16 10 0119 33 15.5 36
12211-12-12 G3/4"X14 20 12 0119 35.5 15.5 36
12211-12-16 G3/4"X14 25 16 0119 36.5 15.5 36
12211-16-16 G1"X11 25 16 0217 42.5 18 41
12211-20-20 G1.1/4"X11 32 20 0222 46 20 50
E: A ERACS T A . 2. g5 R AR S 20 1221 22060
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 12212-xx-xx.

A
C
s 1 12611
o0 gL
T HEIMEL 60° NHEE
St BSP MALE 60° CONE SEAT
R = % 4LE % %% HOSE BORE JU <} DIMENSIONS
PART NO. THREAD E AFrH4E DN [ #5'%5 DASH A C S1
12611-02-03 G1/8"X28 5 03 22 10 12
12611-04-04 G1/4"X19 6 04 24.5 12 14
12611-06-05 G3/8"X19 8 05 26 13.5 17
12611-06-06 G3/8"X19 10 06 26 13.5 17
12611-06-08 G3/8"X19 12 08 265 | 135 19
12611-08-06 G1/2"X14 10 06 30.5 16 22
12611-08-08 G1/2"X14 12 08 31 16 22
12611-10-08 G5/8"X14 12 08 325 | 175 24
12611-10-10 G5/8"X14 16 10 335 | 175 24
12611-12-08 G3/4"X14 12 08 355 | 185 27
12611-12-10 G3/4"X14 16 10 36.5 | 185 27
12611-12-12 G3/4"X14 20 12 36.5 | 185 27
12611-16-12 G1"X11 20 12 405 | 205 36
12611-16-16 G1"X11 25 16 415 | 205 36
12611-20-16 G1.1/4"X11 25 16 435 | 205 46
12611-20-20 G1.1/4"X11 32 20 465 | 205 46
12611-24-20 G.1/2"X11 32 20 49 23 50
12611-24-24 G.1/2"X11 40 24 49 23 50
12611-32-32 G2"X11 50 32 535 | 255 65
e 1 EIRCT T T AU 2.0 T g Ge A5 50 12612-Xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 12612-xx-xx.

C-29

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



KR

£ Standard hose fitting

60°| W

12611A

REIMRY 60° N HEE S ARk E

R A

A 2=

HRY AL

BSP MALE DOUBLE USE FOR 60°
CONE SEAT OR BONDED SEAL

5 2 4 E % & HOSE BORE K~ DIMENSIONS

PART NO. THREAD E AH A1 DN [ hs5 DASH A C S1
12611A-02-03 G1/8"X28 5 03 22 10 14
12611A-04-04 G1/4"X19 6 04 24.5 12 19
12611A-04-05 G1/4"X19 8 05 24.5 12 19
12611A-06-05 G3/8"X19 8 05 26 13.5 22
12611A-06-06 G3/8"X19 10 06 28 13.5 22
12611A-06-08 G3/8"X19 12 08 28.5 13.5 22
12611A-08-06 G1/2"X14 10 06 33 16 27
12611A-08-08 G1/2"X14 12 08 33 16 27
12611A-08-10 G1/2"X14 16 10 34 16 27
12611A-10-08 G5/8"X14 12 08 35 17.5 30
12611A-10-10 G5/8"X14 16 10 35.5 17.5 30
12611A-12-08 G3/4"X14 12 08 36.5 18.5 32
12611A-12-10 G3/4"X14 16 10 37.5 18.5 32
12611A-12-12 G3/4"X14 20 12 37.5 18.5 32
12611A-16-12 G1"X11 20 12 425 20.5 41
12611A-16-16 G1"X11 25 16 435 20.5 41
12611A-20-16 G1.1/4"X11 25 16 45.5 20.5 50
12611A-20-20 G1.1/4"X11 32 20 46.5 20.5 50
12611A-24-24 G.1/2"X11 40 24 49 23 55
12611A-32-32 G2"X11 50 32 54.5 25.5 70

e 1 RIS TR .
Note: 1.For use with braided hoses.

2.0 G AT AR S U 126 12A-xx-xX o

2.If use with spiral hoses, hose fitting series number is 12612A-xx-xx.

C-30

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

C A C A
7 S
«@k&u §$ ;’Ji
o ° |
60 (>I-UL — : 60° W,
32 —XS2
22611 22611-T 22611-W
HE RIS 60° IMEE
BSP FEMALE 60° CONE
= i W E #%_% HOSE BORE JU -~} DIMENSIONS
PART NO. THREADE | AFATEDN b5 DASH A C S2
22611-02-03 G1/8"X28 5 03 15 5.5 14
22611-02-04 G1/8"X28 6 04 15.5 B3 14
22611-04-03 G1/4"X19 5 03 17.5 5.5 19
22611-04-04 G1/4"X19 6 04 18 6.8 19
22611-04-05 G1/4"X19 8 05 18 5.5 19
22611-04-06 G1/4"X19 10 06 18 5.3 19
22611-06-04 G3/8"X19 6 04 19 6.3 22
22611-06-05 G3/8"X19 8 05 19 6.3 22
22611-06-06 G3/8"X19 10 06 19.5 6.3 22
22611-06-08 G3/8"X19 12 08 19.5 6.3 22
22611-08-06T G1/2"X14 10 06 18.5 7.5 27
22611-08-08 G1/2"X14 12 08 21.5 7.5 27
22611-10-08 G5/8"X14 12 08 22 9.5 30
22611-10-10 G5/8"X14 16 10 23 915 30
22611-12-08T G3/4"X14 12 08 20 10.9 32
22611-12-10 G3/4"X14 16 10 24 10.9 32
22611-12-12 G3/4"X14 20 12 23.5 10.9 32
22611-16-12T G1"X11 20 12 23 11.7 41
22611-16-14 G1"X11 22 14 26 11.7 41
22611-16-16 G1"X11 25 16 27 11.7 41
22611-20-16T G1.1/4"X11 25 16 27 11 50
22611-20-20W G1.1/4"X11 32 20 30.5 11 50
22611-24-20T G1.1/2"X11 32 20 29.5 13 55
22611-24-24W G1.1/2"X11 40 24 32 13 55
22611-32-24T G2"X11 40 24 30 16 70
22611-32-32W G2"X11 50 32 31 16 70
VE: 1R TSR 2. 0017 L TG4 AR Ty 2261 200K
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612-xx-xx.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

C-31



FrfEss Standard hose fitting

22611D

HKERNIZG 60° FMEMN A
BSP FEMALE 60° CONE DOUBLE HEXAGON

60°CLL| |

R = 1% 4 E # % HOSE BORE JUJ DIMENSIONS
PART NO. THREADE | AFN4:DN | #5%5 DASH A © S1 S2
22611D-04-04 G1/4"X19 6 04 23.5 55 19 19
22611D-06-06 G3/8"X19 10 06 26.5 6.3 22 22
22611D-08-08 G1/2"X14 12 08 31 7.5 27 27
22611D-10-08 G5/8"X14 12 08 31 9.5 30 30
22611D-12-08 G3/4"X14 12 08 315 10.9 32 32
22611D-12-12 G3/4"X14 20 12 33.5 10.9 32 32
22611D-16-16 G1"X11 25 16 355 11.7 41 41
22611D-20-20W | G1.1/4"X11 32 20 46 11 50 50
e A RPACSH TRV 2405 J TG A8 AR5 20 226 12D-Xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612D-xx-xx.

22611D-SM

60°CLUL :

HEMNIZL 60° IMEEN A
BSP FEMALE 60° CONE DOUBLE HEXAGON

5 3 4 E % % HOSE BORE JU <} DIMENSIONS
PART NO. THREADE | AFN4:DN | #55 DASH A © S1 S2
22611D-04-04SM | G1/4"X19 6 04 23.5 5.5 12 19
22611D-06-06SM | G3/8"X19 10 06 24.5 6.3 17 22
22611D-08-08SM| G1/2"X14 12 08 29 7.5 22 27
22611D-10-08SM| G5/8"X14 12 08 29 9.5 22 30
22611D-12-08SM | G3/4"X14 12 08 31.5 10.9 27 32
22611D-12-12SM | G3/4"X14 20 12 33.5 10.9 27 32
22611D-16-16SM G1"X11 25 16 35.5 11.7 32 41
22611D-20-20WSM| G1.1/4"X11 32 20 42 11 41 50

W ARPACS T MU . 24055 TR Ge AU 2 226 12D-xx-xxSM.
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612D-xx-xxSM.

C-32
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

22641-W 22641-T

45° JTEMNIZL 60° SMEME
45° BSP FEMALE 60° CONE

= B ZLE %% HOSE BORE JU -] DIMENSIONS
PART NO. THREAD E AP A1 DN #r*5 DASH A C H S2
22641-04-04 G1/4"X19 6 04 42.3 5.5 20.2 19
22641-06-04 G3/8"X19 6 04 43.2 6.3 21 22
22641-06-05 G3/8"X19 8 05 45.3 6.3 22 22
22641-06-06 G3/8"X19 10 06 46.9 6.3 22.6 22
22641-08-06T G1/2"X14 10 06 46.7 7.5 22.5 27
22641-08-08 G1/2"X14 12 08 61.1 7.5 26.1 27
22641-10-08 G5/8"X14 12 08 61.4 9.5 26.5 30
22641-10-10 G5/8"X14 16 10 72 9.5 27.8 30
22641-12-08T G3/4"X14 12 08 59.4 109 | 244 32
22641-12-10 G3/4"X14 16 10 73 109 | 28.2 32
22641-12-12 G3/4"X14 20 12 78.6 109 [ 31.8 32
22641-16-12T G1"X11 20 12 77.6 11.7 | 30.2 41
22641-16-16 G1"X11 25 16 88.4 11.7 | 34.2 41
22641-20-16T G1.1/4"X11 25 16 86.8 11 32.5 50
22641-20-20W G1.1/4"X11 32 20 98.8 11 38 50
22641-24-24W G1.1/2"X11 40 24 116.2 13 45.5 55
22641-32-32W G2"X11 50 32 135.7 16 52.7 70
W ARPACS TR . 24055 T 9RO A0S 2 2264 2-xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22642-xx-xx.

C-33
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

0

o 2 90° 3| RIZLL 60°5MET

22691 22691-W 22691-T °90°BSPFEMALE 60" CONE

R 5 = gLE ¥% % HOSE BORE K~} DIMENSIONS
PART NO. THREAD E AFRA1E DN t»'5 DASH A © H S2
22691-02-03 G1/8"X28 5 03 26.5 55 31.5 14
22691-02-04 G1/8"X28 6 04 30 5.5 34.5 14
22691-04-03 G1/4"X19 5 03 26.5 5.5 33.5 19
22691-04-04 G1/4"X19 6 04 30 55 36.5 19
22691-04-05 G1/4"X19 8 05 33 55 39.5 19
22691-04-06 G1/4"X19 10 06 30 55 36.5 19
22691-06-04 G3/8"X19 6 04 30 6.3 37.7 22
22691-06-05 G3/8"X19 8 05 g8 6.3 40.7 22
22691-06-06 G3/8"X19 10 06 35.3 6.3 43 22
22691-08-06T G1/2"X14 10 06 5.8 7 41.8 27
22691-08-08 G1/2"X14 12 08 41 7.5 51 27
22691-08-10 G1/2"X14 16 10 41.5 7.5 51 27
22691-10-08 G5/8"X14 12 08 41 9.5 51.5 30
22691-10-10 G5/8"X14 16 10 56 9.5 56 30
22691-12-08T G3/4"X14 12 08 41 10.9 48.6 32
22691-12-10 G3/4"X14 16 10 56 10.9 56.6 32
22691-12-12 G3/4"X14 20 12 64.9 10.9 66.1 32
22691-16-12T G1"X11 20 12 65.5 11.7 63.8 41
22691-16-14 G1"X11 22 14 71.2 11.7 69.3 41
22691-16-16 G1"X11 25 16 76.7 11.7 73.8 41
22691-20-16T G1.1/4"X11 25 16 76.7 11 72 50
22691-20-20W G1.1/4"X11 32 20 91.5 11 84.3 50
22691-24-24W G1.1/2"X11 40 24 109.4 13 103 55
22691-32-32W G2"X11 50 32 131.8 16 123.3 70
e LRPS TR . 2.1 FH T 2SR AR5 20 22692-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692-xx-xx.
A
&@
- 22691K
oy s2 o = . 5 .
>é 90° REEGNIEL 60° SMEME
60° 90° BSP COMPACT FEMALE 60° CONE
R = 2o E % % HOSE BORE J\ ~} DIMENSIONS

PART NO. THREAD E | AF M4 DN Fr'5 DASH A C H S1 S2
22691K-04-04 G1/4"X19 6 04 17.5 55 18.5 11 19
22691K-06-04 G3/8"X19 6 04 20 6.3 24 16 22
22691K-06-05 G3/8"X19 8 05 20 6.3 24 16 22
22691K-06-06 G3/8"X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/2"X14 10 06 23 7.5 28.5 19 27
22691K-08-08 G1/2"X14 12 08 235 7.5 28.5 19 27
22691K-10-10 G5/8"X14 16 10 24.5 9.5 30.5 22 30
22691K-12-12 G3/4"X14 20 12 27.5 10.9 88 27 32
22691K-16-16 G1"X11 25 16 43 1.7 38.5 33 41

e RS TR . 2. Il T RS AU S 0 22692K-xx-xx.
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692K-xx-xx.

C-34
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

C A
c A C A
= | N 1
(] 1 - i
«{ LRI
s2 ez
22111 22111W 22111-T
RENIZLEKE
BSP FEMALE MULTISEAL
R 5 % 4 E % % HOSE BORE JX <) DIMENSIONS
PART NO. THREAD E AREA{E DN b5 DASH A C S2
22111-02-04 G1/8"X28 6 04 19 2 14
22111-04-03 G1/4"X19 ) 03 19 4 19
22111-04-04 G1/4"X19 6 04 19.5 4 19
22111-06-05 G3/8"X19 8 05 20 ) 22
22111-06-06 G3/8"X19 10 06 20.5 5 22
22111-06-08 G3/8"X19 12 08 21 5 22
22111-08-06T G1/2"X14 10 06 20 6 27
22111-08-08 G1/2"X14 12 08 23 6 27
22111-08-10 G1/2"X14 16 10 23.5 6 27
22111-10-10 G5/8"X14 16 10 24 8 30
22111-10-12 G5/8"X14 20 12 25 8 30
22111-12-08T G3/4"X14 12 08 23 €5 32
22111-12-10 G3/4"X14 16 10 25.5 9.5 32
22111-12-12 G3/4"X14 20 12 26 9.5 32
22111-16-12T G1"X11 20 12 24.5 11 41
22111-16-14 G1"X11 22 14 26.5 11 41
22111-16-16 G1"X11 25 16 28 11 41
22111-20-16T G1.1/4"X11 25 16 28 11 50
22111-20-20W G1.1/4"X11 32 20 29.5 10 50
22111-24-24W G1.1/2"X11 40 24 37 11.5 55
22111-32-32W G2"X11 50 32 37 15 70
e ARG TRARE . 2.0 TR SR A S 50 221 12-X%-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22112-xx-xx.

=

22141

22141-T

22141-W
45° EE NIRLAEKE
45° BSP FEMALE MULTISEAL

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

(il 2 g E 4% HOSE BORE J< 5 DIMENSIONS
PART NO. THREAD E A Nfe DN hi= DASH A C H 52
22141-02-04 G1/8"X28 6 04 43.7 2 21.6 14
22141-04-03 G1/4"X19 5 03 413 4 20.4 19
22141-04-04 G1/4"X19 6 04 43.4 4 21.3 19
22141-06-05 G3/8"X19 8 05 46.2 5 22.9 22
22141-06-06 G3/8"X19 10 06 47.8 5 23.5 22
22141-06-08 G3/8"X19 12 08 60.4 5 25.4 22
22141-08-04T G1/2"X14 6 04 43.9 6 23.8 27
22141-08-06T G1/2"X14 10 06 42.5 6 18.2 27
22141-08-08 G1/2"X14 12 08 62.1 6 27.2 27
22141-08-10 G1/2"X14 16 10 73 6 29 27
22141-10-10 G5/8"X14 16 10 73.2 8 28.9 30
22141-10-12 G5/8"X14 20 12 79.8 8 325 30
22141-12-08T G3/4"X14 12 08 63.2 9.5 28.3 32
22141-12-10 G3/4"X14 16 10 70.4 9:5 29.6 32
22141-12-12 G3/4"X14 20 12 80 9.5 33.2 32
22141-16-12 G1"X11 20 12 81.6 11 33.5 41
22141-16-14 G1"X11 22 14 83.3 11 33 41
22141-16-16 G1"X11 25 16 89 11 34 41
22141-20-16T G1.1/4"X11 25 16 87 9.1 32.9 50
22141-20-20W G1.1/4"X11 32 20 99 10 38.4 50
22141-24-24W G1.1/2"X11 40 24 119.8 11.5 49 55
22141-32-32W G2"X11 50 32 138.4 15 56.2 70
e 1RSI T A SURTT 21 ] TRGEHR T R 5 250 221 42-xx%X -
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22142-xx-xx.
C-35




FrAEts Standard hose fitting

T T T
ord 0
22191 22191-T 22191-W
o i Sk S 0
90° HEWIRLIKE
90°BSP FEMALE MULTISEAL
(=) 7 4rE % ¥ HOSE BORE JU 5} DIMENSIONS
PART NO. THREAD E AFRALE DN br'5 DASH A C H S2
22191-02-04 G1/8"X28 6 04 30 2 38 14
22191-04-03 G1/4"X19 5 03 27 4 35 19
22191-04-04 G1/4"X19 6 04 30 4 38 19
22191-04-05 G1/4"X19 8 05 33 4 41.5 19
22191-06-05 G3/8"X19 8 05 33 5 42 22
22191-06-06 G3/8"X19 10 06 35.3 5 44.3 22
22191-06-08 G3/8"X19 12 08 41 5 50 22
22191-08-06T G1/2"X14 10 06 35.3 6 44.3 27
22191-08-08 G1/2"X14 12 08 41 6 52.5 27
22191-10-10 G5/8"X14 16 10 56 8 57.5 30
22191-10-12 G5/8"X14 20 12 65.5 8 67 30
22191-12-08T G3/4"X14 12 08 41 9.5 52 32
22191-12-10 G3/4"X14 16 10 56 9.5 58.5 32
22191-12-12 G3/4"X14 20 12 64.9 9.5 68 32
22191-16-12T G1"X11 20 12 65.5 11 65 41
22191-16-14 G1"X11 22 14 71.2 11 69.5 41
22191-16-16 G1"X11 25 16 77.5 11 735 41
22191-20-16T G1.1/4"X11 25 16 76.7 10 72 50
22191-20-20W G1.1/4"X11 32 20 91.5 10 85 50
22191-24-24W G1.1/2"X11 40 24 109.4 11.5 108 55
22191-32-32W G2"X11 50 32 131 15 128.3 70
e 1R TR . 2.5 T OR G AR5 3500 22192-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22192-xx-xx.
A
"t 13011-SP
|
HEE MR
ELJ BSPT MALE
5 I 4E %% HOSE BORE JUS] DIMENSIONS
PART NO. THREAD E NFEN4E DN kx5 DASH A C S1
13011-02-03SP R1/8"X28 5 03 22 12 12
13011-02-04SP R1/8"X28 6 04 22.5 10 12
13011-04-04SP R1/4"X19 6 04 27 14.5 14
13011-04-05SP R1/4"X19 8 05 27 14.5 14
13011-04-06SP R1/4"X19 10 06 27 14.5 17
13011-06-04SP R3/8"X19 6 04 27.5 15 17
13011-06-05SP R3/8"X19 8 05 27.5 15 17
13011-06-06SP R3/8"X19 10 06 27.5 15 17
13011-06-08SP R3/8"X19 12 08 28 15 19
13011-08-06SP R1/2"X14 10 06 34.5 20 22
13011-08-08SP R1/2"X14 12 08 35 20 22
13011-08-10SP R1/2"X14 16 10 35.5 20 22
13011-08-12SP R1/2"X14 20 12 38 20 27
13011-12-08SP R3/4"X14 12 08 37 20 27
13011-12-10SP R3/4"X14 16 10 38 20 27
13011-12-12SP R3/4"X14 20 12 38.5 20 27
13011-12-16SP R3/4"X14 25 16 40.5 20 32
13011-16-12SP R1"X11 20 12 43.5 25.5 36
13011-16-16SP R1"X11 25 16 45 25.5 36
13011-20-20SP R1.1/4"X11 32 20 49.5 26.5 46
13011-24-24SP R1.1/2"X11 40 24 52.5 26.5 50
13011-32-24SP R2"X11 40 24 57 30 65
13011-32-32SP R2"X11 50 32 57 30 65
e L ERACS T 2V . 2.0 H TG se s A 5 2O 13012-x%-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 13012-xx-xx.

C-36 YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

14211

EHORFSHMRL T HOR B H £
ORFS MALE O-RING SEAL
ISO 8434-3--SAE J1453

% = B S E # % HOSE BORE OF JX - DIMENSIONS

PART NO. THREAD E AR ATEDN [ hi'y DASH O-RING A B S1
14211-04-04 9/16"X18 6 04 0011 225 9.8 17
14211-06-04 11/16"X16 6 04 0012 24 11.2 19
14211-06-06 11/16"X16 10 06 0012 24 11.2 19
14211-08-06 13/16"X16 10 06 0014 275 13 22
14211-08-08 13/16"X16 12 08 0014 28.5 12.8 22
14211-08-10 13/16"X16 16 10 0014 285 12.8 22
14211-10-08 1"X14 12 08 0016 32.5 155 27
14211-10-10 1"X14 16 10 0016 335 15.5 27
14211-12-08 1.3/16"X12 12 08 0018 35.5 17 32
14211-12-10 1.3/16"X12 16 10 0018 36 17 32
14211-12-12 1.3/16"X12 20 12 0018 36.5 17 32
14211-16-12 1.7/16"X12 20 12 0021 37 17.5 38
14211-16-16 1.7/16"X12 25 16 0021 38.5 17.5 38
14211-20-20 111/16"X12 32 20 0025 415 175 46
14211-24-24 2'X12 40 24 0029 46.5 175 55

e 1 ERACS H T AVE
Note: 1.For use with braided hoses.

2.0 H T RS g A 5 U 1421 2-x%-XX
2.1f use with spiral hoses, hose fitting series number is 14212-xx-xx.

24291

24291W

90° £l ORFS MHZL @

90° ORFS FEMALE FLAT SEAT

ISO 12151-1--SAE J516

™ 5 H ZE iR HOSE BORE JU T DIMENSIONS
PART NO. THREAD E ~PEPAE DN b5 DASH A H © S2
24291-04-04 9/16"X18 6 04 30 41 8.5 19
24291-04-05 9/16"X18 8 05 33 44 8.5 19
24291-06-05T 11/16"X16 8 05 33 37.5 10 22
24291-06-06 11/16"X16 10 06 35.3 49.3 10 22
24291-06-08 11/16"X16 12 08 35.8 49.3 10 22
24291-08-06T 13/16"X16 10 06 8588 39.8 11 27
24291-08-08 13/16"X16 12 08 41 57.5 11 27
24291-08-10 13/16"X16 16 10 56.5 61.5 11 27
24291-10-08T 1"X14 12 08 41 46 135 30
24291-10-10 1"X14 16 10 56 66 135 30
24291-10-12 1"X14 20 12 65.5 75.5 135 30
24291-12-10T 1.3/16"X12 16 10 56 51.5 15 36
24291-12-12 1.3/16"X12 20 12 65.5 77 15 36
24291-12-16 1.3/16"X12 25 16 76.7 83.5 15 36
24291-16-12T 1.7/16"X12 20 12 65.5 62 14.8 41
24291-16-14T 1.7/16"X12 22 14 71.2 63 14.8 41
24291-16-16T 1.7/16"X12 25 16 76.9 67.5 14.8 41
24291-20-16T 1.11/16"X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/16"X12 32 20 93 100 15 50
24291-24-20T 2"X12 32 20 93 78.5 14.8 60
24291-24-24T 2"X12 40 24 109.4 92 14.8 60
Vi 1P AR 2,007 AT RGBT 5 24 4 24292-x0x-xx
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24292-xx-xx.
C-37

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




FrAEts Standard hose fitting

o] [

24211 24211-T 24211W

%% ORFS MUELFH
ORFS FEMALE FLAT SEAT
ISO 12151-1--SAE J516

R = 2 4L E # % HOSE BORE JU <} DIMENSIONS
PART NO. THREAD E AFrH4: DN | 5’5 DASH A © S2
24211-04-04 9/16"X18 6 04 22.5 8.5 19
24211-04-05 9/16"X18 8 05 22.5 8.5 19
24211-04-06 9/16"X18 10 06 22.5 8.5 19
24211-06-04T 11/16"X16 6 04 23.5 10 22
24211-06-05T 11/16"X16 8 05 23.5 10 22
24211-06-06 11/16"X16 10 06 25.5 10 22
24211-06-08 11/16"X16 12 08 26 10 22
24211-08-05T 13/16"X16 8 05 25 11 27
24211-08-06T 13/16"X16 10 06 25 11 27
24211-08-08 13/16"X16 12 08 28 11 27
24211-08-10 13/16"X16 16 10 29 11 27
24211-10-08T 1"X14 12 08 295 | 135 30
24211-10-10 1"X14 16 10 33 13.5 30
24211-10-12 1"X14 20 12 33,5 | 135 30
24211-12-08T 1.3/16"X12 12 08 30.5 15 36
24211-12-10T 1.3/16"X12 16 10 31.5 15 36
24211-12-12 1.3/16"X12 20 12 35 15 36
24211-12-16 1.3/16"X12 25 16 36 15 36
24211-16-12T 1.7/16"X12 20 12 35 14.8 41
24211-16-14T 1.7/16"X12 22 14 35 14.8 41
24211-16-16T 1.7/16"X12 25 16 35 14.8 41
24211-16-20 1.7/16"X12 32 20 39.5 | 14.8 41
24211-20-16T 1.11/16"X12 25 16 34.5 15 50
24211-20-20W 1.11/16"X12 32 20 42.5 15 50
24211-20-24W 1.11/16"X12 40 24 42.5 15 50
24211-24-20T 2"X12 32 20 36 14.8 60
24211-24-24T 2"X12 40 24 36 14.8 60

W ARSI . 2.0 T g Ge 8 AR5 50 2421 2-X%-XX 0

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 24212-xx-xx.

C-38
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



T Standard hose fitting

A
%
15611
AN ]
THEE IMRLL
E <51 NPT MALE
5 2 4 E % % HOSE BORE JU <t DIMENSIONS

PART NO. THREAD E AN DN Fr'5 DASH A C S1
15611-02-03 Z21/8"X27 5 03 21.5 10.5 12
15611-02-04 Z1/8"X27 6 04 22.5 10.5 12
15611-04-03 Z1/4"X18 5 03 27 15 17
15611-04-04 Z1/4"X18 6 04 28 jii5) 17
15611-04-05 Z1/4"X18 8 05 28 15 17
15611-04-06 Z1/4"X18 10 06 27.5 15 17
15611-06-04 Z3/8"X18 6 04 29 16 19
15611-06-05 Z3/8"X18 8 05 28 16 jilS)
15611-06-06 Z3/8"X18 10 06 29 16 19
15611-06-08 Z3/8"X18 12 08 30.5 16 19
15611-08-06 Z1/2"X14 10 06 34 19.5 22
15611-08-08 Z1/2"X14 12 08 34.5 19 22
15611-08-10 Z1/2"X14 16 10 35.5 19.5 22
15611-12-08 Z3/4"X14 12 08 37.5 19.5 27
15611-12-10 Z3/4"X14 16 10 37.5 19.5 27
15611-12-12 Z3/4"X14 20 12 38.5 19.5 27
15611-12-16 Z3/4"X14 25 16 39.5 20 32
15611-16-10 Z1"X11.5 16 10 45 25.5 36
15611-16-12 Z1"X11.5 20 12 45 25.5 36
15611-16-16 Z1"X11.5 25 16 46.5 25.5 36
15611-20-16 Z1.1/4"X11.5 25 16 49.5 26.5 46
15611-20-20 Z1.1/4"X11.5 32 20 50.5 26.5 46
15611-24-24 Z1.1/2"X11.5 40 24 51 26 50
15611-32-32 Z2"X11.5 50 32 55 27.5 65

e A BT T U 2.5 H T 95 A0S B 15612-xx-xx
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 15612-xx-xx.

T

16011

£ SAE SMZL T O 2B
SAE O-RING MALE
ISO 11962-SAE J1926

R = 2 4L E # %% HOSE BORE O i JX I DIMENSIONS
PART NO. THREAD E AFA4E DN b5'5 DASH | O RING A € S1
16011-04-04 7/16"X20 6 04 0904 21.5 9.1 14
16011-05-04 1/2"X20 6 04 0905 21.5 9.1 17
16011-06-05 9/16"X18 8 05 0906 22.5 9.9 17
16011-06-06 9/16"X18 10 06 0906 22.5 9.9 17
16011-08-06 3/4"X16 10 06 0908 23.5 11.1 22
16011-08-08 3/4"X16 12 08 0908 24 11.1 22
16011-10-08 7/8"X14 12 08 0910 30 12.7 27
16011-10-10 7/8"X14 16 10 0910 31 12.7 27
16011-12-10 1.1/16"X12 16 10 0912 34.5 15.1 32
16011-12-12 1.1/16"X12 20 12 0912 34 15.1 32
16011-16-16 1.5/16"X12 25 16 0916 36 15.1 38
s AL IR S TS 24175 FH TSR 1 5 04 1601 203X
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 16012-xx-xx.

C-39

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEts Standard hose fitting

m<>>m

== N

T

16711

X4 JIC HMRGL 74° SMfETE

S1
JIC MALE 74° CONE
ISO 8434-2——SAE J514
£ 9 B ZLE % % HOSE BORE JU 5} DIMENSIONS

PART NO. THREAD E AWRHNAE DN b+ DASH A © S1
16711-04-03 7/16"X20 5 03 26 14 12
16711-04-04 7/16"X20 6 04 26.5 14 12
16711-05-04 1/2"X20 6 04 26.5 14 14
16711-05-05 1/2"X20 8 05 26.5 14 14
16711-05-06 1/2"X20 10 06 26.5 14 17
16711-06-04 9/16"X18 6 04 26.5 14.1 17
16711-06-05 9/16"X18 8 05 26.5 14.1 17
16711-06-06 9/16"X18 10 06 26.5 14.1 17
16711-08-06 3/4"X16 10 06 31.5 16.7 22
16711-08-08 3/4"X16 12 08 32 16.7 22
16711-10-06 7/8"X14 10 06 33.5 19.3 24
16711-10-08 7/8"X14 12 08 34 19.3 24
16711-10-10 7/8"X14 16 10 35 19.3 24
16711-12-08 1.1/16"X12 12 08 38.5 21.9 30
16711-12-10 1.1/16"X12 16 10 39.5 21.9 30
16711-12-12 1.1/16"X12 20 12 40 21.9 30
16711-12-16 1.1/16"X12 25 16 42.5 21.9 30
16711-14-10 1.3/16"X12 16 10 415 22.6 32
16711-14-12 1.3/16"X12 20 12 40.5 22.6 32
16711-16-12 1.5/16"X12 20 12 43 23.1 36
16711-16-16 1.5/16"X12 25 16 43.5 23.1 36
16711-20-16 1.5/8"X12 25 16 47 24.3 46
16711-20-20 1.5/8"X12 32 20 47 24.3 46
16711-24-20 1.7/8"X12 32 20 58 27.5 50
16711-24-24 1.7/8"X12 40 24 53 27.5 50
16711-32-32 2.1/2"X12 50 32 62 33.9 65

ba st M e Y Ave =y E IR TG 8 2.0t TSI AR5 0N 167 12-Xx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 167 12-xx-xx.

C-40

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

e D 16711L
S T |

EH JIC HMEL 74° SMETE
. JIC MALE 74° CONE
£ 5 2 g E % % HOSE BORE R~} DIMENSIONS

PART NO. THREAD E AHPI4E DN ¥r5 DASH A C S1
16711L-04-04 7/16"X20 6 04 45 | 325 | 17
16711L-05-04 1/2"X20 6 04 43 | 305 | 19
16711L-05-05 1/2"X20 8 05 43 | 305 | 19
16711L-06-04 9/16"X18 6 04 47 | 325 | 22
16711L-06-05 9/16"X18 8 05 47 | 325 | 22
16711L-06-06 9/16"X18 10 06 47 | 325 | 22
16711L-08-06 3/4"X16 10 06 51 365 | 24
16711L-08-08 3/4"X16 12 08 515 | 365 | 24
16711L-10-06 7/8"X14 10 06 56.5 | 40 30
16711L-10-08 7/8"X14 12 08 57 40 30
16711L-10-10 7/8"X14 16 10 58 40 30
16711L-12-08 1.1/16"X12 12 08 635 | 445 | 36
16711L-12-10 1.1/16"X12 16 10 64 | 445 | 36
16711L-12-12 1.1/16"X12 20 12 645 | 445 | 36
16711L-16-12 1.5/16"X12 20 12 66 | 445 | 41
16711L-16-16 1.5/16"X12 25 16 67 | 445 | 41
16711L-20-16 1.5/8"X12 25 16 705 | 45.7 | 50
16711L-20-20 1.5/8"X12 32 20 712 | 45.7 | 50
16711L-24-20 1.7/8"X12 32 20 715 | 46 55
16711L-24-24 1.7/8"X12 40 24 715 | 46 55

C-41
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

X JIC WIE4r 74° NEEE
JIC FEMALE 74° CONE SEAT
26711 26711-T SAE J514

RS 24 E & % HOSE BORE )\ s} DIMENSIONS
PART NO. THREAD E AP ALE DN br'5 DASH A C S2
26711-04-03 7/16"X20 5 03 14 9 15
26711-04-04 7/16"X20 6 04 15 9 15
26711-05-04 1/2"X20 6 04 15.5 9.5 17
26711-05-05 1/2"X20 8 05 515/ 9I5 17
26711-05-06 1/2"X20 10 06 15.5 9.5 17
26711-06-04 9/16"X18 6 04 15.5 10.5 19
26711-06-05 9/16"X18 8 05 15.5 10.5 19
26711-06-06 9/16"X18 10 06 15.5 10.5 19
26711-06-08 9/16"X18 12 08 16 10.5 19
26711-08-06 3/4"X16 10 06 17.5 11 24
26711-08-08 3/4"X16 12 08 18.5 11 24
26711-08-10 3/4"X16 16 10 19 11 24
26711-10-08 7/8"X14 12 08 19 13 27
26711-10-10 7/8"X14 16 10 Tes 13 27
26711-10-12 7/8"X14 20 12 20 13 27
26711-12-08T 1.1/16"X12 12 08 1915 15 32
26711-12-10 1.1/16"X12 16 10 21 15 32
26711-12-12 1.1/16"X12 20 12 21.5 15 32
26711-12-16 1.1/16"X12 25 16 23 15 32
26711-14-12 1.3/16"X12 20 12 215 15 36
26711-16-12T 1.5/16"X12 20 12 18.5 16 41
26711-16-16 1.5/16"X12 25 16 23 16 41
26711-16-20 1.5/16"X12 32 20 24 16 41
26711-20-16T 1.5/8"X12 25 16 23 17 50
26711-20-20W 1.5/8"X12 32 20 25 17 50
26711-24-20W 1.7/8"X12 32 20 26.5 20 55
26711-24-24W 1.7/8"X12 40 24 27 20 55
26711-32-24T 2.1/2"X12 40 24 27 23.5 75
26711-32-32T 2.1/2"X12 50 32 27 23.5 75
e RS TSR . 2.7 T T 95 AT AR 5 80 267 12-xx-xx
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 267 12-xx-xx.

C-42
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



T Standard hose fitting

45° 354l JIC RS 74° NEME C
26741 26741W 45° JIC FEMALE 74° CONE SEAT
5 B 4E i HOSE BORE JUsI DIMENSIONS
PART NO. THREAD E ~FRA 4R DN Fr'5 DASH A C H S2
26741-04-03 7/16"X20 5 03 32.7 9 12.2 15
26741-04-04 7/16"X20 6 04 35.2 9 13.1 15
26741-05-04 1/2"X20 6 04 35.6 9.5 13.5 17
26741-05-05 1/2"X20 8 05 37.7 9.5 14.4 17
26741-05-06 1/2"X20 10 06 37.7 9.5 14.4 17
26741-06-04 9/16"X18 6 04 356 | 10.5 | 13.5 19
26741-06-05 9/16"X18 8 05 37.7 | 105 | 144 19
26741-06-06 9/16"X18 10 06 38.8 | 10.5 | 14.8 19
26741-06-08 9/16"X18 12 08 39.3 | 105 | 14.8 19
26741-08-06 3/4"X16 10 06 40.2 11 16.2 24
26741-08-08 3/4"X16 12 08 45.3 11 19 24
26741-10-08 7/8"X14 12 08 46.3 13 20 27
26741-10-10 7/8"X14 16 10 54.1 13 21.8 27
26741-10-12 7/8"X14 20 12 58.6 13 21.8 27
26741-12-08 1.1/16"X12 12 08 50.4 15 211 32
26741-12-10 1.1/16"X12 16 10 55.1 15 22.8 32
26741-12-12 1.1/16"X12 20 12 59.3 15 24.2 32
26741-12-16 1.1/16"X12 25 16 70.3 15 242 32
26741-14-12 1.3/16"X12 20 12 60.1 15 242 36
26741-16-12 1.5/16"X12 20 12 60.1 16 24.2 41
26741-16-16 1.5/16"X12 25 16 73.5 16 28 41
26741-16-20 1.5/16"X12 32 20 83.5 16 28 41
26741-20-20W 1.5/8"X12 32 20 85.6 17 34.8 50
26741-24-20W 1.7/8"X12 32 20 86.6 20 35.9 55
26741-24-24W 1.7/8"X12 40 24 114.8 | 20 44 1 55
26741-32-32W 2.1/2"X12 50 32 1359 | 235 | 51.6 75
e RS TR . 240505 TR Ge s A0S 2 267 42-xx-xX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26742-xx-xx.

C-43
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEts Standard hose fitting

T
o
74° . .
90° £l JIC MERL 74° MM
26791 26791W 90° JIC FEMALE 74° CONE SEAT
(= g @E # % HOSE BORE JU 5) DIMENSIONS
PART NO. THREAD E AFRAAE DN br'% DASH A C H S2
26791-04-03 7/16"X20 5 03 26.5 9 23.5 15
26791-04-04 7/16"X20 6 04 30 g 26.5 15
26791-05-04 1/2"X20 6 04 30 9.5 27 17
26791-05-05 1/2"X20 8 05 33 9.8 30 17
26791-05-06 1/2"X20 10 06 33 9.5 30 17
26791-06-04 9/16"X18 6 04 30 10.5 27 19
26791-06-05 9/16"X18 8 05 33 10.5 30 19
26791-06-06 9/16"X18 10 06 345 | 10.5 | 31.5 19
26791-06-08 9/16"X18 12 08 38 10.5 | 31.5 19
26791-08-06 3/4"X16 10 06 34.5 11 33.5 24
26791-08-08 3/4"X16 12 08 39.5 11 40 24
26791-08-10 3/4"X16 16 10 45.5 11 40 24
26791-10-08 7/8"X14 12 08 39.5 13 41.5 27
26791-10-10 7/8"X14 16 10 49 13 47.5 27
26791-10-12 7/8"X14 20 12 53.5 13 47.5 27
26791-12-08 1.1/16"X12 12 08 43.5 15 43 32
26791-12-10 1.1/16"X12 16 10 49 15 49 32
26791-12-12 1.1/16"X12 20 12 54.5 15 53.5 32
26791-12-16 1.1/16"X12 25 16 65.5 15 53.5 32
26791-14-12 1.3/16"X12 20 12 5553 15 53.5 36
26791-16-12 1.5/16"X12 20 12 55.3 16 535 | 41
26791-16-16 1.5/16"X12 25 16 71 16 65 41
26791-16-20 1.5/16"X12 32 20 81 16 65 41
26791-20-20W 1.5/8"X12 32 20 81.5 17 80 50
26791-24-20W 1.7/8"X12 32 20 81.5 20 81.5 55
26791-24-24W 1.7/8"X12 40 24 1094 | 20 94 55
26791-32-32W 2.1/2"X12 50 32 133.1| 23.5 | 121.8| 75
T RS T AR 2. 1t S O AT U 267 92-x%-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26792-xx-xx.

C-44
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

26791K

90° E£HI3E 5 JIC FNIRL 74° NHEE

90° JIC COMPACT FEMALE 74° CONE SEAT

SAE J514
R 5 B4 E % % HOSE BORE JX <} DIMENSIONS
PART NO. THREAD E | AFkA1E DN ¥r*5 DASH A C H S1 S2
26791K-04-04 7/16"X20 6 04 17.5 9 18 11 15
26791K-06-04 9/16"X18 6 04 20 10.5 20.5 14 19
26791K-06-06 9/16"X18 10 06 20 10.5 20.5 16 19
26791K-08-06 3/4"X16 10 06 23 11 25 19 24
26791K-08-08 3/4"X16 12 08 23.5 11 25 22 24
26791K-10-08 7/8"X14 12 08 25 13 27 22 27
26791K-10-10 7/8"X14 16 10 25 13 27 22 27
26791K-12-12 1.1/16"X12 20 12 29 15 31 27 32
26791K-16-16 1.5/16"X12 25 16 43 16 34.3 33 41
E: ARG T WA . 2. 40t F T 58 O A0S B 267 92K-xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26792K-xx-xx.
A
90°<>'-“ J - Iﬂ:lﬂﬂ[ﬂj SE il SAE SMZL 90° SMEME
w SAE MALE 90° CONE
= SAE J513
R 5 B4 E % 4 HOSE BORE JU <} DIMENSIONS
PART NO. THREAD E ~HP4E DN b5~ DASH A C S1
17811-04-04 7/16"X20 6 04 25.5 12.7 12
17811-05-05 1/2"X20 8 05 27 14.2 14
17811-06-06 5/8"X18 10 06 28.5 15.7 17
17811-08-08 3/4"X16 12 08 34 19 22
17811-10-10 7/8"X14 16 10 38.5 22.4 24
17811-12-12 1.1/16"X14 20 12 44 254 30
e LRPACTH T @A . 2.4t F TS O AT EO 1781 2-Xx-x0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 17812-xx-xx.
C-45

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




FrfEss Standard hose fitting

C_A

27811
%7 ZZ 27272
90° |- ]U]]L‘Imj £l SAE W24 90° AT
SAE FEMALE 90° CONE SEAT
S2 SAE J513
5 R 4 E % % HOSE BORE J s} DIMENSIONS
PART NO. THREAD E AREPAE DN | kiS5 DASH A © S2
27811-04-03 7/16"X20 5 03 14 9 15
27811-04-04 7/16"X20 6 04 15 9 15
27811-05-05 1/2"X20 8 05 155 | 9.5 17
27811-06-04 5/8"X18 6 04 17 11.3 22
27811-06-05 5/8"X18 8 05 17 11.3 22
27811-06-06 5/8"X18 10 06 17 11.3 22
27811-08-08 3/4"X16 12 08 18 11 24
27811-10-08 7/8"X14 12 08 18.5 13 27
27811-10-10 7/8"X14 16 10 19.5 13 27
27811-12-12 1.1/16"X14 20 12 215 | 143 32
e LRFACT T . 2.0 TS OE AR S U 27812-Xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 27812-xx-xx.

21611

ZE4) NPSM HE247 60° SMEE
NPSM FEMALE 60° CONE
SAE J514

5 I® 4E # % HOSE BORE JU s} DIMENSIONS
PART NO. THREAD E AFEAAE DN 55 DASH A B S2
21611-04-04 1/4"X18 6 04 18 4.6 19
21611-04-06 1/4"X18 10 06 19 4.6 19
21611-06-04 3/8"X18 6 04 19 6 22
21611-06-05 3/8"X18 8 05 19 6 22
21611-06-06 3/8"X18 10 06 19 6 22
21611-08-08 1/2"X14 12 08 21.5 7.5 27
21611-12-10 3/4"X14 16 10 24 8.9 32
21611-12-12 3/4"X14 20 12 24 8.9 32
21611-16-12T 1"X11.5 20 12 25 10.5 41
21611-16-16 1"X11.5 25 16 27 10.5 41
21611-20-20W 1.1/4"X11.5 32 20 29.5 11.2 50
21611-24-24W 1.1/2"X11.5 40 24 29.5 11.2 55
e ARSI T U . 2.4t F T 95 O AT 2 2161 2-Xx-xX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 21612-xx-xx.

C-46

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

A
L
] 87311
A .
o/ fla j]]]]]ﬂ]]ﬁ SAE 3% 3000 PSI
_L SAE FLANGE 3000 PSI
ISO 12151-3--SAE J516
£ 5 MY % 4 HOSE BORE JR <} DIMENSIONS
PART NO. FLANGE SIZE | A%kHN1: DN | #5'5 DASH A © D L
87311-08-08 1/2" 12 08 46 30.2 24 6.73
87311-12-08 3/4" 12 08 47 38.1 31.7 | 6.73
87311-12-10 3/4" 16 10 47.5 38.1 31.7 | 6.73
87311-12-12 3/4" 20 12 48 38.1 31.7 | 6.73
87311-12-16 3/4" 25 16 49 38.1 31.7 | 6.73
87311-16-12 1" 20 12 51 44 .4 38 8
87311-16-16 1" 25 16 52 44 .4 38 8
87311-16-20 1" 32 20 53 44 .4 38 8
87311-20-16 1.1/4" 25 16 57 50.8 43 8
87311-20-20 1.1/4" 32 20 58 50.8 43 8
87311-24-20 1.1/2" 32 20 68 60.3 50 8
87311-24-24 1.1/2" 40 24 68 60.3 50 8
87311-32-24 2" 40 24 70 71.4 62 9.53
87311-32-32 2" 50 32 70 71.4 62 9.53
87311-40-40 2.1/2" 64 40 76 84.1 74 9.53
e ARPASH TR . 2.5 Fl T 958 AU S U0k 8731 2-xx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87312-xx-xx.
A
j—— 87341
N 7
I< o) 45° SAE ;%= 3000 PSI
o) 45° SAE FLANGE 3000 PSI
\/ ISO 12151-3--SAE J516
IAVE=2 DRI e % % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | A# N1t DN | #5'5 DASH A © D H L
87341-08-08 1/2" 12 08 58.2 130.2 | 24 |23.3|6.73
87341-12-08 3/4" 12 08 58.9 1381 [ 317 | 24 [6.73
87341-12-10 3/4" 16 10 69.6 | 38.1 | 31.7 | 25.3 | 6.73
87341-12-12 3/4" 20 12 76.3 1381 | 31.7 | 28.9 | 6.73
87341-16-12 1" 20 12 763|444 | 38 | 289 | 8
87341-16-16 1" 25 16 839|444 | 38 | 29.7| 8
87341-16-20 1" 32 20 945|444 38 |338 | 8
87341-20-16 1.1/4" 25 16 85.2 1508 | 43 | 29.7| 8
87341-20-20 1.1/4" 32 20 9451508 43 |33.8( 8
87341-24-20 1.1/2" 32 20 9591603 | 50 |352( 8
87341-24-24 1.1/2" 40 24 109.91 60.3 | 50 | 39.1 8
87341-32-24 2" 40 24 109.9( 714 [ 62 | 39.1 | 9.53
87341-32-32 2" 50 32 1293|714 | 62 | 46.3 | 9.53
e ARPACS TP . 2.4 TG AU S Uk 87342-xx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87342-xx-xx.
C-47

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R

£ Standard hose fitting

87391

90° SAE 7%= 3000 PSI

90° SAE FLANGE 3000 PSI

ISO 12151-3--SAE J516

1 = BEERE % % HOSE BORE JU <] DIMENSIONS
PART NO. FLANGE SIZE | A® A% DN | %55 DASH A Cc D H L
87391-08-08 1/2" 12 08 41 1302 | 24 47 |1 6.73
87391-12-08 3/4" 12 08 41 | 381|317 | 48 | 6.73
87391-12-10 3/4" 16 10 56 [ 38.1| 31.7 | 52.5 | 6.73
87391-12-12 3/4" 20 12 66.2 | 38.1 [ 31.7 | 62 | 6.73
87391-12-16 3/4" 25 16 76.7 | 38.1 [ 31.7 | 675 | 6.73
87391-16-12 1" 20 12 65.5 | 444 | 38 62 8
87391-16-16 1" 25 16 76.7 | 444 | 38 | 675 8
87391-16-20 1" 32 20 915|444 | 38 | 785 8
87391-20-16 1.1/4" 25 16 76.7 | 50.8 | 43 | 67.5 8
87391-20-20 1.1/4" 32 20 91.5| 50.8 | 43 | 785 8
87391-20-24 1.1/4" 40 24 107 | 50.8 [ 43 | 78.5 8
87391-24-20 1.1/2" 32 20 915|603 | 50 | 80.5 8
87391-24-24 1.1/2" 40 24 109.4]| 60.3 | 50 94 8
87391-32-24 2" 40 24 109.4| 714 | 62 94 | 9.53
87391-32-32 2" 50 32 131.8| 714 | 62 [114.3] 9.53
87391-40-32 2.1/2" 50 32 131.8| 84.1 | 74 [116.3| 9.53
e ARPAS TP . 2.0 T g Ge 8 AR5 50 87392-xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87392-xx-xx.
T 87391-H
=i 90° SAE 7%= 3000 PSI
90° SAE FLANGE 3000 PSI
= =R # % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | A#N4: DN |br 5 DASH A Cc D H L
87391-12-12(H90) 3/4" 20 12 65.5 | 38.1 32 90 | 6.73
87391-12-12(H100) 3/4" 20 12 65.5 | 38.1 32 100 | 6.73
87391-12-12(H127) 3/4" 20 12 65.5 | 38.1 32 127 | 6.73
87391-12-12(H150) 3/4" 20 12 65.5 | 38.1 32 150 | 6.73
87391-16-16(H100) 1" 25 16 76.7 | 44.4 38 100 8
87391-16-16(H127) 1" 25 16 76.7 | 44.4 38 127 8
87391-16-16(H150) 1" 25 16 76.7 | 44.4 38 150 8
87391-20-20(H100) 1.1/4" 32 20 91.5 | 50.8 43 100 8
87391-20-20(H127) 1.1/4" 32 20 91.5 | 50.8 43 127 8
87391-20-20(H150) 1.1/4" 32 20 91.5 | 50.8 43 150 8
87391-24-24(H127) 1.1/2" 40 24 109.4 | 60.3 50 127 8

C-48

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




T Standard hose fitting

h
FL
FS
SAE MFE=K
SAE SPLIT FLANGE CLAMP
5 LA )X DIMENSIONS L | D
PART NO.  |FLANGE SIZE Al B ] d]hn | M ][N ik MPa
3000PS|
FL-08 1/2" 54 | 45.6 9 6.2 | 381 [ 175 | m8x25
FL-12 3/4" 65 [51.8 | 1 6.2 | 476 [ 222 [M10X30 | 34.5
FL-16 1" 70 [584 | 11 75 | 524 [ 26.2 [M10X30
FL-20 1.1/4" 79 | 726 | 11 75 | 587 [ 302 |[mM10x30 [ 27.6
FL-24 1.1/2" 94 |822 [ 135 | 7.5 |699 | 357 |M12X35[ .
FL-32 2" 102 | 964 [ 135 | 9 | 778 [ 429 [M12X35 '
FL-40 2.1/2" 114 |1082 [ 135 | 9 | 889 [50.8 [M12x40 ]| 17.2
FL-48 3" 135 [130.6 | 175 | 9 [106.4 [ 61.9 [M16X50 | 13.8
6000PS|
FS-08 12" 56 | 47.2 9 72 | 405 [ 182 | M8X30
FS-12 3/4" 71 60 11 82 | 508 [ 23.8 [M10X35
FS-16 1" 81 [69.6 | 135 | 9 [57.2 | 27.8 |[M12X45 42
FS-20 1.1/4" 95 [772 | 135 | 9.8 [ 66.6 | 31.8 |M12X45
FS-24 1.1/2" 113 | 95 [ 175 | 12 | 793 [ 365 [M16X55
FS-32 2" 133 [113.8 | 22 12 | 96.8 | 44.5 [M20X70
A
L
87611
-
ol Lla =] SAE 3% 6000 PSI
| 1T SAE FLANGE 6000 PSI
ISO 12151-3--SAE J516
5 PRk #% & HOSE BORE U~ DIMENSIONS
PART NO. FLANGE SIZE | A% /42 DN |4 5 DASH A C D L
87611-08-08 172" 12 08 47 | 317 | 24 | 7.75
87611-12-10 3/4" 16 10 50.5| 41.3 | 32 | 8.76
87611-12-12 3/4" 20 12 51 | 41.3 | 32 | 8.76
87611-16-12 1" 20 12 56 | 47.6 | 38 | 9.53
87611-16-16 1" 25 16 57 | 476 | 38 | 9.53
87611-16-20 1" 32 20 61 | 476 | 38 | 9.53
87611-20-16 1.1/4" 25 16 65 | 54 | 44 [10.29
87611-20-20 1.1/4" 32 20 66 | 54 | 44 [10.29
87611-24-20 1.1/72" 32 20 75 | 63.5| 51 [12.57
87611-24-24 1.1/2" 40 24 75 | 63.5| 51 [12.57
87611-32-24 2" 40 24 85 | 79.4 | 67 [12.57
87611-32-32 2" 50 32 85 | 79.4 | 67 [12.57
e ARPACS T MUK . 2.0 T g Ge 8 AR5 5 87612-xX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87612-xx-xx.
C-49

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrAEts Standard hose fitting

A )
N ,/,/ o N e
= e 45° SAE 3£ 6000 PSI
> 45° SAE FLANGE 6000 PS|
\/ ISO 12151-3--SAE J516
£ 5 il % % HOSE BORE R~ DIMENSIONS
PARTNO. | FLANGE SIZE|[ A%m# DN [k = DASH Al c] bp]H L
87641-08-08 172" 12 08 589 | 31.7 24 24 7.75
87641-08-12 1/2" 20 12 77 31.7 24 296 | 7.75
87641-12-10 3/4" 16 10 725 | 41.3 32 28.2 8.76
87641-12-12 3/4" 20 12 79.2 | 41.3 32 31.8 | 8.76
87641-16-16 1" 25 16 88.9 1| 47.6 38 34.7 | 9.53
87641-20-20 1.1/4" 32 20 102.3] 54 44 415 | 10.29
87641-24-20 1.1/2" 32 20 105.8| 63.5 51 451 | 12.57
87641-24-24 1.1/2" 40 24 119.8| 63.5 51 49 12.57
87641-32-24 2" 40 24 12541 79.4 67 547 | 12.57
87641-32-32 2" 50 32 144.8| 79.4 67 61.9 | 12.57

W 1L ERPRSH TR
Note: 1.For use with braided hoses.

2,005 FH TS 5 AR 5 2 8764 2-XX-XX o

2.1f use with spiral hoses, hose fitting series number is 87642-xx-xx.

87691
T
90° SAE 7%= 6000 PSI
aT] 90° SAE FLANGE 6000 PSI
ISO 12151-3--SAE J516
&5 LA # 4 HOSE BORE JU 5} DIMENSIONS
PART NO. FLANGE SIZE | A#: /442 DN _|#5 ‘5 DASH A cC| D H L
87691-08-08 1/2" 12 08 41 [31.7| 24 | 48 | 7.75
87691-12-10 3/4" 16 10 56 [41.3| 32 | 56.5| 8.76
87691-12-12 3/4" 20 12 65.5 [41.3| 32 | 66 | 8.76
87691-16-12 1" 20 12 65.5 [ 47.6| 38 | 69 | 9.53
87691-16-16 1" 25 16 76.7 | 47.6| 38 | 74.5| 9.53
87691-16-20 1" 32 20 915 [47.6| 38 | 855 | 9.53
87691-20-16 1.1/4" 25 16 76.7 | 54 | 44 | 78.5]10.29
87691-20-20 1.1/4" 32 20 915 | 54 | 44 | 89.5]10.29
87691-24-20 1.1/2" 32 20 915 | 63.5| 51 | 94.5 1257
87691-24-24 1.1/2" 40 24 109.4 | 63.5| 51 | 108 | 12.57
87691-32-24 2" 40 24 109.4 | 79.4| 67 | 116 [12.57
87691-32-32 2" 50 32 131.879.4 | 67 | 136.3]12.57

W 1L ERPRSH T wmA .
Note: 1.For use with braided hoses.

2. 00 TG AAR 5 5O 87692-XX-XXo

2.1f use with spiral hoses, hose fitting series number is 87692-xx-xx.

C-50

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

2l
L 60{

18611

H A I SMRLL 60° S EE

B S1 JIS METRIC MALE 60° CONE SEAT
R = 3?4 E % % HOSE BORE JU <} DIMENSIONS
PART NO. THREAD E | 2AFW1: DN | #r'5 DASH A B S1
18611-14-04 M14X1.5 6 04 295 17 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 M16X1.5 10 06 30.5 18 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 8515 20 24
18611-24-10 M24X1.5 16 10 39.5 21.5 27
18611-30-12 M30X1.5 20 12 45.5 26 32
18611-33-16 M33X1.5 25 16 50.5 30 36
18611-36-20 M36X1.5 32 20 56.5 33 41
18611-42-24 M42X1.5 40 24 59.5 36 46
Ve 1 RS T R 2401505 T 9 G AR S 250 1861 2-xx-XX 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 18612-xx-xx.
C_A
ST o~
50° L{ , olw LT | Eraunm
© 60° A HEmE
S2/ ﬂ JIS METRIC FEMALE
28611-W 60° CONE SEAT
= 2 4 E #% ‘% HOSE BORE | JU 5} DIMENSIONS
PART NO. THREAD E AFRNAE DN ¥r's DASH A C S 1 S2
28611-12-04 M12X1.5 6 04 20 9 17 17
28611-14-04W M14X1.5 6 04 23 10.5 17 19
28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611-18-06 M18X1.5 10 06 24 11.5 24 24
28611-18-08 M18X1.5 12 08 24.5 11.5 24 24
28611-20-08 M20X1.5 12 08 28.5 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 M24X1.5 12 08 27.5 15 32 32
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12 M30X1.5 20 12 28.5 18.3 36 36
28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 M33X1.5 25 16 32 21.3 41 41
28611-36-20 M36X1.5 32 20 25,5 20 46 46
28611-42-24W M42X1.5 40 24 40 18.8 55 55
e LRFACT TP . 2.0 TS OE AR S B 28612-Xx-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 28612-xx-xx.
C-51

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

A A
’/’// /,/
T T (
S1 -
O ®)
= S2 _LJ S2
60° 60" 90° AL HI NI 60°
o
28691 28691-W 90 JISOMETRIC FEMALE
60° CONE SEAT
A= 2o E % & HOSE BORE R~} DIMENSIONS
PART NO. THREAD E | A A42 DN | #5%5 DASH A C H S1 S2
28691-14-04W M14X1.5 6 04 30 | 10.5| 40 17 19
28691-14-06 M14X1.5 10 06 35.3 [ 10.5| 43.3 19 19
28691-16-05 M16X1.5 8 05 33 10 44 22 22
28691-18-06 M18X1.5 10 06 35.3 | 11.5| 46.3 24 24
28691-22-08 M22X1.5 12 08 41 14 | 52.5 27 27
28691-24-10 M24X1.5 16 10 56 15 59 32 32
28691-30-12 M30X1.5 20 12 65.5 [ 18.3| 71.5 36 36
28691-33-16 M33X1.5 25 16 76.7 | 21.3| 76 41 41
28691-36-20 M36X1.5 32 20 93 20 89 46 46
28691-42-24W M42X1.5 40 24 109.4 [ 18.8 | 108 55 565
e 1L RPASH TR . 2.4 M TS AR T 250k 28692-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 28692-xx-xx.

i 7 .
o | — _
gL ] A ASHISMES 60° SMEE
S1 JIS BSPP MALE 60° CONE SEAT
(A= BRar E % & HOSE BORE JX ) DIMENSIONS
PART NO. THREAD E | AFfA1£DN | #5'5 DASH A B S1
19611-04-04 G1/4"X19 6 04 285 | 16 17
19611-06-06 G3/8"X19 10 06 30.5 | 18 19
19611-08-08 G1/2"X14 12 08 35 20 22
19611-12-12 G3/4"X14 20 12 40.5 | 22 30
19611-16-16 G1"X11 25 16 44 24 36
H: ARG T MO 20185 I 4 Se s AT 2508 1961 2-xx-xX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 19612-xx-xx.

C-52
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

C A C A
AW ‘ | %
60° {1 o W |
3 o
s2 s s2/ s B A RIRE 60° R4EE
JIS GAS FEMALE 60° CONE SEAT
29611 29611-W JIS B8363
(i) 2 ZLE # ‘% HOSE BORE JX -} DIMENSIONS
PART NO. THREAD E AFRA1E DN | b5 DASH A C S1 S2
29611-02-03 G1/8"X28 5 03 20 7 14 14
29611-04-04 G1/4"X19 6 04 21 8 19 19
29611-04-05 G1/4"X19 8 05 21 8 19 19
29611-06-04 G3/8"X19 6 04 23 g 22 22
29611-06-06 G3/8"X19 10 06 23 9 22 22
29611-08-06 G1/2"X14 10 06 28 12 27 27
29611-08-08 G1/2"X14 12 08 26.5 12 27 27
29611-10-10 G5/8"X14 16 10 30.5 | 11.5 30 30
29611-12-10 G3/4"X14 16 10 30 13.5 32 32
29611-12-12 G3/4"X14 20 12 30.5 | 13.5 32 32
29611-16-16 G1"X11 25 16 32 16 41 41
29611-20-20W G1.1/4"X11 32 20 43 18.5 50 50
29611-24-24W G1.1/2"X11 40 24 43.5 19 55 55
29611-32-32W G2"X11 50 32 46.5 23 70 70
e LRFAT TS 2. it F 58 O AT 2 2961 2-Xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 29612-xx-xx.

A
g
T ‘ T
S1
ST s © 90° A A MIRLL 60° FIHEE
60° 60° 90° JIS GAS FEMALE 60° CONE SEAT
29691 29691-W JIS B8363
=5 # ZLE # % HOSE BORE JX 5} DIMENSIONS
PART NO. THREAD E AFRAAE DN #r*5 DASH A C H S1 S2
29691-04-04 G1/4"X19 6 04 30 8 38 19 19
29691-04-05 G1/4"X19 8 05 34 8 41 19 19
29691-06-06 G3/8"X19 10 06 35.6 9 45.8 22 22
29691-08-08 G1/2"X14 12 08 41 12 53 27 27
29691-10-10 G5/8"X14 16 10 56 11.5 61 30 30
29691-12-12 G3/4"X14 20 12 65.5 13.5 69 32 32
29691-16-16 G1"X11 25 16 76.7 16 76.5 41 41
29691-20-20W G1.1/4"X11 32 20 91.5 18.5 92.5 50 50
29691-24-24W G1.1/2'’X11 40 24 109.4 19 110.5 55 55
29691-32-32W G2"X11 50 32 131.8 23 133.8 70 70
W LRSS TWMERE . 2.5 H T YRGS 50 29692-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 29692-xx-xx.

C-53
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEts Standard hose fitting

A
L
L=
2o . 88111
ST
H#E=
JIS FLANGE
(A=) RS % % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE [ A#¢ A1t DN | kx5 DASH A C D L
88111-10-08 5/8" 12 08 45 342 | 27.8 6.7
88111-10-10 5/8" 16 10 45.5 342 | 27.8 6.7
88111-10-12 5/8" 20 12 46 342 | 27.8 6.7
A LRPRTH TRARE . 2.0 H T 9S8 AR5 150 88112-Xxx-XX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88112-xx-xx.

A
W\\ T \H(L T
¥ ,/’/
45° BlE=
45° JIS FLANGE
(A=) HEERS % 4 HOSE BORE JX <} DIMENSIONS
PART NO. FLANGE SIZE | A#WN4:DN |55 DASH A c D H L
88141-10-08 5/8" 12 08 59 342 | 27.8 24 6.7
88141-10-10 5/8" 16 10 69.6 342 | 27.8 | 25.3 6.7
88141-10-12 5/8" 20 12 77 342 | 27.8 29 6.7
e RS TR 2.4 Fl T 9 G O A0S 5 88142-xx-xX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88142-xx-xx.
T
= 90° B A=
90° JIS FLANGE
R = EEREE % % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | A®%P4: DN |b55 DASH A C D H L
88191-10-08 5/8" 12 08 41 342 | 27.8 48 6.7
88191-10-10 5/8" 16 10 56 342 | 27.8 | 52.5 6.7
88191-10-12 5/8" 20 12 66.2 | 342 | 27.8 62 6.7
e LRFACS T TR 2.5 T 9 G s A0S T 88192-xx-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88192-xx-xx.

C-54
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




¥rAETs Standard hose fitting

METRIC FEMALE WATERWASH INSERTS

20011-ST

RHEIRIBNSEKE

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

" % W2 4 E 4 %% HOSE BORE JU -] DIMENSIONS
PART NO. THREAD E AFRPAE DN b5 DASH A d D
20011-22-03ST M22X1.5 5 03 24.5 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 34.5
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 34.5
" 70011
[ —
7 =
oA O [LLI] L HIBIE
J—I'L METRIC BANJO DIN 7642
R 5 R % & HOSE BORE JU 5 DIMENSIONS
PART NO. BOLT A FRA 4% DN b5 DASH A d D H
70011-10-03 M10X1 5 03 14.5 10.1 17 10
70011-10-04 M10X1 6 04 17 10.1 17 10
70011-12-04 M12X1.5 6 04 20.5 12.1 20 12
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
70011-12-06 M12X1.5 10 06 20.5 12.1 20 12
70011-14-04 M14X1.5 6 04 19 14.1 24 14
70011-14-05 M14X1.5 8 05 19 14.1 24 14
70011-14-06 M14X1.5 10 06 21 14.1 24 14
70011-16-04 M16X1.5 6 04 20.5 16.1 28 16
70011-16-05 M16X1.5 8 05 20.5 16.1 28 16
70011-16-06 M16X1.5 10 06 20.5 16.1 28 16
70011-18-04 M18X1.5 6 04 23 18.1 32 20
70011-18-05 M18X1.5 8 05 24 18.1 32 20
70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 M18X1.5 12 08 24.5 18.1 32 20
70011-22-06 M22X1.5 10 06 28.1 221 39 25
70011-22-08 M22X1.5 12 08 28.5 221 39 25
70011-22-10 M22X1.5 16 10 27.5 221 39 25
70011-26-12 M26X1.5 20 12 33.5 26.2 46 30
70011-30-16 M30X1.5 25 16 37 30.2 54 36
70011-30-20 M30X1.5 32 20 41 30.1 54 36
T ARG T WA . 2.4t J TS O AT HO 7001 2-Xx-xx o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is70012-xx-xx.
C-55



R

£ Standard hose fitting

C A
%L % 700M
S1
m LIJ 0y —_
A BEIRRE
| METRIC BOLT DIN 7643

4= I 4L E JU 5} DIMENSIONS
PART NO. THREAD E A B c S1
700M-10 M10X1 19 4 6 17
700M-12 M12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 9 7.5 22
700M-18 M18X1.5 32 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 18 10 32
700M-30 M30X1.5 51 22 11 38

d
o 7= 71011
i | LLET
S ERER A A
JB METRIC BANJO
K5 WA % 4% HOSE BORE JX <} DIMENSIONS
PART NO. BOLT AP 1EDN]| br ' DASH A d D H
71011-06-04 M6X1 6 04 16 6 18 12
71011-08-04 M8X1 6 04 17 8 20 13
71011-10-04 M10X1 6 04 19 10 22 13
71011-10-05 M10X1 8 05 19 10 22 13
71011-10-06 M10X1 10 06 19 10 22 13
71011-12-06 M12X1.5 10 06 21 12 26 15
71011-14-04 M14X1.5 6 04 20.5 14 28 18
71011-14-05 M14X1.5 8 05 21.5 14 28 18
71011-14-06 M14X1.5 10 06 21.5 14 28 18
71011-14-08 M14X1.5 12 08 22.5 14 28 18
71011-16-05 M16X1.5 8 05 22.5 16 32 18
71011-16-08 M16X1.5 12 08 25 16 32 18
71011-18-06 M18X1.5 10 06 26.5 18 36 22
71011-18-08 M18X1.5 12 08 27 18 36 22
71011-18-10 M18X1.5 16 10 27.5 18 36 22
71011-20-06 M20X1.5 10 06 29.5 20 36 22
71011-20-08 M20X1.5 12 08 30 20 36 22
71011-22-10 M22X1.5 16 10 30.5 22 46 30
71011-22-12 M22X1.5 20 12 32 22 46 30
71011-27-10 M27X2 16 10 36.5 27 56 36
71011-27-14 M27X2 22 14 36 27 56 36
71011-27-16 M27X2 25 16 36 27 56 36
71011-33-12 M33X2 20 12 43 33 64 50
71011-42-20 M42X2 32 20 54 42 78 64
T ARSI T MO 2.1 F 4RGeS B 71012-Xx-xx
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 71012-xx-xx.

C-56
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



T Standard hose fitting

C A
.
iR 710M
ERPR A HI SRR
st JB METRIC BOLT
K5 IR 9 E JX <} DIMENSIONS
PART NO. THREAD E A B C S1
710M-10 M10X1 25 4 6 17
710M-14 M14X1.5 32 8 7 19
710M-18 M18X1.5 38 11 8 24
710M-22 M22X1.5 48 14 9 30
710M-27 M27X2 60 18 10 36
710M-33 M33X2 63 22 12 41
710M-42 M42X2 85 28 14 55
d
ol ( e 72011
’ [ A
A RFIBAE(K
BSP BANJO
5 R 4LE ¥ ‘& HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFEMAE DN Fr*5 DASH A d D H
72011-02-03 G1/8"X28 5 03 18 9.9 24 16
72011-02-04 G1/8"X28 6 04 18.5 9.9 24 16
72011-04-03 G1/4"X19 5 03 19 13.3 24 15
72011-04-04 G1/4"X19 6 04 195 [ 13.3 24 15
72011-04-05 G1/4"X19 8 05 19 13.3 24 15
72011-04-06 G1/4"X19 10 06 195 | 13.3 24 15
72011-06-04 G3/8"X19 6 04 22 16.7 29 20
72011-06-05 G3/8"X19 8 05 225 | 16.7 29 20
72011-06-06 G3/8"X19 10 06 22 16.7 29 20
72011-06-08 G3/8"X19 12 08 225 | 16.7 29 20
72011-08-05 G1/2"X14 8 05 27.5 21 38 25
72011-08-06 G1/2"X14 10 06 27.5 21 38 25
72011-08-08 G1/2"X14 12 08 28 21 38 25
72011-08-10 G1/2"X14 16 10 28.5 21 38 25
72011-10-10 G5/8"X14 16 10 30 23 40 27
72011-12-10 G3/4"X14 16 10 315 | 26.5 48 31
72011-12-12 G3/4"X14 20 12 32 26.5 48 31
72011-16-08 G1"X11 12 08 40 33.3 60 42
72011-16-12 G1"X11 20 12 40 33.3 60 42
72011-16-16 G1"X11 25 16 41 &3.3 60 42
I LRFAS T MmAEE 2.4t F 58 O AT B 7201 2-Xx-x 0
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 72012-xx-xx.

C-57
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FrfEss Standard hose fitting

C A
/r’: 720B
mLl
% gL by s
L1 BRTE
— SRl TR

\ BSP BOLT
i = 12 4 E JU < DIMENSIONS
PART NO. THREAD E A B © S1
720B-02 G1/8"X28 29.5 4.8 4.8 14
720B-04 G1/4"X19 28.5 6 6 19
720B-06 G3/8"X19 38.5 9 7 22
720B-08 G1/2"X14 44 13 8.5 27
720B-10 G5/8"X14 48.5 15 10 30
720B-12 G3/4"X14 56 18 10 82
720B-16 G1"X11 68.5 22 13 41

C-58
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



¥rAETs Standard hose fitting

\J_MﬂﬂﬂﬂLj{}{JﬂﬂﬂﬂM_L, 90011

] X
DOUBLE CONNECTOR

i 5 % 4 HOSE BORE JX <} DIMENSIONS
PART NO. AP 1EDN ¥r'5 DASH L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
90011-10 16 10 83
90011-12 20 12 93
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170
He HT98U% % . Note:For wire braid hose.

A
RRIVITITV N ITITE T 20012
L U E
DOUBLE CONNECTOR
5 % 4% HOSE BORE R~} DIMENSIONS
PART NO. AFRAIEDN k55 DASH L
90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 91
90012-10 16 10 97
90012-12 20 12 110
90012-16 25 16 136
90012-20 32 20 153
90012-24 40 24 170
90012-32 50 32 178
W H T 98584 .  Note:For sprial hose.

C-59
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



F AN Interlock hose fitting

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



s

FIRIMNRERE$ESL Interlock hose fitting

BSZ 5| Part NO. Index

A HIRE24HE
B E R
Metric 24° Cone Seal 10513 20593-W
H.T. PD1 PD1 PD2 PD2
TEHMRLL
British
12613 13013-SP 22613-W 22693-W
PD3 PD3 PD4 PD4
SR
NPT
15613
PD5
FHINPSM
BO°HE 1

#

NPSM 60° Cone Seal
PD5

A

FLHIORFSIZZL
A Vi
ORFS Flat Seal 24213-W
PD6
5
FEHIICIREL
L7 74

26793-W 26713D.W
PD6 PD7 PD7

JIC 74° Cone Seal

R
o

A RE
e 60° %k
GAS 60° Cone Seal 29613-W
% PD8
(=)
£
E 87613
2 R PD8
L SAEVL™
3 SAE Flange
kel
g
<
9000PSI7%: %

9000 PSI Flange

R
Double Connection 90013
PD11

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R PISNER S

Interlock hose fitting

A
C
77
247wl R e
NI IMB L 24° REE E RS
i - METRIC MALE 24° CONE SEAT H.T
S2
R 5 4 E #% % HOSE BORE ETAME R~} DIMENSIONS
PART NO. THREAD E| A#%/N%: DN | 475 DASH | TUBE O.D. A C S2
10513-36-12 M36X2 20 12 25 435 18 41
10513-42-16 M42X2 25 16 30 46.4 20 46
10513-52-20 M52X2 32 20 38 52.8 22 55
77%}77— s L
247 W 24° .
o [ UL 1L AN B
24° S O LB E RS
S2 S2 METRIC FEMALE 24°
20513-W 20513-T CONE O-RING H.T.
ISO 12151-2---DIN 3865
ft 5 W% 4LE ¥ % HOSE BORE FroME | OR M JX ~F DIMENSIONS
PART NO. THREAD E | A% M4% DN | ##'5 DASH |[TUBE O.D. | ORING A C S2
20513-30-12W M30X2 20 12 20 016.3X2.4 30 25 | 36
20513-36-12T M36X2 20 12 25 020.3X2.4 | 385 | 35 | 46
20513-36-16W M36X2 25 16 25 020.3X2.4 | 319 | 32 | 46
20513-42-12T M42X2 20 12 30 025.3X2.4 42 39 | 50
20513-42-16W M42X2 25 16 30 025.3X2.4 | 334 | 39 | 50
20513-42-20W M42X2 32 20 30 025.3X2.4 | 388 | 39 | 50
20513-52-20T M52X2 32 20 38 033.3X2.4 | 453 | 45 | 60
20513-52-24W M52X2 40 24 38 033.3X2.4 | 382 | 45 | 60
D-01

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R PISN AR

Interlock hose fitting

A
T|© §§7
A e 45° ) ABRAL
24 24° #E OMEERT
45° METRIC FEMALE
20543-W 20543-T .
24° CONE O-RING H.T.
£ 5 2 4LE % % HOSE BORE EFIME (o JU <} DIMENSIONS
PART NO. THREAD E | A% W4 DN | #+5 DASH |TUBE O.D.| O RING A C H S2
20543-36-12T M36X2 20 12 25 020.3X2.4 | 89.4 | 35 33 46
20543-42-16W |  M42X2 25 16 30 025.3X2.4 [102.3| 3.9 | 359 | 50
20543-52-20T M52X2 32 20 38 033.3X2.4 [1145| 45 | 394 | 60
A A
R _ ) )y i ’ B
L g , T
7= |
1] ; |
QL o=
AE]]
24° 24°
20593-W 20593-T
90° NEIRIEL 24° T O LB ERT
90°METRIC FEMALE 24°CONE O-RING H.T.
A= 2 4 E #% 4% HOSE BORE ETAME O % R~ DIMENSIONS
PART NO. THREAD E | AF%HN42 DN | #55 DASH |TUBE O.D.] O RING A C H S2
20593-36-12T M36X2 20 12 25 020.3X2.4 | 745 | 35 | 67.8| 46
20593-36-16W | M36X2 25 16 25 020.3X2.4 | 889 | 3.2 | 795 | 46
20593-42-16W | M42X2 25 16 30 025.3X2.4 | 889 | 3.9 | 80.5| 50
20593-42-20W | M42X2 32 20 30 025.3X2.4 | 105.8| 3.9 | 915 50
20593-52-20T M52X2 32 20 38 033.3X2.4 | 105.8| 45 | 86.5| 60
20593-52-24W | M52X2 40 24 38 033.3X2.4 | 124.2| 4.5 |104.5| 60

D-02

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




K RIS ES

MY

Interlock hose fitting

A

Cc

12613

60°| b e e
|| || | || | | TEIMEL 60° NEHEE
BSP MALE 60° CONE SEAT
R = 2 E % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E % DN x5 DASH C S1
12613-12-12 G3/4"X14 12 395 18.5 30
12613-16-16 G1"X11 16 449 20.5 38
12613-20-20 G1.1/4"X11 20 49.3 20.5 46
12613-24-24 G1.1/2"X11 24 53.1 23 50
12613-32-32 G2"X11 32 59 255 65
A
C
= j% _ 13013-SP
TR IMZE AL
BSPT MALE
E S1
= i 4 E HOSE BORE ]\ ] DIMENSIONS
PART NO. THREAD E DN tr'5 DASH A © S1
13013-12-12SP R3/4"X14 12 38 20 30
13013-16-16SP R1"X11 16 45.9 255 38
13013-20-20SP R1.1/4"X11 20 51.3 26.5 46
13013-24-24SP R1.1/2"X11 24 53.2 26.5 50
13013-32-32SP R2"X11 32 58.5 30 65

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

D-03



FIASMEZ RS Interlock hose fitting

22613-W

600(> L |

REMNIBL 60° SMEE
BSP FEMALE 60° CONE

X 5 2 4 E % % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFKMNE DN | 455 DASH A C S2
22613-12-12W G3/4"X14 20 12 275 | 87 32
22613-16-16W G1"X11 25 16 324 | 105 | 41
22613-20-20W | G1.1/4"X11 32 20 35.8 [ 10.1 50
22613-24-24W | G1.1/2"X11 40 24 36.7 | 125 | 55
22613-32-32W G2"X11 50 32 36.5 | 16 70
T
22693-W
Or<
90° EEWUEL60° JMEM
60° 90° BSP FEMALE 60° CONE
5 L E % % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E | AFRM1E£DN [ 455 DASH A C H S2
22693-12-12W G3/4"X14 20 12 738 | 87 | 673 | 32
22693-16-16W G1"X11 25 16 885 | 105 | 759 | 41
22693-20-20W | G1.1/4"X11 32 20 105.8| 10.1 | 88.3 | 50
22693-24-24W | G1.1/2"X11 40 24 1242 125 | 103 | 55
22693-32-32W G2"X11 50 32 148.8| 16 |123.3| 70

D-04

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




FIASMEZ RS Interlock hose fitting

A
C
| W B SMEL
E S1 NPT MALE

- 22 E i %% HOSE BORE /U~ DIMENSIONS
PART NO. THREADE | AF%Af£DN | b5’ DASH A c | st
15613-12-12 Z3/4"X14 20 12 39.5 | 19.5 | 30
15613-16-16 Z1"X11.5 25 16 47.9 | 255 | 38
15613-20-20 | Z1.1/4"X11.5 32 20 53.8 | 26.5 | 46
15613-24-24 | Z1.1/2"X11.5 40 24 58.2 | 27.5 | 50
15613-32-32 Z2'X11.5 50 32 61 | 275 | 65

C A
%W—ﬁﬁw
AW 21613-W
” of JUPHHIIIL
£ NPSM 4247 60° St
NPSM FEMALE 60° CONE
S2

(I R 4LE # ¥ HOSE BORE JU ~} DIMENSIONS
PART NO. THREAD E__ [ AFkW#2 DN | #5'5 DASH A c | s2
21613-12-12W 3/4"X14 20 12 265 | 9 32
21613-16-16W 1'X11.5 25 16 304 | 105 [ 41
21613-20-20W | 1.1/4"X11.5 32 20 325 | 11 [ 50
21613-24-24W | 1.1/2'X11.5 40 24 36.7 [ 14 [ 55
22613-32-32W 2'X11.5 50 32 35| 16 [ 70

D-05
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FIRSMRES Interlock hose fitting

24213-W

%% ORFS WHZLFH
ORFS FEMALE FLAT SEAT

r 5 i 4 E #% % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AR DN | ks DASH A C S2
24213-12-12W |  1.3/16"X12 20 12 41 15 | 36
24213-16-16W | 1.7/16"X12 25 16 444 | 15 | a4
24213-20-20W | 1.11/16"X12 32 20 478 | 15 | s0
24213-24-24W 2'X12 40 24 482 | 15 | 60
CcC A

2ge lwl | 1] 26713-W

o I

SEHl JIC MR 74° NHEE

E JIC FEMALE 74° CONE SEAT
(AR W4 E % % HOSE BORE K~} DIMENSIONS
PART NO. THREAD E AFRN4E DN | 5’5 DASH A C S2
26713-12-12W 1.1/16"X12 20 12 255 | 15 32
26713-16-16W 1.5/16"X12 25 16 284 | 16 41
26713-20-20W 1.5/8"X12 32 20 323 | 16.1 50
26713-24-24W 1.7/8"X12 40 24 352 | 20 60
26713-32-32W 2.1/2"X12 50 32 345 | 235 | 75

D-06
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FIASMEZ RS Interlock hose fitting

26793-W

90° M JIC WIRLL 74° NH#EME
90° JIC FEMALE 74° CONE SEAT

£ 5 12 4 E ¥ % HOSE BORE <} DIMENSIONS
PART NO. THREAD E ANFEA4E DN | #Fr'5 DASH A @ H S2
26793-12-12W 1.1/16"X12 20 12 73.8 15 64.5 32
26793-16-16W 1.5/16"X12 25 16 88.9 16 72.5 41
26793-20-20W 1.5/8"X12 32 20 105.8| 16.1 81.5 50
26793-24-24\N 1.7/8"X12 40 24 124.2 20 101 55
26793-32-32W 2.1/2"X12 50 32 150.3| 23.5 | 121.3 75

C A
e o _ 26713D-W
* J £ 51 JIC IR 507 4° FOHE T
S92 S1 JIC FEMALE 74° CONE SEAT

R = o E % &% HOSE BORE R ) DIMENSIONS
PART NO. THREAD E ANFRN4E DN Fr5 DASH A C S1 S2
26713D-12-12W 1.1/16"X12 20 12 37.5 15 30 32
26713D-16-16W 1.5/16"X12 25 16 41.9 16 38 41
26713D-20-20W 1.5/8"X12 32 20 45.3 17 46 50
26713D-24-24W 1.7/8"X12 40 24 50.2 20 50 60
26713D-32-32W 2.1/2"X12 50 32 52 23.5 65 75

D-07
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



FIASMEZ RS Interlock hose fitting

B A
N
b
29613-W
60° W
© . o ‘
HZARZH| 24 60° MHEM
JIS GAS FEMALE 60° CONE SEAT
S2 S1
R 5 12 4 E % % HOSE BORE K~ DIMENSIONS
PART NO. THREAD E NFFWN4E DN | #r'5 DASH A B S1 S2
29613-12-12W G3/4"X14 20 12 40 13.5 32 32
29613-16-16W G1"X11 25 16 44.4 16 41 41
29613-20-20W | G1.1/4"X11 32 20 48.8 | 185 50 50
29613-24-24W | G1.1/2"X11 40 24 49.2 19 55 55
29613-32-32W G2"X11 50 32 52 23 70 70
A
e 87613

C
L_é— Wi
D

M T 7 SAE 3% 6000 PSI

SAE FLANGE 6000 PSI

(A= RS ¥ % HOSE BORE R~} DIMENSIONS
PART NO. FLANGE SIZE| A#N42 DN | #5*5 DASH A C D L
87613-12-12 3/4" 20 12 53 41.3 32 | 8.76
87613-16-12 1" 20 12 58 47.6 38 | 9.53
87613-16-16 1" 25 16 594 | 47.6 38 | 9.53
87613-20-16 1.1/4" 25 16 67.4 54 44 110.29
87613-20-20 1.1/4" 32 20 69.8 54 44 110.29
87613-20-24 1.1/4" 40 24 74.7 54 44 110.29
87613-24-20 1.1/2" 32 20 78.8 | 63.5 51 |12.57
87613-24-24 1.1/2" 40 24 78.7 | 63.5 51 [12.57
87613-32-24 2" 40 24 912 | 79.4 67 |12.57
87613-32-32 2" 50 32 91 79.4 67 |12.57

D-08
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R PISNER S

Interlock hose fitting

A |
P 87643
T Y O/
a ’ 45° SAE 7£= 6000 PSI
45° SAE FLANGE 6000 PSI
£ 5 BhERE % % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | A M42 DN | #5*7 DASH A C D H L
87643-12-12 3/4" 20 12 88.7 | 413 | 32 | 318/ 8.76
87643-16-12 1" 20 12 90.8 | 476 | 38 | 33.9 | 953
87643-16-16 1" 25 16 101.1| 476 | 38 | 34.7 | 9.53
87643-20-16 1.1/4" 25 16 103.9| 54 44 | 37.5(10.29
87643-20-20 1.1/4" 32 20 116.6 | 54 44 | 415 |10.29
87643-24-20 1.1/2" 32 20 120.1| 635 | 51 | 451 1257
87643-24-24 1.1/2" 40 24 1346 | 63.5 | 51 49 |1257
87643-32-24 2" 40 24 1402 | 79.4 | 67 | 54.7 [ 1257
87643-32-32 2" 50 32 163.3| 79.4 | 67 | 61.9 [1257
A ‘
W
s
Z / 87693
T
_ ME 90° SAE ;4= 6000 PSI
C 90° SAE FLANGE 6000 PSI
A AR # % HOSE BORE JU 5} DIMENSIONS
PART NO. FLANGE SIZE | /A% H4: DN [ 435 DASH A C D H L
87693-12-12 3/4" 20 12 75 | 413 | 32 66 | 8.76
87693-16-12 1" 20 12 75 | 476 | 38 69 | 9.53
87693-16-16 1" 25 16 889 | 476 | 38 | 745 | 9.53
87693-20-16 1.1/4" 25 16 88.9 | 54 44 | 785 |10.29
87693-20-20 1.1/4" 32 20 105.8 | 54 44 | 89.5 | 10.29
87693-24-20 1.1/2" 32 20 105.8| 63.5 | 51 | 94.5 [12.57
87693-24-24 1.1/2" 40 24 1242 635 | 51 | 108 [12.57
87693-32-24 2" 40 24 1242 79.4 | 67 |[116.3| 1257
87693-32-32 2" 50 32 150.3| 79.4 | 67 |136.3|12.57
D-09

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



R PISN AR

Interlock hose fitting

A
L
@l
et 87913
&) |Q_ o _ i
’ L SAE $£2£ 9000 PS|
— SAE FLANGE 9000 PSI
= VAR % 4% HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE| AFP1ZDN | #5'%5 DASH A C D L
87913-12-12 3/4" 20 12 58.5 413 | 32 14.3
87913-16-12 1" 20 12 63 476 | 38 14.3
87913-16-16 1" 25 16 64.4 476 | 38 14.3
87913-20-16 1.1/4" 25 16 71.4 54 43 14.3
87913-20-20 1.1/4" 32 20 73.8 54 43 14.3
87913-24-20 1.1/2" 32 20 80.6 63.5 | 51 14.3
87913-24-24 1.1/2" 40 24 80.7 63.5 | 51 14.3
A ‘
v 87943
\YS /
T 0.
o g 45° SAE ;%= 9000 PSI
45° SAE FLANGE 9000 PSI
;= HEZ A % % HOSE BORE R~ DIMENSIONS
PART NO. FLANGE SIZE | A# W% DN | 4% DASH A € D H L
87943-12-12 3/4" 20 12 926 | 41.3| 32 | 356 14.3
87943-16-12 ik 20 12 937 | 476 | 38 | 36.7| 14.3
87943-16-16 1" 25 16 1039 476 | 38 | 375]| 14.3
87943-20-16 1.1/4" 25 16 104.6 | 54 43 | 382 | 14.3
87943-20-20 1.1/4" 32 20 117.3| 54 43 | 42.3| 14.3
87943-24-20 1.1/2" 32 20 118 | 63.5 | 51 43 | 14.3
87943-24-24 1.1/2" 40 24 1325 635 | 51 | 46.9| 14.3

D-10

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




R PISNER S

Interlock hose fitting

T 87993
iy 90° SAE ;%= 9000 PSI
C 90° SAE FLANGE 9000 PSI

£ 5 kit =2 ¥ % HOSE BORE &~} DIMENSIONS
PART NO. FLANGE SIZE | AFpf: DN | #5'5 DASH A C D H L
87993-12-12 3/4" 20 12 75 | 41.3| 32 | 71.5| 143
87993-16-12 1" 20 12 75 | 476 | 38 73 | 14.3
87993-16-16 1" 25 16 88.9 | 476 | 38 | 785]| 14.3
87993-20-16 1.1/4" 25 16 88.9 | 54 43 | 795 14.3
87993-20-20 1.1/4" 32 20 105.8| 54 43 [ 905]| 143
87993-24-20 1.1/2" 32 20 105.8| 635 | 51 | 91.5| 14.3
87993-24-24 1.1/2" 40 24 124.2| 635 | 51 105 [ 14.3

72" a9 . 77

IO %0013

L WHEERES
DOUBLE CONNECTOR
X 5 % % HOSE BORE R~} DIMENSIONS
PART NO. AFKPNE DN | 45’5 DASH L
90013-12 20 12 119
90013-16 25 16 150
90013-20 32 20 194
90013-24 40 24 223
90013-32 50 32 235
D-11

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



A[#£30EY Reusable hose fitting

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



A3k Reusable hose fitting

A S &5

Part NO. Index

20518D
PE2

PE3

24218D
PE3

26718D
PE4

87318D
PE4

87398D
PES

87698D
PES

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




A3 Reusable hose fitting

A

7

60° EE— T\J 15618
L £ EIRE
NPT MALE
X 5 2 4 E WG b J& <} DIMENSIONS
PART NO. THREAD E HOSE DASH A S1
15618-02-04 Z1/8"X27 04 255 12
15618-04-04 Z1/4"X18 04 30 17
15618-04-06 Z1/4"X18 06 31 17
15618-06-05 Z3/8"X18 05 32.9 19
15618-06-06 Z3/8"X18 06 32 19
15618-08-08 Z1/2"X14 08 40.5 22
15618-12-10 Z3/4"X14 10 42.5 30
15618-12-12 Z3/4"X14 12 43 30
15618-16-16 Z1"X11.5 16 46.5 36
15618-20-20 Z1.1/4"X11.5 20 51.5 46
15618-24-24 Z1.1/2"X11.5 24 52.5 50
15618-32-32 Z2"X11.5 32 69 65
VE: AT SAE 100R5 4% . Note:Suitable for SAE 100R5 hose.

Mf><€

16718

o

S JIC SMELL 74° S HER

JIC MALE 74° CONE

5 B O4E WE Wy JX <} DIMENSIONS

PART NO. THREAD E HOSE DASH A S1
16718-04-04 7/16X20 04 29 12
16718-06-05 9/16"X18 05 31 17
16718-06-06 9/16"X18 06 32 17
16718-08-06 3/4"X16 06 34.7 22
16718-08-08 3/4"X16 08 38 22
16718-10-10 7/8"X14 10 40.5 24
16718-12-12 1.1/16"X12 12 45.5 30
16718-16-16 1.5/16"X12 16 44 36
16718-20-20 1.5/8"X12 20 49.5 46
16718-24-24 1.7/8"X12 24 52.5 50

: IEHT SAE 100R5 # % . Note:Suitable for SAE 100R5 hose.

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

E-01

www.zjhydraulics.com



A3k Reusable hose fitting

20418D

240

AHIRIRL 24° #EH O XBR AT
METRIC FEMALE 24° CONE O-RING L.T.

S2
(A=) B ZE # % HOSE BORE EYoME D U~ DIMENSIONS

PART NO. THREAD E NFRWN4EDN | Fr'5 DASH TUBE O.D. A C S1 S2
20418D-14-04W M14X1.5 5 04 8 31 1.4 12 17
20418D-16-05W M16X1.5 6 05 10 329 | 21 14 19
20418D-18-06 W M18X1.5 8 06 12 33 1.8 17 22
20418D-22-08 W M22X1.5 11 08 15 36 3 19 27
20418D-26-10W M26X1.5 13 10 18 415 | 21 27 32
20418D-30-12W M30X2 16 12 22 435 | 3.8 30 36
20418D-36-16 W M36X2 22 16 28 415 | 45 36 41
20418D-45-16W M45X2 22 16 85 45 4 41 50
20418D-45-20W M45X2 28 20 35 45 4 41 50
20418D-52-24W M52X2 35 24 42 48.5 4 50 60

e & T-SAE 100R5%¢ % . Note:Suitable for SAE 100R5 hose.

20518D

24°

[ 1
N RIRL 24° R O LB E RS
S2 METRIC FEMALE 24° CONE O-RING H.T.
R = g % % HOSE BORE HrAME D JU ~J DIMENSIONS

PA/RT NO. TH/READ E NFRWN4EDN | 455 DASH TUBE O.D. A © S1 S2
20518D-16-04\W M14X1.5 5 04 8 31.5 1.8 14 19
20518D-16-05W M16X1.5 6 05 8 334 | 1.8 14 19
20518D-18-04W M18X1.5 5 04 10 32 1.5 17 22
20518D-18-06 W M18X1.5 8 06 10 33 1.5 17 22
20518D-20-06 W M20X1.5 8 06 12 335 | 25 17 24
20518D-22-06 W M22X1.5 8 06 14 &3 8 19 27
20518D-24-08W M24X1.5 1 08 16 36.5 3 22 30
20518D-30-10W M30X2 13 10 20 45 2.5 27 36
20518D-30-12W M30X2 16 12 20 455 | 25 27 36
20518D-36-12W M36X2 16 12 25 46.5 | 3.2 36 41
20518D-36-16 W M36X2 22 16 25 43 3.2 36 41
20518D-42-16 W M42X2 22 16 30 46 3.9 41 50
20518D-42-20W M42X2 28 20 30 46 3.9 41 50
20518D-52-20W M52X2 28 20 38 48 4.5 50 60
20518D-52-24W M52X2 35 24 38 48 4.5 50 60

7. 3EMF SAE 100R5% % . Note:Suitable for SAE 100R5 hose.

E-02
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



A3k Reusable hose fitting

C A C A
7\ J : 7T T T
60° L - - 60° 1 |
- [l 1
<, |
S2 S1 S2 S1
22618D 22618DW
RHINERL 60° ST
BSP FEMALE 60° CONE
£ 5 2 4gLE Wi brs J s} DIMENSIONS
PART NO. THREAD E HOSE DASH A © S1 S2
22618D-04-04 G1/4"X19 04 26 55 14 19
22618D-06-05 G3/8"X19 05 29.1 6.3 17 22
22618D-06-06 G3/8"X19 06 30 6.3 17 22
22618D-08-08 G1/2"X14 08 35 7.5 19 27
22618D-10-10 G5/8"X14 10 35.5 9.5 22 30
22618D-12-12 G3/4"X14 12 38.5 10.9 27 32
22618D-16-16 G1"X11 16 37 11.7 38 41
22618D-20-20W G1.1/4"X11 20 43.5 11 41 50
e @G T SAE 100R5 #% . Note:Suitable for SAE 100R5 hose.

C A C A

7 N —
. | w & M1
S2 S1 ;82 &7“

24218D 24218DW

% H ORFS MZRL FE X<
ORFS FEMALE FLAT SEAT DOUBLE HEXAGON

5 % 4LE B brg JU 5 DIMENSIONS
PART NO. THREAD E HOSE DASH A © S1 S2
24218D-04-04 9/16"X18 04 30.5 8.5 14 19
24218D-04-05 9/16"X18 05 32 8.5 14 19
24218D-06-06 11/16"X16 06 34.5 10 17 22
24218D-08-08 13/16"X16 08 41.5 11 19 27
24218D-10-10 1"X14 10 47.5 13.5 24 30
24218D-12-12 1.3/16"X12 12 50.5 15 30 36
24218D-16-16 1.7/16"X12 16 49 15 36 41
24218D-20-20W 1.11/16"X12 20 54.5 15 41 50
24218D-24-24W 2"X12 24 56.5 16 50 60
vE: & T SAE 100R5 # % . Note:Suitable for SAE 100R5 hose.

E-03
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



A3k Reusable hose fitting

C A C A
ﬁw
) o ] ,,,L,
74° W | 74° W & |
S2 S1
S2
26718DW
26718D
EH JIC IR 74° NEEE
JIC FEMALE 74° CONE SEAT
Tt 0 o E RS Fr JU <} DIMENSIONS

PART NO. THREAD E HOSE DASH A © S1 S2
26718D-04-04 7/16"X20 04 22 9 14 15
26718D-05-05 1/2"X20 05 25.4 9.5 14 17
26718D-06-06 9/16"X18 06 245 | 10.5 17 19
26718D-08-08 3/4"X16 08 31.5 11 22 24
26718D-10-10 7/8"X14 10 35 13 27 27
26718D-12-12 1.1/16"X12 12 37 15 32 32
26718D-16-16 1.5/16"X12 16 33.5 16 38 41
26718D-20-20W 1.5/8"X12 20 41.5 17 41 50
26718D-24-24W 1.7/8"X12 24 43 20 46 55
26718D-32-32W 2.1/2"X12 32 455 | 23.5 65 75

¥: i T-SAE 100R5%K 4 . Note:Suitable for SAE 100R5 hose.

T I 87318D
&/@ SAE 3% 3000 PSI

SAE FLANGE 3000 PSI

® = LT # % HOSE BORE JU 5} DIMENSIONS

PART NO. FLANGE SIZE NHEN4E DN | fr'5 DASH S1 A @

87318D-08-08 1/2" 11 08 22 54 30.2
87318D-12-12 3/4" 16 12 27 59 38.1
87318D-16-16 1™ 22 16 32 55 44 .4
87318D-20-20 1.1/4" 28 20 41 58 50.8
87318D-24-24 1.1/2" 35 24 46 70 60.3
87318D-32-32 2" 46 32 60 72 71.4

. &M T SAE 100R5% 45 . Note:Suitable for SAE 100R5 hose.

E-04

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




A3k Reusable hose fitting

A
7
- |
7 -
2 1 T 87398D
D
‘C Ei 90° SAE ;%= 3000PSI
90° SAE FLANGE 3000 PSI
5 HRARE % % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE | A% H4: DN | 455 DASH A © D H L S1
87398D-08-08 1/2" 12 08 53 302 | 24 | 47 | 673 | 27
87398D-12-10 3/4" 16 10 66.5 | 381 | 32 | 525|673 | 32
87398D-12-12 3/4" 20 12 795 | 381 | 32 | 62 | 6.73| 32
87398D-16-12 1" 20 12 795 | 444 | 38 | 62 8 32
87398D-16-16 1" 25 16 865 | 444 | 38 |675]| 8 41
87398D-20-16 1.1/4" 25 16 86.5 | 50.8 | 43 | 675| 8 41
87398D-20-20 1.1/4" 32 20 1005 | 50.8 | 43 | 785| 8 50
87398D-24-20 1.1/2" 32 20 100.5 | 60.3 | 50 | 80.5| 8 50
87398D-24-24 1.1/2" 40 24 108 | 60.3 | 50 | 94 8 55
87398D-32-24 2" 40 24 108 | 714 | 62 | 94 | 953 | 55
87398D-32-32 2" 50 32 1288 | 714 | 62 |1143]| 953 | 70
. &R T SAE 100R5 4% . Note:Suitable for SAE 100R5 hose.

st 87698D

90° SAE 7%= 6000 PSI

=

C 90° SAE FLANGE 6000 PSI
X = PRt % % HOSE BORE J& 5} DIMENSIONS

PART NO. FLANGE SIZE | A® A% DN | #5*5 DASH A C D H L S1
87698D-08-08 1/2" 12 08 53 31.7 24 48 7.75 27
87698D-12-10 3/4" 16 10 66.5 41.3 32 56.5 | 8.76 | 32
87698D-12-12 3/4" 20 12 79.5 41.3 32 66 8.76 32
87698D-16-12 1" 20 12 79.5 47.6 38 69 9.53 32
87698D-16-16 1" 25 16 86.5 47.6 38 745 | 9.53 41
87698D-20-16 1.1/4" 25 16 86.5 54 44 78.5 [10.29| 41
87698D-20-20 1.1/4" 32 20 100.5 54 44 89.5 [10.29| 50
87698D-24-20 1.1/2" 32 20 100.5 | 63.5 51 945 [12.57| 50
87698D-24-24 1.1/2" 40 24 108 63.5 51 108 [12.57| 55
87698D-32-24 2" 40 24 108 79.4 67 116 [12.57| 55
87698D-32-32 2" 50 32 128.8 | 79.4 67 |[136.3]|12.57| 70

VE: T SAE 100R5 #4% . Note:Suitable for SAE 100R5 hose.

E-05
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



A3k Reusable hose fitting

00518

SAE 100 R5 RERFRER
FERRULE FOR SAE 100 R5 HOSE

£ = W&t J <} DIMENSIONS
PART NO. HOSE DASH L S
00518-04 04 28 17
00518-05 05 30.5 19
00518-06 06 33 22
00518-08 08 42 24
00518-10 10 45.5 30
00518-12 12 53.5 32
00518-16 16 42 36
00518-20 20 44.5 46
00518-24 24 47 50
00518-32 32 57 65

E-06

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




At Socketless hose fitting

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



ALY Socketless hose fitting

BSZ5] Part NO. Index

12610A 15610 16710 17810 22610 26710
PF1 PF1 PF2 PF2 PF3 PF3

[ [Ptz
WjRiNiEs

27810
PF4

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



ALY Socketless hose fitting

L

A

S| B
| 3] 12610A

60° W LL
lkg - FE ML 60° T

BSP MALE 60° CONE SEAT

=5 3% 4 E ¥ % HOSE BORE &~} DIMENSIONS
PART NO. THREAD E | A# M4 DN | #r5 DASH A L S1 d
12610A-04-04 G1/4"X19 6 04 20 38 19 4.3
12610A-06-06 G3/8"X19 10 06 24 45.5 22 7.5
12610A-08-08 G1/2"X14 12 08 28.5 54 27 9.9
12610A-12-12 G3/4"X14 20 12 32 69.5 32 | 155
s MORE A Al

C j
:I P o s P
| o , 15610
] |
HEE IMRL
E S1 NPT MALE
(VRS 2 4 E % % HOSE BORE JU s} DIMENSIONS

PART NO. THREAD E AFEA1E DN tr'5 DASH A © S1
15610-02-04 Z 118"X27 6 04 18.2 10.5 12
15610-04-04 Z 1/4"X18 6 04 22.7 15 14
15610-04-06 Z 1/4"X18 10 06 22.5 15 14
15610-06-06 Z 3/8"X18 10 06 23.5 16 19
15610-06-08 Z 3/8"X18 12 08 23.7 16 19
15610-08-08 Z 1/2"X14 12 08 29 19.5 22
15610-08-10 Z 1/2"X14 16 10 29 19.5 22
15610-12-12 Z 3/4"X14 20 12 31.4 19.5 27

F-01
YIWU ZHIJTANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



ALY Socketless hose fitting

A

/70;%,' e
Gl T

16710

EH) JIC IMBL 74° HMEM

=1 JIC MALE 74° CONE
= = gQE % 4 HOSE BORE JL s DIMENSIONS

PART NO. THREAD E AFRA S DN kx5 DASH A © S1
16710-04-04 7/16"X20 6 04 22 14 14
16710-06-04 9/16"X18 6 04 22 | 141 | 17
16710-06-06 9/16"X18 10 06 22 | 141 | 17
16710-08-06 3/4"X16 10 06 272 | 167 | 22
16710-08-08 3/4"X16 12 08 262 | 167 | 22
16710-10-10 7/8"X14 16 10 287 | 193 | 24
16710-10-12 7/8"X14 20 12 294 | 193 | 24
16710-12-08 1.1/16"X12 12 08 345 | 219 | 27
16710-12-10 1.1/16"X12 16 10 34 | 219 | 27
16710-12-12 1.1/16"X12 20 12 359 | 219 | 30

A

@m ] J_IU_/U‘ 17810

S1 &l SAE SMEZL 90° SMEE
SAE MALE 90° CONE

5 12 4L E #% % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E AFEP 12 DN Fr'5 DASH A D S1 d
17810-04-04 7/16"X20 6 04 39 21 12 4.3
17810-06-06 5/8"X18 10 06 435 | 235 | 17 7.5
17810-08-08 3/4"X16 12 08 55 | 295 | 22 9.9
17810-10-10 7/8"X14 16 10 715 | 325 | 24 | 12.2
17810-12-12 1.1/16"X14 20 12 754 | 384 | 30 | 155
F-02

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




ALY Socketless hose fitting

cC A
ﬂl Vo> e
o LU 22610
60 (>
L — At N o .
HERNIZEL60° JMEM
S2 BSP FEMALE 60° CONE
R = 12 4 E % % HOSE BORE R <) DIMENSIONS
PART NO. THREAD E NFEHN4E DN Fr'5 DASH A © S2
22610-04-04 G1/4"X19 6 04 14.7 55 19
22610-06-06 G3/8"X19 10 06 16.5 6.3 22
22610-08-08 G1/2"X14 12 08 18.2 7.5 27
22610-12-12 G3/4"X14 20 12 19.9 10.9 32
cC A
T > e A 7
. 267
74° w | J/ 10
=4 JIC NiB4r 74° NEERE
S2 JIC FEMALE 74° CONE SEAT
5 g E % % HOSE BORE R~} DIMENSIONS
PART NO. THREAD E NFEN 4 DN Fr'5 DASH A © S2
26710-04-04 7/16"X20 6 04 12.2 9 15
26710-05-04 1/2"X20 6 04 12.2 9.5 17
26710-06-06 9/16"X18 10 06 12.5 10.5 19
26710-08-06 3/4"X16 10 06 12.5 11 24
26710-08-08 3/4"X16 12 08 14.7 11 24
26710-10-08 7/8"X14 12 08 15.2 13 27
26710-10-10 7/8"X14 16 10 15.7 13 27
26710-12-12 1.1/16"X12 20 12 17.4 15 32
26710-16-16 1.5/16"X12 25 16 18.6 16 41

F-03
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



ALY Socketless hose fitting

27810
74°| W
£H SAE WH24 90° W

SAE FEMALE 90° CONE SEAT

f 5 12 4LE ¥ 4% HOSE BORE R~} DIMENSIONS
PART NO. THREAD E A4 DN b5 DASH A C S2
27810-04-04 7/16"X20 6 04 12.2 9 15
27810-05-04 1/2"X20 6 04 13.7 | 9.5 17
27810-06-04 5/8"X18 6 04 13.7 | 11.3 22
27810-06-06 5/8"X18 10 06 13.7 | 11.3 22
27810-08-06 3/4"X16 10 06 147 | 11 24
27810-08-08 3/4"X16 12 08 147 | 11 24
27810-10-08 7/8"X14 12 08 152 | 13 27
27810-12-12 1.1/16"X14 20 12 16.9 | 14.3 32

F-04

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




FESE $E 3K 5 Swivel hose fitting

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



MEsEESkY Swivel hose fitting

BSZ5] Part NO. Index

15611SW-S
PG1

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



MEsEESkY Swivel hose fitting

A ‘
=S \
| IRITITIE 15611SW-S
%E HEE MEAE IMELL
E \S2 NPT SWIVEL MALE
= 2 4 E % % HOSE BORE J <} DIMENSIONS

PART NO. THREAD E AFRA 1R DN #r*5 DASH A S2
15611SW-04-04S Z1/4"X18 6 04 27 19
15611SW-06-06S Z3/8"X18 10 06 27 22
15611SW-08-08S Z1/2"X14 12 08 30.5 27
15611SW-12-12S Z3/4"X14 20 12 33.5 32

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

G-01




Mihn&# Information

FESL AT TR CONNECHON +++veeverreererrerrererrernernemnennennannanans H-1
BRLHI A % Recommended Thread Torque «««eceeeeeeeeceeeee. H-9

B[ Q@A weeverereeerenrntnittti e H-10
PARTEEHL IS CONVErSION FACLOF «++eeereerrenremnmmnusiansennerneereeene H-12
22| Part NO. INd@X +eeeeeverreceerseetetmiiiiiiiiiiii.. H-13

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

B A0 25 43




Mifn&E£l Information

B3 B Connection

1 Ebrdz kB GB Connection
1.1 74° HE & EH 74° Cone Seal (GB/T 9065.1)

MO AFRNAR R PO REL R B i ek R A B4 3F53
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
5 MI2X1.S | shsgeissesk | mef B s sk
6 M14X1.5 Male: 10711% Female: 2Q. 2Q9%:
8 M16X1.5
10 M18X1.5
12 M22X1.5 @QE 24
16 M2TX15 | pusmsctkipizsk | RLAAMBECE Bk I\ —
20 M33X2 Female: 20711. Male: 1Q. 1QH.
o2 M36X2 20741, 20791, 1QH9-0G. 6Q9.
" N 139X2 20712, 20742, AQHQ-0G. 1QG.
20792% 1QG9-0G. 1QN%:
32 M45X2
1.2 O JEPE % 37 O-Ring Flat Seal (GB/T 9065.3)
BB AN HELL BOEREL RS | R Bk R 5128451 IR
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
5 M12X125 | srimoricistesk | me SR 3k
6 M14X1.5 Male: 103114 Female: 2E9. 9E%
8 M16X1.5
10 M18X1.5
12 M22X1.5
16 M27X1.5 @Zﬂ‘
20 M30X1.5 o o H N
W IR SR 23k Piet FH AR 23t v 2 S
22 M36X2
Female: 20211.| Male: 1E. 1EH9-OG.
25 M39X2
20241, 20291. | 6E. AEHE-OG. 1EG.
32 M42x2 20212, 20242, | 1ET-SP. 1EN%%
40 M52X2 20292%%
50 M64X2

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

H-1




Mifn&E£l Information

2

18 [EIDINAr#EBC#: 24 2C DIN Connection
2.1 HREH#TEEZE AKX Compression Fitting (DIN 2353)

Parar I—r“:' ; ‘\ ZIN I EA ‘q-? :
o | s asm i e iﬁa%;&?ﬂ i %L}%*ﬁ% .
S = n 451 EY Al :
EYl Wiz HED
THREAD HOSE MATING FIGURE
MPa |HOSE DN TUBE O.D.
FITTING ADAPTER
5 M12X1.5 6 AMBRSCRAE Sk | BCAH N T AR
6 M14X1.5 8 Male: 10411, | (rcagiE, H
8 M16X1.5 10 | 10412%, RLRE&NL R
% 10 M18X1.5 12 BIRRERIRECE.
% 12 M22X1.5 15
1) 16 M26X1.5 18 HEREEL | KRLERE. NL
L 20 M30X2 20 Standpipe: REWEE, AR
. A godsesk, 4
5 V36X o8 50011, 50041.| guidyshesk, #
500912545 % | skin1C. 1CG.
52 Masx2 . 1CB. 1CO%. = |
40 M52X2 42 q 27°
5 M16X1.5 8 HMB SRSk | BCAR NS HAR
6 M18X1.5 10 Male: 10511, | MIJC4&iiiE, Hl
5 2051 5 12 10512, 10513 RS%;%&N;—E
2, BRI
H 10 M22X1.5 14
A 12 M24X1.5 16 B s L
17l 16 M30X2 20 Standpipe: BLRS+%£. NS
S 20 N 36x2 . 50011, 50041.| KEIZEE, HhZ
50091451 & | sud iRk, #
25 M42X2 30 5, SL411D. 1DG.
32 M52X2 38 1DB. 1DO%:,
H-2

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




Mifn&E£l Information

2.2 H24° HETH IO P8 % £ 15 24° Cone O-Ring Seal (DIN 3865)

K | s s BT | BEELARY e P o v Sk
o | owp || aeD 4 F 501 Rart
ZIN T.
THREAD FIGURE
vPa |HOSE DN TUBE HOSE MATING
0.D. FITTING ADAPTER
5 (MIZX15| 6 | plumarme s | T IRL0S R
6 M14X1.5| 8 Male: 10411. | Female: 2C. 2BC.
8 M16X1.5| 10 | 104122, 2C9. 3C. BCZ:,
i 10 | M18X15| 12
= 12 |M22x15| 15
% 16 | M26X15| 18 o
MRS HEL | e H SNBSS i Sk
L 20 M30X2 | 22
Female: 20411.| Male: 1C. 1CG.
25 | M3X2'| o5 |20441. 20491 | 1CB. 1CO. AC. _—
32 | M45x2 | 35 |%iGHE. | ACCO-0GY. a 24° 547 |
40 M52X2 | 42 /
5 M16X1.5 8 SRS B | 1 Y RE S I sk
6 M18X1.5 10 Male: 10511. Female: 2D. 2BD.
5 M20x1 5| 12 | 10512, 10513 | 2D9. 3D. BD%.
& %,
10 |M22x15| 14
%
g e MERVOL 1O Damensiviek | memsbRacieR: sk
16 M30X2 20 Female: 20511.| Male: 1D. 1DG.
S
20 M36X2 25 20512, 20541. | 1DB. 1DO. AD.
- Va2 | 3o |20591- 205924, ADDO-OG%.
32 M52x2 | 38

H-3
YIWU ZHIJTANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



Mifn&E£l Information

2.3 JHEKI 5 24° HEH 2% £ 2L Multiseal To 24° Cone

o B | SRS | R
ek WEW| gy | HED 2 120 b
T.
N THREAD TUBE HOSE MATING FIGURE
MPa HOSE DN o.D. FITTING ADAPTER
5 |M12X15| 6 o ‘ ‘
6 M14X15| 8 P BRSSP AMZ S0 I 723k
) 8 |M16x15| 10 |Female: Male: 1C. 1CG.
Ea 10 |M18X15| 12 |20411C. 1CB. 1CO. AC.
% 12 |M22X1.5| 15 |20441C . ACCO-OG%%,
il 16 |M26X1.5| 18 [20491C%%,
L 20 | M30X2 | 22
25 | M36x2 | 28 = |
32 | M45x2 | 35 : -a 24° |
40 M52X2 42 /
SO B R Bk MBSO S
o s TvzoxT sl 12 gg;ezlz Male: 1D. 1DG.
= 10 [M22x15| 14 ) 1DB. 1DO. AD.
- 12 |M24x15| 16 |20912C. ADDO-OG%%,
i 16 | M30x2 | 20 |20541C.
S 20 M36X2 25 [20591C .
25 | M42X2 | 30 |20592C%%.
32 | M52x2 | 38
2.4 B4 #%35 Banjo Bonded Seal (DIN 7642. DIN 7643)
W TR WEEEL RS TiC i 2 3k
i . g A1 ESIE £
o SEIDN HOSE MATING FIGURE
FITTING ADAPTER
5 M10X1 10.1
6 M12X1.5 12.1 WAk Fict FH A
8 M14X1.5 14 1 7001125 Bolt: 700M
10 M16X1.5 16.1 "
12 M18X1.5 18.1 :
16 M22X1.5 221
20 M26X1.5 26.1
25 M30X1.5 30.1
H-4

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




Mifn&E£l Information

3 LR American Thread Type
3.1 H60° #EEEgrs i M X 60° Tapered Thread Seal (SAE J514)

P AR ey WAL R P25 B 3ok 9 48 Sk R A 25 51 P Ff
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 Z1/8'X27 SMBEUHCEBE i FE P R
6 Z1/4"X18
" X1 Male: 15611, Female: 7N. 7N9-PK.
. 15612%% GN-PKZ
12 Z1/2"X14
20 Z3/4"X14 :
25 Z1"X11.5
32 Z1.1/4°X11.5
40 Z1.1/2°X11.5
50 Z2"X11.5
3.2 74° HEf#EH L 74° Cone Seal (SAE J514)
WA ATRNR gy WAL R A5 i 3t 3 4 S R A 26 41 P
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
4 5/16"-24 HMELE Bk i P s 4 Sk
5 3/8"-24 Male: 16711, Female: 2J. 2J9%%
6 7/16°-20 16712245
8 1/2"-20
10 9/16"-18 i
- e,
12 3/4”-16 m}‘ 747
16 7E14 AERECHF ek REFIAMRECL T \
20 1.1/16°-12 Female: 26711. Male: 1J. 1JH.
25 1'5/1?'12 26741, 26791, 1J09-0G. AJOJ-OG.
32 1.5/8™-12 26712, 26742, 1JO. 1J09-0G.
40 1.7/8"-12 267925 1N
50 2.1/27-12
3.3 O Fii# 3 X O-Ring Flat Seal (SAE J1453)
WEARNE WRA R EL R 544 T FH L sk R A28 Pl f
HOSE DN THREAD HOSE FITTING MATING ADAPTER FIGURE
6 9/16™-18 MRS Bk J5C FH PN R e 8 Sk
10 11/16"-16 Male: 14211% Female: 2F. 2F9.
12 13/16"-16 CF2
16 17-14 M %
20 131612 PR 3k P FH AR it 3 4 S < ]
25 1711612 Female: 24211, Male: 1F. 1FO,
2 1111612 24241 ;(524291 . 1F09-0G;E
20 > 12 24212% AFFO-OG%:

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




Mifn&E£l Information

3.4 90° a4 90° Cone Seal (SAE J513)

WA AT i RELRY P FH el sk & 471 B
4z RE e e
R THREAD i R FIGURE
HOSE DN HOSE FITTING | MATING ADAPTER
6 7/167-20 ANR SR Pk fic FH Py R a0 sk
8 1/2"-20 Male: 178114 | Female: 2P%
10 5/8"-18 .
12 3/47-16 PRS2 3k e FH AN A i P Sk ”
16 718" 14 Female: 27811@\ Male: 4P%%
> T4 ] 27841, 27891%

3.5 Nl O P % 3 1 0 O-Ring Boss Seal (SAE J1926)

LY Q=R 7 B REESLRY fic ok B3k R 7 IR
ol 2 « .
N THREAD D D FIGURE
HOSE DN HOSE FITTING | MATING ADAPTER
4 5/167-24 HIMESUIR s HC HH P MRS i B Sk
5 3/87-24 Male: 160114 Female: 504,
6 7/16°-20
8 1/27-20
10 9/167-18 %
12 3/4"16 _
16 7/18"14
20 1.1/16"12
25 1.5/16"-12
32 1.5/8"-12
40 1.7/8"-12
50 21/2712

3.6 JHOJE I # B 4%k Staple-Lok Coupling

" v PN Wi BuR 2275
ATy | Bk wprekRyy | Mok
. J K . E IRl KIkE
W% FITTING Z&45) MATING FIGURE
HOSE DN| DASH HOSE FITTING ADAPTER
6 04 1516 | 99 | wigisk: M FH el 3k
10 06 20.17 | 13.9 | 67011%% 2Y. 2NY. 7Y
12 08 2416 | 17.9 &5,
20 12 2916 | 23.9 s
25 16 39.12 | 30.9 T
32 20 46.15 | 37.9
40 24 55.22 | 46.9
50 32 64.21 | 55.9
H-6

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




Mifn&E£l Information

3.7 HOJE K% #1132 =83k Flange Coupling (SAE J518)

I\ e o Rk (L sk

250 e | e | d | A | B |RAEH| R5EM el
HOSE DN HOSE MATING FIGURE

MPa FITTING | ADAPTER

12 6.73 | 30.2 | 17.5 | 38.1 | sk, e

20 | 673 | 381222476 | g7311. | pLpkuhi %3
| 25 8 | 444262524 g7341. | cConnected x T
)| 32 8 | 508]30.2 587 | g73915 | with Port .
50| 40 8 | 603357699 CE
50 | 953 | 7144297738
64 | 953 | 841|508 | 88.9 e
12 7.75 | 31.7 | 18.2 | 40.5 |#pagpsk. | — M E B %E
20 8.76 | 41.3 | 23.8 | 50.8 | 87611 . | HLiA&I IAHED
Pl | 25 | 953 | 47.6|27.8|57.2 |g7e41 . | Connected =
#5132 | 1029 54 | 318 66.7 |g7691 . | With Port g
40 | 1257 | 635366 | 794 | gy nn

50 1257 | 79.4 | 444 | 96.8

4  HARELBEA Japanese Connection
4.1 NHIIRL60° HE £ A A (/M) JIS Metric Thread 60° Cone Seal

BEARNIE BEZL WAE S RN 2541 e FH o ek R 5 25491 E3pEd
HOSEDN | THREAD | HOSE FITTING MATING ADAPTER FIGURE
6 MIAXTS | smgrpcirpesk | ACH MBSO Rk
8 M16X1.5 Male: 186112, Female: 2K9. BK%:.
10 M18X1.5
12 M22X1.5
L [60° go°
16 M24X15 | pyimaciers: sk ML FE SN B S »
zg 322)2155 Female: 28611. | Male: 1K. 1KH9-OG.
: 28641. 286914, | AK. AKKH-OG%.
32 M36X1.5 86 Sl OG%
40 M42X1.5

H-7
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



Mifn&E£l Information

4.2 TAFIRL60° M MR (JIS B8363) JIS GAS Thread 60° Cone Seal

WA AN A2 WL AL | B RSL R 15561 IR
HOSEDN | THREAD HOSE FITTING MATING ADAPTER FIGURE
6 G1/4"X19 W RS Sk Jic I AN S0 2 Sk
10 G3/8"X19 | Female: 29611, | Male: 1S. 1SG9-OG.
12 G1/2°X14 | 29641, 29691%%. | 1ST. ASSG-OG%.
20 G3/4"X19
25 G17X11
32 G1.1/4"X11
40 G1.1/27X11

4.3 HI55° st iRar 7Y BSPT Thread Seal

. ) \ o L ik 08 2 R
REAFRNE Ay WAL R 251 i S
HOSE DN THREAD HOSE FITTING B FIGURE
MATING ADAPTER
4 R1/8”X28 o ety
HME L Bk Fic ) P i 4 S
° R147X19 Male: 13011-SP
10 R3/8"X19 ale: -OF Female: 7T.
12 R1/2'%14 13012-SP% 7T9-PK. GT-PKZ%%
20 R3/4"X14 4‘ 1 -
25 R1"X11 |
32 R1.1/4"X11
40 R1.1/2"X11
50 R27X11
5 LR S British Connection
5.1 SLEIRL60° HET & B al 4] A e H U L 5 60° Cone Seal Or Bonded Seal
B R . e ) o N .
Wi 2L MOk R 95441 i H 9 4 Sk R 402541 IR
HOSE DN | THREAD HOSE FITTING MATING ADAPTER FIGURE
4 G1/8"X28 | 4yt i3k TCHI T80 i 355 (1 YR
6 G1/47X19 | Male: 12611. 12612 | id}i#%k For Female 60° Cone
10 G3/8"X19 | (DUEIT60°4kH# |Seal: 2B. 2TB9-SP. 3B9.
12 G1/2"X14 ) . 12611A% BB. CB%:.
- 20 £ s e (1 A e
20 G3/47X14 i3k For Bonded Seal:
25 G1"X11 5TB. 7B. GB-PKZ%:,
32 G1.1/47X11 | PIBSURE )k .
40 G1.1/2 "X11 Female: 22611. Hc A -T-60°HETHI 1) F MRS
50 G2rxi1 | 22641, 22691, $%3k For Male 60° Cone Seal:
22612% 1B. 1BG. AB. ABBG-OGZ%. |H 453 Bonded Seal

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




Mifn&E£l Information

1247 1567210 3k Recommended Thread Torque

AH O B FEEHAE. 74° A FIHE

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com

I HHIBREL Metric Thread JEIRLL BSP Thread
41 THREAD eI NM 47 THREAD eI NM
M12x1.5 10-20 G1/8'x28 11-12
M14x1.5 20-35 G1/4'x19 2528
M16x1.5 25-40 G3/8'x19 41-48
M18x1.5 30-45 G1/2'x14 72-82
M20x1.5 35-50 G5/8'X14 96-110
M22x1.5 40-70 Ga/4"X14 124-137
M24x1.5 40-70 G1"x11 151-165
M26x1.5 60-100 G1.1/4°x11 192-206
M30x2.0 80-120 G1.1/2'x11 261-275
M36x2.0 100-150 G2'x11 343-357
M42x2.0 150-220
M45x2.0 180-250
M52X2.0 200-300
Kl JIC URZLJIC Thread £l ORFS 24 ORFS Thread
L TRREAD NUT TOROUE 1241 THREAD e

7/16"%20 15-16 9/16'x18 14-16
1/2'%20 19-21 1116'%16 2427
9/16'x18 2428 13/16'x16 43-47
3/4'x16 49-53 1'x14 60-68
7/8'x14 77-85 1.3/16'x12 90-95

11/16'12 107-119 17/16'x12 125-135

1.3/16'x12 127-140 1.11/16'x12 170-190

15/16'x12 147-154 2'x12 200-225
1.5/8'x12 172-181

1.7/8'x12 215-226

2.1/2'x12 332-350




Mifn&E£l Information

DIN 24° % 241 O B8 %51 H] O JE el

O #E ORing

For DIN 24° Cone O-ring L.T.

O

2114 Seal

O e #22 THREAD d 5 || R
004.5x1.5 M12X1.5 4.5 1.5 6
006.5x1.5 M14X1.5 6.5 1.5 8
008.0x1.5 M16X1.5 8.0 1.5 10
010.0x1.5 M18X1.5 10.0 1.5 12
012.0x2.0 M22X1.5 120 | 2.0 15
015.0x2.0 M26X1.5 15.0 2.0 18
015.0x2.0 M27X1.5 15.0 2.0 18
020.0x2.0 M30X2 20.0 2.0 22
026.0x2.0 M36X2 26.0 2.0 28
032.0x2.5 M45X2 32.0 2.5 B85
038.0x2.5 M52X2 38.0 2.5 42

DIN 24° HEH & 41 O JE el % B ] O JE

For DIN 24° Cone O-ring H.T.

ATAYIN=N s 1A
PARTNO | #erTREAD | ¢ | b | UERE
004.5x1.5 M14X1.5 45 1.5 6
006.5x1.5 M16X1.5 6.5 1.5 8
008.0x1.5 M18X1.5 8.0 1.5 10
010.0x1.5 M20X1.5 100 | 1.5 12
011.0x2.0 M22X1.5 11.0 | 2.0 14
013.0x2.0 M24X1.5 13.0 | 2.0 16
016.3x2.4 M30X2 16.3 | 2.4 20
020.3x2.4 M36X2 203 | 2.4 25
025.3x2.4 M42X2 253 | 24 30
033.3x2.4 M52X2 B88 2.4 38

J 1 ORFS AMRLC-1f O JE 1% 3 H] O JE Il
For ORFS Male O-ring

gﬁi{%’ﬁg 2 THREAD d b
0011 9/16'x18UNF | 7.65 | 1.78
0012 T116'X16UN | 925 | 1.78
0014 13/16'x16UN | 12.42 | 1.78
0016 T'x14UNST 156 | 1.78
0018 13/16'x12UN | 18.77 | 1.78
0021 1716'x12UN | 2352 | 1.78
0025 111/16'x12UN | 29.87 | 1.78
0029 2"X12UN 3782 | 1.78

www.zjhydraulics.com

d

D

‘A4 Bonded Seal

SAE 7%:2:H O JEP8 For SAE Flange O-ring

ORI

T

PART NO. FLANGE SIZE d b
0210 1/2" 18.64 | 3.53
0214 3/4" 2499 | 3.53
0219 1" 32.92 | 3.58
0222 1.1/4" 37.69 | 3.58
0225 1.1/2" 4722 | 3.53
0228 2" 56.74 | 3.58
0232 2.1/4" 69.44 | 3.58

JIS V22 F] O JE B For JIS Flange O Ring

OIS rtithe) d b

PART NO. FLANGE SIZE
0212 5/8” 21.82 | 3.58

PSR O TE % %L1 O TE el
For BSP Male O-ring
Ommts | mutrreap | d | b
0011 G1/8"X28 7.65 1.78
o111 G1/47X19 10.77 | 2.62
0113 G3/8"X19 13.94 | 2.62
0115 G1/2"X14 1712 | 2.62
0910 G5/8"X14 19.18 | 2.46
0119 G3/47X14 23.47 | 2.62
0217 G1"X11 29.74 | 3.58
0222 G1.1/47X11 37.69 | 3.58
0224 G1.1/2"X11 44.04 | 3.58
054.0X3.0 G2"X11 54 3
i SAE HMRZL O JE Jl % Bk Al O B
For SAE Male O-ring
gﬂﬁﬁf_ 22 THREAD | d b
0904 7/16"x20UNF 892 | 1.83
0905 1/2"x20UNF 10.52 | 1.83
0906 9/16"x18UNF | 11.89 | 1.98
0908 3/4"x16UNF 16.36 | 2.21
0910 7/8"x14UNF 19.18 | 2.46
0912 1.1/16"x12UN | 23.47 | 2.95
0914 1.3/16"x12UN | 26.62 | 2.95
0916 1.5/16"x12UN | 29.74 | 2.95
0920 1.5/8"x12UN 37.46 | 3.00
0924 1.7/8"x12UN 43.69 | 3.00
0932 2.1/2"x12UN 59.36 | 3.00

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD




Mifn&E£l Information

L A IREL 60° SHETHT O TE

For BSP Female 60°Cone O-ring 7 3 1% 4 HI 21 45 %4 Bonded Seal
ATyIRE \ I iR \
Oty | sz THREAD d b e 27 THREAD d D
0171 G3/4°X14 171 | 16 ZHD-10 M10 « G1/8" 10.4 16
0221 G17X11 221 | 1.6 ZHD-14 M14 . G1/4" 14.4 20
0291 G1.1/4"X11 29.1 1.6 ZHD-16 M16 16.4 22
0351 G1.1/2"X11 351 | 16 ZHD-18 M18 . G3/8" 18.4 25
KL ] O JE 8 For Waterwash O-ring ZHD-22 M22 . G1/2" 225 | 30
ST - ZHD-24 M24 24.5 32
PART NO. 227 THREAD d b ZHD-27 M27 . G3/4" 27.5 35
010.0X2.0 M22x1.5 100 | 2.0 ZHD-30 M30 30.5 38
. ZHD-33 M33 . G1" 335 42
SAE #1143 1] O JE: 8 For SAE Staplelok O-ring ZHD-36 V36 366 76
OJERIf S PSR P b ZHD-42 M42 . G1.1/4" 426 53
PART NO. FITTING SIZE TS T T h =
006.0X2.0 -04 6.0 | 2.0
010 0X2.0 06 100 20 ZHD-48 M48 . G1.1/2" 487 60
013.0X2.5 -08 13.0 | 2.5 ZHD-52 M52 52.7 66
019.0X2.5 12 190 | 25 ZHD-60 M60 . G2 60.7 75
025.0X2.5 -16 250 | 2.5
033.0X2.5 -20 330 | 25
040.0X3.0 24 40.0 | 3.0
050.0X3.0 -32 50.0 | 3.0
IS AR ZCRT I ) A O TR R - ;
For Metric Male Adjustable Stud End O-ring N
8}\%1&5 22 THREAD d b £
006.1X1.6 M8X1 6.1 16
008.1X1.6 M10X1 8.1 16
009.3X2.4 M12X1.5 93 | 2.4 Jket CAPTIVE
011.3X2.4 M14X1.5 113 | 2.4 TR
013.3%2.4 M16X1.5 133 | 24 PARTNO, | *Z(THREAD | d | D H
015.3X2.4 M18X1.5 153 >4 WD-B02 G1/8"X28 8.4 11.9 1.0
017.3X2.4 M20X1.5 173 24 WD-B04 G1/4"X19 11.6 16.5 1.5
019.3X2.4 M22X1.5 19.3 24 WD-B06 G3/8"X19 14.7 18.9 1.5
021.3X3.0 M24X1.5 21.3 3.0 WD-B08 G1/2"X14 18.5 23.9 1.5
023.5X3.0 M26X1.5 235 3.0 WD-B12 G3/4"X14 23.9 29.2 1.5
023.5X3.0 M27X2 235 3.0 WD-B16 G1"X11 29.7 35.7 2.0
026.5X3.0 M30X2 26.5 3.0 WD-B20 G1.1/4"X11 38.8 45.8 2.0
029.5X3.0 M33X2 295 3.0 WD-B24 G1.1/2"X11 447 50.7 2.0
038.5X3.0 M42X2 38.5 3.0 WD-B02 M10X1 8.4 11.9 1.0
044.5X3.0 M48X2 445 | 3.0 WD-M12 M12X1.5 9.8 | 14.4 15
056.2X3.0 M60X2 56.2 | 3.0 WD-M14 M14X1.5 11.8 | 165 15
‘ WD-M16 M16X1.5 13.8 | 18.9 15
T] | WD-M18 M18X1.5 15.7 | 20.9 15
WD-M20 M20X1.5 178 | 22.9 15
b WD-M22 M22X1.5 196 | 243 15
™ LT WD-B12 M26X1.5 239 | 29.2 15
[j;ifiimi}# < = - WD-B12 M27X2 239 | 292 15
TN WD-B16 M33X2 29.7 | 35.7 1.5
DP-B04G 6 1 2 WD-B20 M42X2 388 | 458 | 20
DP-B08G 6 18 2 WD-B24 M48X2 247 | 507 2.0

s SN
B d D | A
DP-B04DK 6 11.3 4.5
DP-B08DK 12 18.5 5

H-11
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



Mifn&E£l Information

B {3 %% 3 3R Conversion Factor

% B v L2/ R V2 R A
DENOMINATION UNIT CONVERSION UNIT FACTOR
Ji<Fin =K mm 25.4
K 2K mm JeJin 0.03937
LENGTH B At K m 0.3048
K m B ft 3.28084
T Py EsE in® Py K em? 6.4516
AREA -7 Bk em® S in? 0.1550
B4 gal Tt 1 4.54609
- Sil #4 gal 0.219969
VOLUME Kt gal It 3.78541
Sl Ent gal 0.264172
T K 1
T 5% b T kg 0.453592
MASS T3 kg % 1b 2.204622
JIFk 155 7). ] Iof.in K N.m 0.112985
TORQU K Nom 3. 9ot Ibfin 8.85075
1% 77 / 9~ 2 psi [ bar 0.06895
£ bar 153 1 9&~) 2 psi 14.5038
53 1 951 # psi Jkirr MPa 0.006895
i) Jki MPa 155 43 1 5] 2 psi 145.038
PRESSURE JRil MPa £ bar 10
™ bar JKir MPa 0.1
A Pa t bar 10°
t bar 1 Pa 10°
e ENEVAIE K/ #m/s 0.3048
VELOCITY K /B m/s R /s 3.28084
GO/ 4 gal/min. Tt /43 1/min. 4.54609
ik Tt/ 43 /min. Jehn€ /4> gal/min, 0.219969
FLOW RATE 214 /4 gal/min. Tt/ 45 Vmin. 3.78541
Tt 143 min. S /43 gal/min. 0.264172
S B °F R °C 5/9* (4B & °F-32)
TEMPERATURE BT °C BIGE °F BRI °C*9/5+32

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com




Mifn&E£l Information

#-=2Z5| Part NO. Index

= e g e = N W T
PART NO. PAGE PART NO. PAGE PART NO. PAGE PART NO. PAGE
00018 PB4 20491C PC10 51091 PC26
00110-A PB1 20511 PC11 70011 PC55
00210 PB1 20511C PC11 700M PC56
00400 PB2 20513-T-20513-W PD1 71011 PC56
00401 PB3 20518D PE2 710M PC57
00402 PB3 20541 PC12 72011 PC57
00403 PB4 20541C PC13 720B PC58
00421 PB6 20543-T-20543-W PD2 87311 PC47
00500 PB5 20591 PC13 87318D PE4
00518 PE6 20591C PC14 87341 PC47
00621 PB6 20593-T-20593-W PD2 87391 PC48
00TFO PB5 20611 PC15 87391-H PC48
03310 PB2 20691 PC15 87398D PE5
10311 PC1 20711 PC17 87611 PC49
10411 PC5 20741 PC18 87613 PD8
10511 PC10 20791 PC18 87641 PC50
10513 PD1 21611 PC46 87643 PD9
10611 PC14 21613W PD5 87691 PC50
10711 PC16 22111 PC35 87693 PD9
10811L PC19 22141 PC35 87698D PE5
12211 PC29 22191 PC36 87913 PD10
12610A PF1 22610 PF3 87943 PD10
12611 PC29 22611 PC31 87993 PD11
12611A PC30 22611D PC32 88111 PC54
12613 PD3 22611D-SM PC32 88141 PC54
13011-SP PC36 22613-W PD4 88191 PC54
13013 PD3 22618D PE3 90011 PC59
14211 PC37 22641 PC33 90012 PC59
15610 PF1 22691 PC34 90013 PD11
15611 PC39 22691K PC34 FLFS PC49
15611SW-S PG1 22693-W PD4 NL.NS PC27
15613 PD5 24211 PC38 RL.RS PC28
15618 PE1 24213W PD6
16011 PC39 24218D PE3
16711 PC40 24291 PC37
16711-L PC41 26710 PF3
16710 PF2 26711 PC42
16718 PE1 26713-W PD6
17810 PF2 26713D-W PD7
17811 PC45 26718D PE4
18611 PC51 26741 PC43
19611 PC52 26791 PC44
20011-ST PC55 26791K PC45
20111 PC20 26793-W PD7
20141 PC21 27810 PF4
20191 PC22 27811 PC46
20211 PC2 28611 PC51
20241 PC3 28691 PC52
20291 PC4 29611 PC53
20411 PC6 29613W PD8
20411C PC7 20691 PC53
20418D PE2 50011 PC23
20441 PC8 50091 PC24
20491 PC9 51011 PC25

H-13
YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



	软管接头_web.pdf
	软管接头_web_...pdf



